02.

HYHUT (Communication)

HIWOT : HUWOr @ S, EW
3t srfirereror
(Communication:
Communication Meaning,
types and Characteristics of
Communication)

1. Identify the correct sequence of the following
types of visual communication.

7 Wi & WE e
w TgeT Wity

A. Objects/a@%]

B. Maps/®mafa=

C. Graphs/er@ras

D. I-'Imln;:rnph&:m-ﬂﬂ'

E. Modely/gfmm

Choose the correct answer from the options
given below:

o for mu faeedt & ¥ Wl I @ @O

(a) A,B,D,C,C (by AL, C,B,D
(c) B,D,E,C, A (d) C,A,D,B,C
NTA UGC NET/JRF June 2021(01-12- [lZ Shift-11)
Ans. (b) : 598 TUT & FE T AN 50 AT @:-
(A) 9%
(E) sfoam
(C) wra
(B) Trfea
(D) T
37: fawed () §9 ¢
2. More and more informal exchanges within a
group to resolve conflicts i n an example of
™ WA & % T Uw 9NE &
ey aiftes | stftra arTenftes smE=-wE=
ISTEAW -
(a) Vertical communication /MR T 7
(b) Horizontal communication /&= TS &7
(c) Risk communication fsiftgn dymer @
(d) Personal communication faafene e @
NTA UGC NET/JRF June 2021(28-11-2021 Shift-11)
Ans, (b) : ZFE H GONEA T & [0 U GOE &
fir arfus # fus sFtvatE e Yam difas wom
F I §)1 o FAFE (b) § B

3. Synchronous  communication takes place
through which of the following technologies?
= & Ay
Higur afed gar §?

A. Video chaydifear =i

B. Virtual classrooms/3THTdt shgm

C. Audio conferencing/37TFEaT STIRfET
D. Wikis/fafea

E. Electronic mail,’;ﬁ'&{fﬁ'{'ﬁﬁﬁ'

Choose the corrcet answer from the option
'ucrl below:

f&a:a:‘rfrﬁuﬂ‘rmzﬁ:
(a) A,Band C unlyﬁﬁr-l A, B3R C
(b) B, Cand D only/&a@ B, C 3 D
(¢) C, D and E only/&a C, D 3T E
(d} D, Eand Aunlyf&.‘ﬂﬁ D, I 3T A
UGC NTA NET JRF June 2020 (25 Sept.) Shift-11
Ans. (a) : TUFICIF GYG aAwAiaF G097 § o @ forw
mft w (=afF) o my wffem #0 &) fre sl
F A | guEeE e ufad g e
i, difzar 92
ii. et e
iii. anfear FSRET
4, Match List I with List 11
geft-1 3t g=h-11 &1 goe=

iz

List/g=t-1 List/g=-11
(Type of (Characteristics/fergraar
communication/ ﬂ)
™ W&
A | Vertical/ dter | 1 Iaq?l.dhwck oriented/
CIECED)

[ %]

B | Horizontal/

C | Circular@d@ | 3 | Top down/&R ¥ #d
D | Transactional/ | 4 | Rumour oriented/

; afafa=mr e

Choose the correct answer from the option
given below:

Inter-personal/3f-

e Tareea &1 wad @i
A B C D
(a) 1 2 3 4
(b) 2 K} 4 1
(c} 3 4 | 2
(d) 4 | 2 3
UGC NTA NET JRF June 2020 (29 Sept.) Shift-I
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communication/

to communicate/HE & [T

(c) A-1V, B-111, C-II, D-1

Ans. (¢) : Hﬁ!ﬁﬁfﬂﬁi{iﬁ- B. Teacher talking to | 11 Grnpcvine/ﬂ'ﬂ'ﬂTﬂ'
TE F TR students outside the
(A) | d INNEEER "'““"‘““‘_&
(B) | siest (1V) | #Hivfa=re svam ﬁ"ia""ﬁf § R :"s[
(C) | go= (n ST A st
(D) | fhafatawes | (1) | 35 d4ie - -
5 Mntch%&t 1 with g‘“ - 'ﬂ'ﬁfﬂﬁ 'ufﬂﬁ‘l!{ 3 It:]:;p-ltrlf{)iswﬂfeuth: = zrl;t:l;unicutlt{]:;mm
E‘iﬁ_l ]-.F‘n-_" kil ¥ = : circular  to  his atay Fafma g
ist/get- ist/g=T- subordinates /TR
Type of Description/faravar e wr wWdan
communication/
& TER g a;tgtm"r 3111:@?
A. Dyadic . Messages flow through a ’ '
communication/ | network of interdependent ||| P Rumour mongering | 1V. Group
quEg G4 relationships/3idt- St dad & among cmployees of communication/
Joa% oo o3y AR A # an  organization/ e
B. Public 1I. Uses a medium to reach a frdlt W &
communication/ | large anonymous audience/a&! Tl % e
@i® §aR e e H aTRaTg e
 foru, s a1 yam a7 g (@) A1, B-1V, C-1, D-111
C. Organizational [11. Pravides equal opportunity (b) A-1I1, B-1V, C-I, D-11

HIBAE HAN T T IYEH T 2 (d) A-I, B-II, C-III, D-1V
). Mass IV. Occurs within a formal UGC NTA NET JRF June 2020 (1 Oct.) Shift-11
communication/ | and  structured seting/ 1| [Ans. (b) :
SRR S HER JIRITL ‘ﬂﬁm "o W@HF |||A i 111, 3¥ dafera T
- S Sl 2| i B. femr T @ TR
glI;::::u:n the correct answer from the options given faenfdat & daE W w1V, wE i
frefafea faaeat @ @ wff 397 g C. UF FTA .3l
() A-l1, B-I1, C-IV, D-| A I F T )
(b) A-111, B-1V, C-1, D-I1 it i R g 1. T T
(¢) A-1V, B-1, C-), D-III D. et @man & s
(d) A-L, B-11, C-111, D-IV 5 SRR A G ent
UGC NTA NET JRF June 2020 (30 Sept.) Shift-1 & d9 o i .
Ans. (b) : . Mateh List I with List 11
geit-1 -1l geft-1 =t gEit-11 & wre gt wmifw;
R & W Teraor List/g=t-1 List/g=it-11
A, THE FAOR 1], oMoy & fog g9 2798t Example/3gTgtor Typeof
U] T il communication/A=ITT
B. @& gaR V. Sfemter; 7o #iam &AW & T
& AL I ?I‘ A, Addressing the | 1. Horizontal
C. A Han [ M- dEw & Agdw nation aver communication/
ET WEw warfed @ €| national TV aiferst T
D. =0F oW §ar | Il @41 WEw § swm s “_Lﬁ“"t”'”’“"'iq. &
ﬁq@ﬁmmww T W
ST A ¢ TN F
6. Match List I with List I B it By o |2 Ibmpemonal
- : gifea Fif communication
FEft-11 = gl & ! selecled  number af: -
List/ g1 List/gei-1 of teachers/ FfAw=a1 o
A. Prayer in silence/®15 | I Vertical dwn ¥ e &t
T communication/ FwET | e
mm HEAT
NTA UGC First Paper Planner Volume-2 138 YCT
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C. Internal 3. Mass
conversation  with communication
fellow workers [a O9R
el FdEt & T
s A

D. Recollection of | 4, Group
past  cvents/ communication
F gzt TR T
[y |

Choose (he correct answer from the options
given below:

13 g e 3 3 e

(a) I 4
(h) 2 1
(c) 3 2
(d) 4 3
UGC NTA NET JRE June 2020 (30 Sept.) Shift-11
Ans. (c):
¢ Ufa @ f Fead wEw
& T FH
B. gfa=1 de | fowri &
AT A Fe
C. arft FifET & o it i, df e
AT

D. ol 3 azansii = T ii, 37 dgfir wiwo
8. Identify the scquence of stages of messape

processing
& O & TR T UETH STWT
(A) Action/fFar
(B) Internalisation/3 Mo
(C) Selection/@g+
(D) Understanding/ @ g1
(E) Perception/3aais
Choose the correct answer from the options
given below:
e fau wu frmedt @ Wt I gia-
(a) (A), (B), (D), (E), (C)
{(b) (B), (C), (A), (D), (E)
(¢) (D), (E), (B}, (A), (C)
(d) (E), (D), (C), (B}, (A)
UGC NTA NET JRF June 2020 (11 Nov.) Shift-11
Ans, (d) : TE9 "ERIT & SO & FH :-

— L) b
ld—.hl.n.l["\

iil. 99 YR

iv, AR Himo

- 3T
- T

9. Which of the following factors are impertant in
communication?

W § ¥ W W HEn & fau
wEeagul §7
1. Slang/3adrmar
2. Cynical attitude/sdt Nﬁﬂﬁ'f
3. Framing/dt==r

4. Priming/wraftrs do=
5. Immedincy/aTeRTicTendl

Choose the correct answer from the options
given below:

el fow g freeal © @ wE IWE g

(a) I.2and30nlyﬁﬁﬂ [, 233

(b) 2, 3 and 4 Only/&ad 2, 3 3 4

(c) 1,4and 5 Only/&ad |, 4 35

(d) 3,4 and 5 Only/&Faa 3, 4 3R 5

UGe N I'A NET JRF June 2020 (1 (Oct.) Shift-1

Ans, () : TG, S @9 S AT HUR &

FRE ¥ FE (SN 0 A T &
zifer & forad g & wfas fmn s @) wafies @
memmmmmmmm
& W § TR oA & gl weia e g1

10.  Announcement of arrival and departure of

trains at railway stations is :
w % amm i yea

W IETT - )

(a) Spatial communication/TAH g

(b} Organizational communication

(c) Public communication/Sdaf oy

(d) Sectional communication/3TATiE iy
UGC NTA NET JRF June 2020 (17 Oct.) Shift-11

Ans, (c) : T T T TEAMEA & 3O 3T S
3l IEET A THT & | AT IO Fw,
feraml, smumail @ ameE w6 g i sfaf @)
11.  Match List I with List I
geft- 1 gEft-u o gufea S
List/G=H 1 List/Ge 11
(Type of (Characteristics/
communication/
@1 YahN)

A, | Intra- I Between_persons/
personal/3iT: e
dafma

B. | Inter- II. | within a small
personal/ organisation/sTg
3 e & i

C. | Group/ 998 | HL | Large number of

unknown
audience/  3TFTA
giremaft @t wd
weE

D. [ Mass/a- 1V, | within
TR oneself@d &

Choose the correct answer from the options

iven hclo“.
\Em:r # | wE I @ AT wi-
(a) A-l, B-IL, C-NL D1V
(b) A-lI, B-IIL, C-1V, D-1
{c} A-llI, B-1V, C-l, D-1l
(d) A-1V, B-l, C-II, D-11I
UGC NTA NET JRF June 2020 (25 Sept.) Shift-1
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Ans. (d) :
et -1
(#&waﬂum (Farvraad)
T FqE V. [=a @
H. A dgftha G EES
C. |wE 1. | &9 §739 & =g
D. | SH-859EE NEGEE GG BEE]
HEAT
12.  Ildentify the correct scquence of phases in

('nmrnunu::ltmn development :

Wﬁw@tma&uﬁnaﬁ
(A) Acta Diurna/¥met Jemf
(B) Cavce paintings/ % fim
(C) Wooden blocks for printing/qa0T #F fou =
Eoica ]
(D) Development of languages/STd1 1 fasm
(E) Metal printing/ 9rg =

Choose the correet answer from the options

iven helow : .
A fau T freet § W wE I g
(a) (A), (B), (D), (C),(E)
(b) (B), (D), (C), (A). (E)
(c) (C), (D), (E), (A), (B)
(d) (D), (E), (A), (B), (C)
UGC NTA NET JRF June 2020 (5 Nov.) Shifi-1

(c) 3 4 | 2
(dy 4 l 2 3
UGC NTA NET JRT June 2020 (5 Nov.) Shift-1

Ans.(c): R
(a) U 3R UF & A
(b) uF 3 = & = (4) ¥ "ur, fagmeat

(c) T M F g (1) 72adh (FHTauRmTS)

() UF 3% B & i A (2) siau-dafee

14. maﬂT{dﬁﬁ'ﬂﬁ?ﬂ?{Wﬁﬂﬁﬁﬁ

(a) ZTETTA chui-irhw (b) 5-:;.|q{-1-1v| FR T
(c) T FIFTHTA (d) HT-Z-HH FRARTE

LUGC NETAIRF Dec 2012

Ans: {a}mmmqﬁmnmﬁmm ‘T
q'{f'zlﬁ FHfFEYA  (Transpersonal Communication)’”
Fed 8| T TEAS @ e FowaA (Zi) s @
wd W, SiEd, A9 9 AEvE @ s Ted @i
wiftet a1 3 e saf R @ e

7 TAIETE F YT IWE g aRsee §

Haftm 21

15. Immediacy of clues in communication is

dcsendent upon nne 's own :

# Areferwar Poft a8,
fearet &—

(a) Economic preferences/37féa sraftem o

Ans. [b[:-)‘q;'w fererr 3 =roon W@t @ o 2- (b) Cultural background/ s g8gfd o1
I T N (¢) Physical fitness/ ¥R @ ™
11. TS \EFH AL (d) Social expectations/ TS 27037 W
1. 07 & T, 7 il UGC NTA NET JRF June 2020 (4 Nov.) Shift-11
V. g g5 Ans.(b}:mﬁﬂgﬁﬁmﬁggﬁﬁ-ﬁﬂiﬁi@ﬁﬁ
13.  Match List 1 with List Il et 1 fnft w5 &1 e Fmm off dan # are
geft-1 &1 gl 11 gl it SR @ YA R aET § o HOR & s ik
Listg=i- 1 List/gei-11 HHERIE GAua & Zwi 2
lC"mm“"i“ﬁ%ﬂﬁfT (Type of communica- || y6  Match List I with List 1. List I gives Modes of
metho ) tio @l Communication while List I provides their
L) dcscnptmn
(A) | One-to-one/Us 1. | Network/7 2@ geft-1a0 geft-1 & gafem st
3 U & 4" (transactional/ List/g=ii-1 List/g=-11
BREERGED] (Modes of (Description/ Téremum)
(B) | One-to-many/Us | 2. | Intra-personal/ Communication/
IR FE F A= IR - i fafty
(C) | Many-to-many/&3 | 3. [ Inter-personal/ (A) Publicity/M=R (i)  Reputation
IR FE ¥ 9 A-JoFF management/
aioeaT WE
(D) | One-to-none/@& | 4. | Mass (B) P da/ iy Paid /
B ¥ de Communication ) Propagan (iiy Pai message
e especially print/ goEl A5
T HER, (C) Advertising/ (iii) Non-commgrcial
fersroet g [EERE promotion/X
Choose the correct answer from the options . . N
given below: {D) Public (iv) Cm}'l:munlcauon .
relations/= wit motives
Hrer ﬁ:r ™ fafu’r fr:?:r wE 37-|DT g - by -
(@ 1 2 3 4 Choose the correct answer from the options
(b)y 2 3 4 1 given below:
NTA UGC First Paper Planner Volume-2 140 YCT
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e fam T et W @ W 3w g
(a) (A)-(I), (B)-(ID), (C)-(LL1), (D)-(1V)
(b) (A)-(I1), (B)-(LI, (C)-(1V), (D)-(1)
(c) (A)-(IV), (B)-(1), (C)-(LL1), (D)-(11)

Ans, (3) :

A. TF &l & 919 98l § | 4, AT [0
Fo weI & fag s
wfaa F wF & 2

(d) (A)-(IIT), (B)-(IV), (C)-(11), (D)-(1) B. U @Al 319 aaE | 3, Fear wam
UGC NTA NET JRF June 2020 (4 Nav.) Shift-1 ¥ fou Rt @
Ans, (d) : aftqs il @t &)
A ol i . C. FHAW FD a1 T GG | 2. &fiesT Fogo
(a) FAR (1) T afnfsgs dofa qﬁfm?
(b) TR (1V) Wl D. U@ @1 3 gad am 1. faavre s
(¢) faamm (I e H= &% SR
(d) 5 T (1) e s ﬁwﬁmwwﬁﬂ
17.  Match List-I with List-I1. 18.  Reframing in communication means.
FEA-1 Ty gE-11 | PRl af oI T AT §2
LisUE?ﬂ'-] Lislfﬁ?ﬁ-[l {a) Hmp]::-ymcnl of new metaphors/ T BUE
(Examples of (Type of HFam ) )
Communication/@emT & | Communication/ (b) Rejecting the  conventional — expressions/
ISTET) = & Tah{) Rl ifed H GED (f” .
g () Opting for hyperbole/ 3fTeaifes &1 1
A. A company boss | I. Marketing . . o 5 - s
telephones  his/her | communicatian/ (d) Preferring oppositional binaries/ &0 fawi 1
secretary  for  some faur T altga &
help from outside/ T UGC NTA NET JRF June 2020 (1 Oct.) Shift-11
W & A A d Ans. (1) : 7T FUH & wme § Qe &)

B. A company issues a | 2. Horizontal
communication/

circular of guidelines !
for its employees/UH aifr iy

o et et &
fom  Renfdwii &
R WK & 8

C. Employees  discuss | 3.
certain issues among
themselves Fe
W W oemew e
T £

D. A company scends a | 4,
formal letter to its
retailers and
wholesalers/TH H | sy
31 #HT g%
feprsll @1 sfiveiits
77 e &)

Choose the correct answer from the options

given below:

Vertical
r:nmmunlc::mnnar
FeaiyT gy

Informal
communication/

Frar i ma fraedt § & wh IR
A B C D

(a) 4 3 2 1

(b) 1 2 3 4

(c) 2 3 4 |

@i 4 1 2
UGC NTA NET JRF June 2020 (17 Oct.) Shift-11

mmﬁwmﬁwﬂmmmmmaﬁﬁ
el ey 3 7wy @ e @ A A & 9
I8 7T @ T°E &

19. The emergence of media of communication, in

chronological sequence, is.
& N T FHIEHRT -
A. RadioATEaT
B. Newspaper /HAT=R-TA
C. Film/Tthew
D. Television/2ehtfera=
E. Internet /3T

Choose the correct answer from the options

&u‘vﬁon below, )
fod o faemeat ® ® Wt 39 AW
(a) A,C,D, L, B () B,C,A.D E
(¢) C,D,E A DB (d) D,E,C, B A
UGC NTA NET JRF June 2020 (1 Oct.) Shift-11
Ans. (b) : F5m AifeT 5 32ET @1 Frawa e 2
B. TAER-T1
C. fgen
A. iz
D, Zelifas
E. EE{?TE

20.  Which of the following are true in respect of

communication? itis a

o Preafafes § 8 99-8 7@
¥ 2w -
A. Filtering process/@== Witrar g1
B. Barricrless prurcs:ifmﬂu Tea wferan %’I
C. Life long process/sfra= wd=1 wiewam 1
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D. Universal prnrcssm‘ﬁﬁﬁi wheRar 1 (B) | Asynchronous | (IT) | Interactive
E. Collective process/anifgs gfewar media/ multi-media/
Choose the correct answer from the options SIS
given below: ey Te- g
= fg A faraedt & @ w3 g (© | Rich _media/ | (1) | E-mail3-i
() (A), (B)and (Cl““l}fm (A), (B) 3fT (C) A AT
) Eh w010 410 | [ [T e T e
¢ SFHGI Heay AL
(d) (D), (E) and (A) only/&aT (D), () 311 (A) Choose the correct answer from the options
UGC NTA NET JRF June 2020 (9 Oct.) ‘slul’t 11 given below:
“"‘ﬁ““ s 81 (a) (A1), (B)(11), (C)-{HI1), (D)-(IV)
21, :;lqj:r:ﬁftl:l'{::ql:cqr -personal communication is (b) (A)-(1V), (B)-(111), (C)-(11), {D)-(1)
(¢} (A)-(11), (B)-(1VY, (C)-(1}, (D)-(111)
7
e e & it vt witeres 4 (d) (A)-(I), (B)(), (C)-(IV), (D)D)
[";U fﬂhﬂwr-'"h'"l’f:fﬂﬁ kil UGC NTA NET JRF June 2020 (5 Nov.) Shift-11
(b) Social strategy/ATfae T Ans. (b) : T8 ljﬂﬁlﬁ' Tf:ﬁ-
(c) Culture/HegiH . a) e WA (1V) oy
(d) Business-like approach/eaaafaa gig=mmn .
g b) IS WeEH INERE
UGC NTA NET JRF June 2020 (5 Nov.) Shift-11 S i s
[Ans. (c) : T G A g0 6 O e A g R ||| e ( ]"3”:"”]“‘ ik
22, Ildentify the correet sequence of the following d) 37 - (M " : Em 3
elements  in the  latter  part ul’ the | 24, A pood written communication will have ;
communication process after decodin ek 390 fafas O §......... ﬁTIT/fTIﬂ/ raul
& T ELE (a) An intended purpose/SenfIT TS
€ ElLl-' ! Hﬁ ‘ (b) A complex hcginniﬁgﬁﬁﬂ AT
U:) lnw:mu::uufﬂ'l’ﬁﬂ'{"ﬂr (c) Long senlences/@ g
(B) I‘“”d il (d)} An assumption that others know more than
((g; f“:m;f"'l‘ et what they really know/@8 =1 & {R’( =iu
nterference/<ATHd . 3 a7 O e s S §
Cht:nsc .“w. correct answer from the options UGC NTA NET JRF June 2020 (13 Nov.) Shift-11
iven below: . - -
s’lﬁﬁ&mﬁmﬁ‘ﬁﬁgﬁmqﬁ&: Ans.{a}:ﬁﬁﬁagmm@a{mﬁazﬁwmmél
(@) (A), (B), (C),(D) (b (B),(C), (D), (A) ||3M 78 954 aret 3t fermm a1 & e wsh Ty wenf
(e) (C), (D), (A),(B)  (d) (B),(A),(C), (D) ||&%m 21 7@ T@=s 3 wwgM 7 3 @ aife) fafam
UGC NTA NETJRF June 2020 (S Nov.) Shift-1! | \qmmoy it faodd & MR W @ 21 97 UF W
g;-{dhmmﬂwmmé' feafiaa womu # sefym sdeq g
o 25.  Communication begins usually with
ﬁ fermah | wroew giar &7
i (a) confused ideas/sTa faum
e (b) Semantic noise/31-fawas afy
(¢) Apprehension/3TEier
EIGIESY| -
; (d) Pictures in the mind/m-wftass # fog
gt
e UGC NTA NET JRF June 2020 (12 Nov.) s[m;g
Y e Ans, (d) : T TRY IR GEA F SEH-NEA H w
23. Matfh%ﬁt 1 with [ﬂ“f“ Il: 3 et e W A ¥ w4 mt
Weft-1a" it -11 3 |y gotaa wifag i el A bk SRl e
o= FecET & weft afes e @ o e fean S 21 3m: g
{Type of media/ (Example/3ETEIT) e Eﬁka 1 3 AL i o &
Hitear & wam) T B 2
(A) Syly:h;nnnur; )] Aprlwlicali((‘in! of || 26. Match List with List 11 : List I gives sampling
media Multi-media methods  while List 11 provides their
weel-ifE @ description.
LIk I et 1 & gt 1 & gifes afem
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List/geit-1 List/g=it-1l
(A) | Non Verbal | (i) | Relleets
communication/ confidence  in
one's own sell/
|Hm feeft
=i £
sfadg &
sefefd i 2
(B) | Listening/#@m | {ii} | Occupies mare
space ol
personal
communication/
7 WY
W A W
o 21
(C) | Empathetic (iii) | Helps
conversation/ internalize
message/
Fratemd & HAER A
TETF @
(D) | Stress (iv) | Sceing  things
management from  other's
through point _of view/
communication/ gl & gEam
ww g |w o a@
wioad sEvA T

Choose the correct answer from the options
given below: .

frefefas faaed # &t 3w gho

(a) A-l, B-II, C-IV, D-III

(b) A-11, B-11, C-1V, D-l

(c) A-11, B-1V, C-1, D-II

(d) A-1V, B-1, C-I1, D-III

UGC NTA NET JRF June 2020 (11 Nov.) Shift-1

Ans, (b) :
(A) T TEET (i) dafve gumEu @ U
W ol 2
(B) =& (iii) &9 & srarm § 9EES
T 2

(C) Fegdf amfems  (iv) g0 & gfedr 4 agail
& FE

(D) TomY g1 Yiaee (i) R A e &
Loyt Wefagars & wefdd &

21
interpretation  of

27.  In communication, the

message depends upon

WA W HI st wE faew ut fadt e §7

(2) The context/&ay

(b) Transmission speed/HaReT TMfq

(c) Associated noise/HTE IR

(d) Channel cﬂ';cicncyfﬁ'-!ﬂ &

UGC NTA NET JRF June 2020 (1 Oct.) Shifi-1
Ans. () : TOX T GET &1 =AmE ey Wi G 8
fordt oft Fm = w=f ym 7 & @ e swEn w6 &
M Al 2|

28.  What arc the most prominent clements in the

management of communication in an
educational institution?

Vharfire Hiaw & wEu ¥ e o
waiftre waw we €7

(A) Sidetracking oppositional views/ fandt feremi
@ mefufae (aEE 2w

(B) Structuring work roles/@d-qfamadi @1 w1
Ce

(C) Commanding over colleagues and students
wERAal T o W R s

(D) Keep others informed/g & Al &

(E) Guiding others when ever possible/sa
O BRI AR w

Choose the correct answer from the options

given below:

e fau o famet @ @ Tl I g
(a) Only A, B and C/ Faa A, B 31 C
(b) Only B, C and D/&ad B, C 31 D
(c) Only C, D and Ii/&Fa@ C, D 3R [
(d) Only B, D and [/&aa B, D 3 E
UGC NTA NET JRF June 2020 (30 Sept.) Shift-I
Ans. (d) : TR H VAT UF Ve TEE A GO @)
e & A H 1 U HER % weqsi & w9 F HEn
Wi, fewRA ag1 qE & AT & E T )
ad: Sterftren weensd 0 wOMOT & WEwE H feifafad
waffi W o 8-
- Y fgrsd & T FE
- 5 ff wea & gEd w AieE &
29.  The sequence of clements in linear model of
communication is

T & Yigw gfeas & gewf w1 agEw §
(i) Messape/dagT

(ii) Decoder/ferthas

(i) Encoder/ddheh

(iv) Medium/MATEEH

(v) Noise/7TT

Choose the correct answer from the options
given below: .

=rar fau mu fammedt ® @ wd 3w g

(a) (i), (i), i), (v), (iv)

(b) (ii), (iv), (iii), (i), (v)

(c) (iii}, (i), (iv), (v), (i)

(d) (iv), (v), (i), 1), (i)

UGC NTA NET JRF June 2020 (29 Sept.) Shift-1I
Ans. (c) : TV F F@F WA 7 TS B ATHA € -
Hehad — H2W — W — VR — fodsas
0.

Communication stimuli vsed to convey the
message arc known as

& & foau ygw g g
WEOUT IE9e @ FRE AT W AT A §?
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(a) Process/Afeal (b) Power/Sifich C. Language/WTeT H&HT | 3. Pre-disposed
(¢) Channel/danfea (d) Codes/F2 notions/Jd Ig=
UGC NTA NET JRF June 2020 (29 Sept.) Shift-11 EITTUTTE
Ans. (d) : Hai & T T FA & fen wge fa g D. Cultural/AT&HIqH 4. Inaudible voice/
OO JETE T F AW T T IR R —
31.  Match List I with List Il S
Choose the correct answer from the options
Feft—1 it ef—11 3 W gakTa Hi given below- '
List/geit—1 List/get—1II W fawmew @1 wad &t
(Type of listeners/ (Characteristics/ A B C D
HATATN o1 WahN) @4 3 U
A. | Poor listeners | 1. Scare olhl.rsf?ﬁﬂ (b) 3 2 4 |
ST A F 20 € () 2 1 3 4
B. | Aggressive 1. | Easily agree with (d) 1 2 3 4
listeners/ the spchcr{ﬂ?h‘f ?T UGC NTA NET JRF June 2020 (24 Sept.) Shift-1
ST A ¥ Wend & ||| Ans. (a) :
o € -1 g1l
C. | Passive I11. | Listen to ideas, but ( ToruT =) ( féramar)
listeners/ no emotions
Fafigrar s behindfai | ||A TS 4. S ¥
gam a § A | | B e 3. 73 W90 U
i @ wa A ||| C. 9 ' REGUELE]
gl D. THT 2. Higae yRoTd
D. | Pscudo- IV. | Fidget repeatedly/ | (33, In communication process, when the sender
intellectual/ T F9E S and the receiver interchange their roles in
respect of sending and receiving the message, it
g is called )
Choosc the correct answer from the options @t witear W, W& warar 3 argrar €T
iven below: Ao ity w & wed F el agftrenreit
F:rnﬁrﬁaﬁfam’fﬁﬁ IW JfA : .
(a) A-l, B-IL, C-11I, n.n;mfr it aren-weeht e &, W ag e §:
(b) A-l1, B-1ll, C-IV, D-I (a) Universal model /A sfie
(c) A-111, B-1V, C-1, D-II (b} Transactional model/f=Taamrms Nasq
(d) A-1V, B-1, C-I, D-I11 (¢} Singular Now model/UFHe-¥arE Sfaed
UGC NTA NET JRF June 2020 (25 Sept.) Shift-11 (d) Pluralistic model/Eerard SFEY
Ao (d) : UGC NTA NET JRF June 2020 (24 Sept.) Shift-I
-1 S Ans. (b) : quAT i AR H, SW Nl 3R 3T 9
(SIS <1 yerT) (rrermd) o 3R W F & wel § e feensi @ s
A | sgwe sm_ | 1V, | S0SR S I mﬁmﬁﬁﬂwwaﬁmmm
B. | s ot | 1. | 36U F S 7 2 o @ gylm @ f5 o qu g @1 wwEE: 9e
C. | sk g .| @ & SEEl 3 Wer @ || (sfey T w1 eEe-Ee BT fad gemw ae
B e |||mwasmd
D. vt Aaen | i % ?r_:r Wq; 34. When communication enhances the interaction
iy e of learners, it is: .
il TE WU, ATl W =iamar &y
32.  Match List-I with List-1l T ETm —-
g‘iﬁ-[ E"\'H_ﬂ-ll & W 1 : (a.} Phiﬁiultfs:zm
List/g=ii-I List/g=i-11 e :
; s 2. (b) Psychological/mraafaa
{(Communication (Description/ ‘s
Barrier, =) (c} Arltsl!cmmf:ﬁ
A. Physical/9Tites 1. Different (d} Transient/&iT
understanding/ UGC NTA NET JRF June 2020 (24 Sept.) Shift-11
ST 9HEA Ans. (b) : T TOMU AEHEAA #oTEEEED &
B. Psychological/ 2. Stereotypes/ g0 8, Wit qoE e it s S
LEICEUE D FHH ERT WaqiE e &
NTA UGC First Paper Planner Volume-2 144 YCT

Scanned with CamScanner



35, Frefafea § @ @9 @1 yuraaes derfres
wiraur §7?
(a) TR-TRTE (b) et
(¢) Fram (d) wiies (H3fHa)

UGC NTA NET 2019 Shift-11 {6.12.2009) Set-10

aft fawen &1 @ wifau—
(a) (a)diii), (b)(iv), (chii), (d)(ii)
(b) (a)(ii), (b)(iii), (c)(iv), (d)i)
(c) (a)(i), (bY(i1), (c)(iih), (d)(iv)
(d) (@)(iv), (b)(i), (e)(ii), (d)(iii)
UGC NTA NET 2019 Shift-1 (5.12.2019) Set-7

Ans. (c) : TG WaraRES e wome ¢ forn @
grafyd gome sfea § friaar o @ W@ ag gl
&9 § FHEITA €

foen & 9w 7= F A wW, forew, sAmEerE,
mewﬁmﬁaﬁkmmﬂlmmiﬁmﬁﬁ
1 difee fawm 3k afa fefn & &) fomn 3 Anes
# e Famg @m e e & wit i § I
A &7 T o 81 S & 0 TdE g TeAaH 99
foranfdail a1 wgar A wemw-sih weey 81 fwn
HEAT 1 3R A W0 T 59 79 2

36. HUGU W FHT Hohad — e (AHehTER i
W IEET-TEe e ST Bt £7
(a) SETES e (b) Y= TR
(c) g fervemo (d) FHa sagm

UGC NTA NET 2019 Shift-1 (6.12.2019) Set-9
Ans. (¢) : TEOW WA A GO fFU S A Syl
faveran & foU e webmd - g2 fawidams i @
IEET-aTA A FE WhAE & ANEW H OVaE 9
TR a1 Sfen a2, safs gE-faddas & may
q §omu WeEd wew F ffew e w gmem €,
AT 39 W I T F@= F 8
37. faafafEa 7 7 Aiftes v &1 aftg & &
T ygw ATl yEg @i UgeT st
(a) FM e (b) T TEH W
(c) R wg=aa  (d) 79 6@y
UGC NTA NET 2019 Shifi-11 (5.12.2019) Set-8
Ans. () : amﬁ:amﬂ'@wmmmzmzﬁﬁ—mm
fﬁ!!ﬁ?ﬁﬁmwalwwm AR e
& 9T ¢ HufEd HER @ AR W Ar & A"
VRl Taw WS 3R W & F aem § HER &)
v F w9 0 T S 8 WA gawE 3R e &
wrer # yrR & a @ g g, 9et & Afvefs ek
awt@t & wd & aegw @ wfve e o @A aren
AT ¢ e womw # difas odE & e |
qfem o s wwm @- ok, awd @ Fersh, o
e & Ew &, @\, o ek ged d 9 s
foeas & w9 5 99 9 e 9 o 81 W &
A, T 3R g S A A o @9 8

38, FrafefEa vew & dow @t 39 fagw
IIE T ST G wTg—
HUGUT & TEHT fafyre FgmEIw
(a) aftoafts d@=m (y o it
(b) oFgEie WER (i) 9w
(c) arq H9R (iii) F9q
(d) oTRE dar (iv) TEeEen

Ans. (a) : GO0 & HHR & 396 (G IS &
T w g Fenan i
UG & YA fafyre Semor
(a) affrafes Tam (iii) 3=
(b) sHTTEE FER (iv) THEsEe
(c) A FER (i) o wsitgat
(dy avmftw w@ER (i) ofem
¥ fFe (a) 3fte Fa @)

Frteiga @ & @Uu0r o Wehdl ¥ Gisddh &

A H G

(a) 77 famgawg @t wage § @vad 2

(b) T7 e F1 FHE F1 frem w8

(c) T@ THYT & WL FAM &

(d) T2 e F Fa 3 oEE T g

UGC NTA NET 2019 Shift-11 (4.12.2019) Set-6

Ans. () : HOR Sika § deda 39 Sofwa & @ed g,

fort wos fiers 7o WARE AR w21 TP

9R Wi iy & & W9 e 9%, st iy qar

wg-ag | fEw o & ana 81 8- WS &

I A oW § U 9 @ 5 9o g5 § faweed

a g, mmg@mmnwm?ﬁﬁm

mﬂawm T @ TG 5N WER FE-
- Hfrer 9 ?I'FI ael wiAafear @ 3R A

& HER g1 Wizds 9 e e @ I FEd 21
I amen @ wWe ¢ fF uan @ s § dieds @
maamuﬁéﬁsua@waﬁwmil

39,

el & R T T & FER & e -

|, THEeTTE HEds

2, TS Wiedd

40. e stfivemaT (A) 3f 7 (R) & w0 H 2 wmaT

faw g §-

atfirweT (A) : shra=nftes frgwr # srfto=nfies

\THT @ WA wuuur @ Wftda ot anedw

AT &

e (R): Pritres water et ohtayr § erfoeniis

WTAT & WA W A= F W HE )

IUAITh HUHT & e o WE s gie—

(a) a1 (A) 3 (R) & & 791 (R), (A) 9 &
AT ¢

(b) 2 (A) 3T (R) 5 €, & (R), (A) T WY
e T8 8

(c) (A) & &, fam (R) 3767 &1

(d) (A) 375 2, FF (R) o &)

UGC NTA NET 2019 Shift-1 (4.12.2019) Set-5

Ans. (0) : & @ 3R (A) 1§ TS femwon
.wafrmmmmmrﬂ‘raﬁafnmzmm
&, w72, st @ (R) T s st g ofigw &

SFiEf T &, WA @ a9 4 At a |, 96 )
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41, Torgr & germw 3iv Wy drenfatt @ Sty €
(n) BT/BENHT @ HEHHA
(b) femaur &1 wfaat aqm
() 3o oftomdt it gean s\
(d) oo ¥ ST TREfA @ agEr &
UGC NTA NET 2019 Shift- (3.12.2019) Set-3
Ans. (¢) : (o1 7 TEAT 3 wnmw AETE @ oadwEn
Feyg i uftomei @ seAw & e @) foen o
O 3 TEE0 S w5 IeEm fwn @ e
fe fanr sman 81 YE 3R §OR aeAE @ e 3§
O GO qaAE @ R, s araw @ awmn a5
sreafe St 2§ wra far s @
A s W oEm S T @ CfRR T W e @
S Ud 30 e ol w9 F am wdamn o s A ag
R, T ud "R s e a1
42, wynfEgdl & @ W A mulEEd @ T
aarar & o e wat e e se §-
(a) T TOR (b) T8 HER
(¢) 3FTdafaas gan (d) HedafEs dEn
UGC NET 2019 Dt. 24.06.2019 (9.30AM-12.30PM)
Ans. (b) : TFfFEA 1 3@ N gEd BT
aﬁﬁéfimmﬁwﬂ?wmﬁwmm
T B| W HAR & i FRw H AEA-HE
W& UF & FW EW aw T it @ ogEad off @ e
T 2
43, Tl 90 T WU | WEiad el Wiehar @
T @i
(n) FE-SIGW-MrHTEA-ZTaeR gfEd
(b) STETE-Ta1-SAaen. qfad-siay
(c)mwmﬂwqﬁaﬁq
(d) IR SRad-TaT-Se -wia
UGC NET 2019 Dt 24.06.2019 (9.30AM=12.30PM

Ans, (¢) : T 3 SAA-AWA & TOR & TATAF
AT Tl S @ W A, e o e &
IR W UF e el wg @ fm 8wt mew
TN B, FITF TR FaA

45, faieiEa # ¥ @i aaatthe wuuu &

U o §?
(a) wrEIfars 9T (b) 3= T
(c) ELul (d) srefas e

UGC NTA NETAIRF Shift- 11, Set-06 June 2019
Ans ; (d) ; TTIES TOMY, 3R aaf3dd Ge &
US @ GO0 & | W S s Je & agd
& afdai & e e, wEAi ik A & aeE-Ee
# A 21 gw weme s # s #oafa qea
&1 T sfagfe @1 weel T AR €, i @
Fomy fHa oM wed & RSN, aeg, TR
e grafs ¥ A JafdEE qemu & e 8
46, Treferias o @ @ T @t fagtaan ¢/

. womw § fa=ndi, @@ st w6l @ amem-NeEe

it 21
2. O i gEA AR T A e £
3. OIS U HAad A E
4. UMY UF qE WD 2
(a) 1,24 (b) 2,334
(¢) 1,2,33M4 (d) 1,2 33

UGC NETAIRF Jun 2015
Ans: (c) @ @t fagngamd  (Characteristics of
communication) AR & WHARNT @&Y § Y 7 -
(1) eTETEE I Ual AEEH
(2) faeR & 929, sRU Wy & H §
(3) WA &, fame sva o &9 & w9
(4) TN W FA TN
(5) mmﬂwﬁﬁmmmmm
#| f TR & smgf we @ favem faa
S HER & e fefan d s § an 8-

Ans. (c) : FIIER: U T ShEE S A A A W (F) IR UF ¥aq WEA (Communication is a
f * e _i %, T, G o STlleRIe continuous process)
s fae vl il a1 s fe A 2 ||| @y wer wd s @t @ MET (A means to
il IU WO FEd o W0 & Wl H §H W’ convey meaning)
8- (m d9r ua fgEfl shEm (Communication is a two-
yeyq Wiy process)
U () HER TH F@d  (Communication is
! n}unagcrinl lgsk)
i (%) Hor " & fafim 9= (Different channels of
5 communication)
’ EU“E” 47. ﬁgﬁhﬁﬂﬁ‘qu
w2-1
AR I (ﬂﬁﬂwiﬁm (WERT-¥TTT AT feram)
44, TG AT STEA-WIAA WA @l a1 gl e (A) TR (i) nfies
¥ (B) 3T (ii) derda e
(n) AT THHT (b) FEER TR (C) ww (iii) F=ia g §
(¢) TS Ui (d) TR TR (D) " (iv) W& 3
UGC NTA NETARF Shift- 11, Set-04 June 2019 Frer o mﬁmﬁ o W Tﬁl’l‘qﬁt{ :
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(a) (A)- (i), -(B)-(ii), - (C) - (ii), - (D} - iv)
(b) (A) - iii), - (B) - (i), - (C) - (iv), - (D) - {ii)
(€) (A)= (iv), - (B) - (i), - (C) - (ii), - (D) - (iii)

(d) (A) - (ii), - (B) - (iv), - (C) - (iii), - (D) - (i)
UGC NTA NET/JRF Shift- I, Set-03 June 2019
Ans. (c) 92-1 7 20 U §HEU & A a4l "S-l °
ITF WE T T ghen fefefen #-
-1 He-II
(HErauT 3 ) (WeR - SITTT ‘@t ferartom)
(A) HYUF (iv) Tad 3
(B) RS (i) Ofe=s
(C) ®zw (ii) JEAd@sg AT
(D) ®reAd (i) H=d S 7
a7 [a&ed (o) Tal 2l
48. T W WHIAMEGT W THAW FHRO YAQEe W
faeia & Jaar §:
(n) ST &1 39EM (b frEfed wEewr
(¢) T TR (d) Sfeamft - S
UGC NTA NET/JRF Shift- I, Set-03 June 2019
Ans. (¢) : &1 H v VN & fREET & &R

sfagfe § ferm & @@ 2 @i w0 fww &
A o g R 1 ® @eE |3 vgE = &
TR § 300 @ ATl dF e & o aR W En |
T YT U & IR Ik 3R W & 1 faa @ wEa el

52, U WS WGl @ PrefarEd § |
forgr=a &1 TFET0T AT =R ?
(ijaﬁwﬁﬁwaﬁq
(ii) 39 5va wrefl & IwEm § a9 Ay
(||||]3113-Tfﬂ'rT1'€lﬁ_clTﬁ’fiFﬂﬂTfﬁ'E
(iv) 39 TnEm § FieE @i ST ARt
(v) 30 FTE FEa 3 fawn F: adlmmw & oafee
et g o fraedt & Wt 3wt gh -
(@) (i), (ii) 3T (iii)
(b) (i), (i) 3T (v)
() (i), (iv) 31 (v)
(d) (i), (iv) AR (v)
UGC NTA NET/IRF Shift- 11, Set-10 June 2019
Ans. (d) : mma@wmmmaﬁasma
fome wftomrey gFT mewfEl § wew @ & fag
qfigd= EFT 21 UE I HONUEAl freiiiad e
T T FA &
(1) wnfaa g4 = fagra
(2) e = e
(3) T & 3fua IwEm & fagr
(4) TOEU WY T T W 3 W e
(5) faamli &t qHag mar W W F@ g
(6) FErl wEd 3 famn = afig 27 & g

: 53, 9 ot We fau 7o € feed He-l @ Wil ®
49. HOW I 9T & TS § _ ST o WenT{ &l Ie0T@ & wiarie de-IT W 3a

(0) The random world / TRfEH R fvm T i

(b) The social world / '\‘:IQHTF’EE Tor T =1

{c) The divine world / qHqr i ¢ TR

(d) The unsanetified world / 3T TOR e Q‘m ( )

UGC NTA NET/JRF Shift- II, Set-02 June 2019 ,
Ans. (b) : ST F6R & AN & A 7 T 6 8 a. TR A (i) swm IO &
Fife SAfF TSR aF aeee & e e of mﬁa‘ngmq
ST G 8, 98 34 A A 6 S & 0 e , _frasme
50, e Wi ¥ e TS sd e mE B b. WHA A [ (i) Www F F A

(a) Fafirs arraat 31 aafeefee @ Wa*ﬁ"‘ﬁmﬂf ﬂ,{ “‘Wﬂ

(b) m{wmﬂ T T &

mgmaﬁ e c. A A | (i) e a1 wee A

(d) &1 Ao 9 e 2 2

UGC NTA NET/IRF Shift- 1L, Set-02 June 2019 ; ﬁ% :
Ans, (c) : THEU WRAT ¥ Hahal @ 34 Wi AR : MG
qE] & dead ° A 81 aveiq e shE d. |l # (iv) F590 a1 &
ff e A Y H ACE-NEA B 8 IEH Arrah T-FE @ A
fafeard =1 dws 3iic AR & Fied 37 == & mER ¢
W E gAg S T 2 I T & gofew witag it freed ¥ @
51. haN % ST TUNde THE § SERLEL (L

b) FfE (a) (v) (1) (i) ()

(b) ®) Gi) v @ i)

(c) srffea (€ (i) () (i) (iv)

(d) ¥E G v G (i)

UGC NTA NET/JRF Shift- 11, Set-02 June 2019 UGC NTA NET/IRF Shift- 11, Set-10 June 2019
Ans. (c) : BT & IJ=0Id FwiAled  qHE0] Ans. (d) H2-1 | U 70 GEE0T § I ST & NER

Wﬂﬂﬁ?lﬁwmﬁﬁﬂﬂm

W & nd aqar favend @ v gEe

TEE] T AR I @ [Onden RO &

frefefiaa &
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"qe—1 He-11
( Hwor I e ( fargraaTd )
ST R WehTT )
a. T 9l (i) 3AUlEd ST & FHerEn
w1 s 7 fe g
B
b. | ST (iv) HSMNT g9 & % qal-
el 8 A ol &
c. eI Sl (i) W9YUT o "YW
FTATTAT T S
&g famm & S s
FT 8
d. g g (i) [Riemd &1 TugH &
gfie @ @ &
STHTRAT & @ 8
3T: [dahed (d) el Sat gl

3T WHGUT 30 h&l W gHard Qe o
yaT ud fawmang & wwwor wiwear @t
el WA §
(a) e w@ma (b)y TR
(c) formgamml gum (dy TH-T o=l
UGC NTA NET/JRF Shift- I, Set-07 June 2019
Ans:(h)mwﬁmﬁmwwﬁ
o vd favg-asw & wEw ufEw @ TRef
(Gauk:wmg]ﬁﬁﬁélﬂﬁﬁﬁﬂ%ﬁfﬁﬂ'ﬁ?ﬁq
(1890-1947) 511 W& fFan T @1, &1 ©& A
T AR WA S 0 3w &) e A
@ 2 5 g o afmd | osm Fe-d aewd 3
(a1 T2 & WeAm @) § A A A FE-8 A
T g Oifen) e UF 3w ¥R W 29 faufa fawfm
& st wrget wpnfes soel A gEe AR @ Pl e )
55. WUGUl & WAATS &F W aeleiEd W 4

oo Wt waer e §2

(a) Hem (b) FH

(c) wifg (d) vEEAaRE

UGC NTA NET/IRF Shift- 1, Set-07 June 2019
Ans : (h)wammnmnmw
witer 21 wals "4, W4 g yogdar § gy
e T e T A

54,

56. TAHEd B § hia-d1 3ia{ ddithes 9Ogul
=t U fergraan 7
(a) T® Ffza 3T araFam 2F @
(b) @ ST e T E
(c) e il ¢
(d) T e @

UGC NTA NET/JRF Shift- 11, Set-08 June 2019

: (a) : ofoi-dafehe WU F WA & wEIOT
ﬁmmwﬂaﬂmmﬂ@mﬁ%m%l
ST-afeH T & dEy - g w6,
wEEHIA & W AEAFEA § W d méﬂﬁﬁ
o F UE v@ faeee @ ¢ R 9@ Ffem s
A ST W@ = a2l

B0 e @t e vds g € ofi argge @
W IS e &9 ¢ famy gwlt |-uia
fraw § o devn = aveftaw wea € oar
ITHT T SATEAT T &1 TE HEATar §2
(a) TONEY SGAEEA (b) UREdA-HAUy
(c) ofa-diaimto (d) FeET-faEoy
UGC NTA NETAIRF Shift- 11, Set-08 June 2019
Ans ; (a) ¥ G391 &1 HHAEF GAd & T AJHA 27
& Tl e F § P gl oot e & A
T T FEEHR T & a1 IS T AR F @ Al
g% GOUY 94l Gedl 8| SE ST
& YR T GW & AT & ol § faed qeu &l
wel 31 7 e a2
58. WA W ATEAWl H Weddh oAith o o ud-

frrertfta werrd =wdff 2 oft =fvs ool e &

AN ST IUAMT TIA §1 96 (ohW weT @

waE §?

(a) e Tieha &

(b) fowzasg @1 #1 wea 79 ¢

(c) fawgae # wgerm =1 o &

(d) mEd wwEdl &

UGC NTA NET/IRF Shift- I, Set-09 June 2019
Ans : () FUEE GhHAT & G 94 HOR WeEET §
S it & oy i Fuie s A e st et
AT GHE & A IAF IHET FA 2
59. AW WiRAT &t 7 QUT WAT A1 Wehal ¢, &

(a) mwaﬂmﬁﬁmz

(b) W weAy ° gAY & 8

(¢) TIW WeAW | U4T o 8

(d) 3T HEY F G FAT 2

UGC NTA NET/JRF Shift- 1, Set-09 June 2019
Ans : (d) TOMEY ¥l &1 79 U7 A o1 Gl @ oW
HEET U9 & HedT S €1 FWHV] SGHAT & e
54 WuE g 3fud wreaw @ Aa d@ew afed & owa @
ST 3 a7 W fAfga wd @ wwER I sfagfe
45 W & A we e @ f s shwm gof @ w
60. UF WEeh a4 & for@ar g- wuan fama d=

T & S WY aww g @t ' T 0 0t @9l

i e faaoft W9’

auaur & dedf o et = @ s ?

(a) M (by waw

(c) i (dy wfagie

UGC NTA NET/JRF Shift- 1, Set-09 June 2019
Ans : (Ii)ﬁmﬂmmﬁfﬂi ‘g fam d=
oR % W W 9T 4% @ T i) a9 § 0
faaeoft 9511 Iww @1 WeE & WHAV & Hed § Haw
Wmmwmaﬂﬂ%améﬁm
TEE U HIW Aq Fe F WA § g 5 AEA-NEH
A 2

57.
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86. The typical feature of an information-rich

c]n“roum lecture is in the nature of being
g T WA & "
ﬁaﬁqm =6k ﬁw WeHte o B o g § ?
(a) Scduﬂaryﬁfﬁ'd:ﬂﬁ (b) St']ggercdfﬂl?fﬁﬁ
(¢) Faclual/AATHF (d) Sectoral/TETHH
UGC NET/VURF 22 Jan 2017
Ans : (¢) IO TG T F A o6 € 6 i %
e @ watym of sganht sEwd su=l F=n § guem
gl 21 Rl wEm wgg @ erern @ e
I0F FEmE g i A 2

87.  Expressive communication is driven by
Tereas g0 YRE BT § 2
Passive aggression/JTE a1 I
Encoder's personality Lhar acleristics
F W@F (TAHET) o Afthed &
External clues/#Tal Heha
Encoder-decoder contract
T AEH-FeraT (EHEr FEy
UGC NET/AIRFE 22 Jan 2017

(a)
(b)

(c)
(d)

Ans : (b) fortll =7 1 HaTg TEw & WA & gfuenT
it T a9 W G 21 g & A dn @
et wd = farg Wt @l fadi & @b @ 9m @
I | e T8 G S A A E O &
& 7= F ot ae fom § wfe @xm @ A e #
AT WEl T A% S el
9. A pood communicator begins

presentation with a:/Teh I0H

uﬁ?ﬁmﬁﬂ:ﬁﬁaﬁﬁﬁmm‘rmt’

(a) lce- hrnktrfwm

(b) Complex question/Sifed ¥¥4

(c) Nnn-scquiluIFIijtfﬁ'l

(¢ Repetitive phrase/ G0 qg44

UGC NET/IRF § Nov 2017

Ans: (a) UF 309 TS 3191 SEAHOT JO0 Gaivar
I YE T 2 TH 9N GEES I F
G A G/ a1 WER o 8, S e
AT, FETEAO] o1, ARl HiAT F Y2 Ud Had I%lei
F el A fedt fawg v @ s 4 2

Ilisa’hcr

Ans : (b) TR 31 ¥ # Fretefan 9 7 ey @
(i) GoEE

(ii) T

(iif) FET = AT

(iv) I I ST

(v) Wogm @ aifen s

WEEYE TAA §Z AE@F () & oARea @l
Fervranati & Sft & 21

88. The interaction between a teacher and students
creates a zone of proximal:

A & Fmter @

(a) Distnrtinn.l'l:ﬂ'%?ﬁl

(¢) Confusion/99

(b) difference/ 3
(d) Development/ @
UGC NETAIRF § Nov 2017
Ans : (J) fofdgl & 9 wER TER Tt GEm
s & Fmfor @ &) e fe F fowss v o
ﬁ:ﬂgﬁmmm%mmmﬁ%‘nﬁm
TEET & AR fmmaﬂsrgr@afraf femmi, @z, w
qu-H & oHl 7% ugar g1 fume 3w A fae &
yEwEh 21 & fofdE & my wew der w2,
T A1 @ A% (YR a2

89.

In a classroom, the probability of message
reception can be E'I'll'IlI[IE['d by :

ﬁd*r w1 T e TEW W WWer @
frefeftas o ¥ foraa aqran = wdar 87

(a) Using high decibel audio tools

g faam #14 § 21
91.  Assertion (A):

firera (A) :

To communicate well in the
classroom is a natural ability.
Feq H T 70 H FHIUHET
U @A e |
Effective teaching in the
classroom demands
knowledge of the
communication process.

e ° et faeror & e
T SRR @ I a2

Reason (R) :

e (R) :
Code:/&FT :

(a) (A)1s false, bul(R] Is true.
(A) e €, e (R) T8 21
(b) Both (A) and (R) are true, and (R) is the
correct explanallon of (A).
(A) T (R) 3 @@ €, 3t (R), (A) FF T
T B
(c} Both (A) and (R) are true, but (R) is not the
correct explanation of (A)YA(A) T (R) &l
e, T (R), (A) 3 9 e 4 2
(d) (A)is true, but (R) is false.
(A) W8 8, f (R) 7o B
UGC NET/JRF B July 2018
Ans. (a) : T T FIE T FA TH QGIIES A
8 e & i A U W e T 8 S
F WOE T AT e & U Fe TeE g
iR, T 2

o9 2fiee & o0 ITHWI & FEm Fi 92. In pre-learning preparation, an important
(b) Establishing a viewpoint/ZEamT i Fith stage of communication is:
(c) Expusing the ignorance of students m"ié Fart # wmewn @ Th qﬁ@f
2 arfirger 39T T =T &
(d) Tncreasmg the information load (a) Informalion acquisition and its processing
o 9R § 3fE S T 3T T4 IEH A
UGC NETHRF 5 Nov 2017 (b) Ilconisation of encoder /&= Hawa &1 Tfifawm
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(c) lgnoring semanlic noise
fawa amegear & T 3N
(d) Conditioned feedback /3T Sfagfe
UGC NET/IRF Shift - 2, set-10 22 Dec 2018
Ans :(a) 3m-gd Tl 0 THEw 1 US TEEQl 9w
YA I A SEE S ) e § eed ww
I fawg-aw mo IEA WEW A TR THed F
§ of 3§ ST W gN T SREA 6 e
T 1l F vem e § fawaaw A aed @
Haifes Ayl # 8 |
93. The rhetorical approach in  classroom
cnmmumcatmn considers teachers as

() Influencing / TR

(b) Academic / 3T

(¢) Official 7 fuwft®

(d) Non-ofTicial / T-s1ferafts

UGC NET/JRF Shift - 1, set-9 22 Dec- 2018

Ans. (a) : TN w0 § yemEaqyl son R @
frafédal & waaerell ol F w0 L 2l
WL I & St fwe @A 0 ol § T
I YER & IR @A g Sl Nodd A1 AN w9 9§
oE T wefad S 2

924.

Which of the following would influence the
effectivencss of communication in classroom
instruction in a critical way?/&aTTd
& =T wuger @yt & e o
A B HFAyul Y ¥ YA Sm?
(n) Subject knowledge ol the teacher
T A 71
(b) Academic intelligence and pcr»unalqé
characteristics of the teacher /
srTEf Gfgmar 3R =i Taed e
(c) Teaching style preferred b 1In: teacher while
transacting / FEmIoT & T
fome gm0 afmm & 11'5 s‘i‘ﬁ
(d) Teaching aids used by the teacher while
making presentations / & WG
fows a0y foer g
UGC NET/AIRE Shilt - 2, set-2 18 Dec- 2018
Ans. (c) : FTA TF AEYE, FFAg R T s
F1 & Fors e @ R o ST e o d
A o 3 uRkfefrdi F w0 F Tl § nfem a7 §
Al W@ aETA WReE aeera @1 fmwn ad @
frefafs & wra om0 @ T alEm e
HEIA & s wHor @) e & seeyel ®9 9
wfead Hom)

95. T|l{.‘ word "haptics' denotes :
Fﬂ?ﬂ? ey @ ard §-
(n) [.I'Ll|LI‘IIIC Communication / T35 E21s |
(b) Timely communication
T {Ig HEE

(¢} Staggered communication/aied Ry

(d) Tactile communication / ei-ta Fogor
UGC NET/AIRF Shift - 2, set=4 19 Dec 2018

Ans. (d) : ‘T gomEy fagE v @ e @ W
Fogor | wY wee fage srmfaEs wew & s
AT 1 INeNfeaa wome & Wil gE-vE wd wmal
wrifiE s wd et wwt @ stheata @ atEl &

wradh @ ol v s wea @)

96. TrAIRa § | @I-H1 3ITHW 1418 W oEr
%ﬁaﬂ&muﬁmaﬁ'ﬂﬁmﬁ?ﬁfﬂ
AT &7

(a) TG — HFT — F Fahad
(b) FE Tk — Heha — HIW — oA
(c) TEW — T — Hha — TZ T
(d) FEHd — H2W — e HHAA — A
UGC NET/JRF Shift - 1, set-3 19 Dee 2018
UGC NET/AIRF 09 June 2019 Shift-11
Ans :(b) I 3R Wl & A GnEy WET & Uw
Faftam, wama #m 3, fows mem § s et
vl @ gom i w9 § qw ufaia ol a6 dfe
AT ¢ | §HE i ag ety wERa @ e 8-
IF = TZ b = T = §39 = e/,

= wrE = fewifEn = fafts ' T

= Hﬁ'E[ﬁE (feed back)

97.  Match the following :
Given below are two sets, Set-1 embodies the
types of communication while Set-ll provides
their excmplll'cumm Select your answer from

the code given El m;za'u few mu #i
weea—| ¥ wEMwm & R U T §, wate

;q%—vm-uﬁ m%qm?ﬂwwwﬁ?qﬂqﬁl
feu Tq we @ wwT W AT I
Set-1 Set-11
(Types of (Exemplification)
Communication) weaa-li
wwea—-| (ptetetom
(T 3 W)

(i) Members are

given themes on
which they are
required to hold
discussion.
e & fam mz
faudi w == &=
& f w=m s
2

{b) Interactive A teacher in the
communication classroom

HUIG presents a

structured content

Fa  fmw
o fawg s
T 21

(a) Linecar
communication
HHE]

(i)

T
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(iii) The principal of a
college holds the
staff meeting for
understanding
their problems.
w -
e oA
srferfifat Cil
s L EE |
gﬂ'cﬁ da% e

|

(iv) The teacher and

(c)} Transactional
communication

feraf-afad

-

TqEET

(a) Source domination / T =

(b) Selective exposure / TFAOE HTUHEIEI

(c) Negative choices / THRIHF TG4

(d) Impersonal behaviour / fdafams smagr

UGC NETARFE Set-1 Shift - 1 Dee- 20108

Ans. (b) : 3% fadl = = Rl Tomm @ & e
W, d uRreEEn gged sfigdiE & oyaE
S| UE W3 4 @ & ggams JeiE gen f
Y IS FA B TR W O 2 R U o
TAR AT TS 9 ST & F gen B g
sfard 21 afg =fa s folt @ & i sl 7o
W 3rfg gl gefgwa e @0 A gEr yoEemed

students in a o P
college to on || & T 3"1'5[_‘? & E TR S TR 6
rampage., . T &l TeH HL &
T 199, g;npc wié_u' is:
foms wd  feramdi ansa
FYY 7= g (a) Informal communication network
Code : /e : | HENT
@ (b () (b) Formal {:nmmuni;;t'inn network
(a) (i) (i) (i) ,
(b)y (iv) (i) (i) (c) Verbal barrier
(e) (i) (i) (D)
(d) (1) (iv) (i) (d} Inadequate information
UGC NET/RF Set-1 Shift - 1 Dee- 2018
Ans. (c) MIPPSC SET-2018 (17-01-2019) Shift-1
Set-I Set-II Ans. (a) I e a9 (Informal
" (Types Uri } (Exempliﬁm!t:nn) communication network) T8 HaR & i 8 i @
OIRSERRFCASON ik Skl F1 frm @1 o A g A A 81 g
(“5"“—[) @ i-cicaud) TER F FE WA T W # 59 YER @ w@mm
I : B . (communication) B9 3797 a1, "T-fom, 38 @ @
(2) Linear (i) A teacher in the |||&) F um Grape wine communication BT 2, T offg
communication classroom presents a I T B 2
g gesT structured content
Fen H o us d@aad (| 100, Identify the CORRECT sequence of categories
foag S g| of grﬂpevine communicatlion/FTAWATS 'ﬂﬂ'ﬂ'ﬂT wr
(b) Interactive (iii) The principal of a Aftri & e ww Wﬁ'
communication college holds the staff A. Cluster chain/AWg @
S I T [ meeting for B. Probability chain/S9TedT s@eT
BLELY u?gg{:ﬁ:dmg their C. Gossip chain/TTI9Tq sf@T
E\E mfEET D. Single strand chain/TeheT = S@eT
AT fEAE @ Choose the correct answer from the options
: given below )
ﬁﬁﬂqa “qz?j 0 I =rer faw 7w Rt # & W IV A
; : T ) (a) A,B,C,D
{c) Transactional (1) Members are given (b) B,C.D, A
communication themes on which they (c) D,C,B, A
ELUESIGE are required 1o hold (d) C.D.A.B
wumgu d'SClLSS'?“-ﬁa ) , NTA UGC NET/JRF June 2021(28-11-2021 Shift-11)
q{E :Eﬂ% aﬁ“;ﬁl 'ﬁ' Ans. (c) : 5 ¥aTg TET & AT @ O F9 g
ST 2 | ( (D) Tt R Jae
TEY #Jdd
98. When students place themselves close to (g) TOTET £
certain communication sources, it will lead to : (B) T8
afg et wrd &t fordt o & & frae | ((A) T8 T8
& = vk o w1 gr? 19: fared (o) T 21
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101. Feedhack reflects the reactions of the audience

when:

T § Wea—

(A) One knows the effects of communication,
S HUNUT 5 YAG FH FAAT &

(B) Onc  knows the _qualily of content of
message. Iy & R TEE @
ST B

(C) One knows the future pruspect of the object
u.ommumcalmnfﬂ-?!’g i Gy & e
& HIEA W S 8

(D) One knows the financial implications of the
communication./F% FXaT F nffw
& W 2 |

Choose the most appropriate answer from the

ons gl\ cn below:
=ﬁlﬁ forereal @ W Wad IugET I @
=aq aﬁ&rt{u

(a) (A), (B) (D) only/&e (A), (B), (D)

(b) (B), (D) and (C) only/&ad (B), (D), (C)

(c) (A), (C) and (D) only/Fad (A), (C), (D)

(d) (A), (B)and (C) only/3=a (A), (B), (C)

NTA UGC NET/JRF June 2021(03-12-2021 Shift-1)
gns.(d}:ﬁﬂﬁm(m) ST @ Sidlhal &
D b
(A) FTE THEU F YT F A B
(B) &1 "W & fawgaey @ quEa @i AEm )

(C) Fé Tomm 5t 7w & wiFer 2 WA A I 2
102. Find out the sequence of elements of effective
communication as listed by Cullip ef a/
wefew oft ov @t gt & aTEw wwrdt
YY1 & THhT &l TET T &1 §7
A. Promise of reward/39TH &7 TTg1
B. Message cla rit}'fﬂ%ﬂ Eifkeicnn
C. Consisteney/eaan
D. Climate of belief/fagmd &1 aramatun

E. Participatory cnntcxtfﬂ'ﬁwﬂ' 'd'q"l'-'f

Choose the correct answer from the options
gwon below

ﬁ:qanhm‘rﬁﬁnﬂmmm

(a) A. B,D,E,C (b) C,D,E, A, B
(¢) D,E, A, B, C (d) E,A,C,D,B
NTA UGC NET/JRF June 2021(01-12-2021 Shift-1)
Any, (c) : FEFAT UG 371 F G & FAR TAE A
& T F T T -
(D) faum &7 amE (F) Tguel ey
(A) T 1 G (B) HEw1 F WEm  (C) woaW

103. The golden rules that communicators should
follow are :

(A) They should be aloof/3% T = =nfgw

(B) They should lake sides/

TE @ W A R
(C) They must be heard/3% FAT IHT AR
(D) They must be understood/

I AW AT =R
(E) They must be appreciated/

3% TN ST =R
Choose the correct answer from the options
given below :

Ta fawmedt § ® W I @ waT
Fifm—

() (A), (B), (C) only/Fae (A), (B), (C)
(b) (B), (C), (D) only/F=e (B), (C), (D)
(¢) (D), (E), (A) only/5ad (D), (E), (A)
(d) (C), (D), (E) only/ &=t (C), (D), (E)
NTA UGC NET/JRF June 2021(05-01-2022 Shift-11)

Ans. (d) : mmﬁwﬁ'ﬁmzﬂmm
e

(1) 3% A1 S e

(2) 3= |HI A AR

(3) 3= FURT S =few)

104, A student preets his teacher with 'Good
P!orning'. Here the channel of communication
[1H
wrg fremeff s snaTtw @ atfiEeT e
wifir' | Far §) agt 9w w5 Ay -
(a) The eflec/™ma (b) The source/&Td
(¢) The speech/a@T® (d) The intent/2TIT
NTA UGC NET/AIRF June 2021(05-01-2022 Shift-1)

Ans.(c}:mmﬁmmmaﬂaﬁq"ﬁ
WA O @) A TR E WA A g
T F e TOR W & 6eW & g & Y
fire &1 eawer @ i U e wnmw i R &
-39 9T I 21

105. A leave application from a clerk to the
principal of the institution, is an example ol

T we= T ferftes | g
ATHTYT T WreiToR farm w5 g §7
(a) Downward communication/3MeT @l Hwoy

(b) Upward communication/3=q Hmm

(c) Horizontal communicalion/8ffT Ty

(d) General communication/STH HgT

NTA UGC NETAIRF June 2021(04-01-2022 Shift-11)

Ans. (b) : T% TWE & WUHEE @ UF (@fts 9 5w

mmmﬁmaﬁg@wmmén
U 359 H FE 9% &1 3 e 8 (R g

tm e W A & e gan o)

FeAqdl FHmw- fr § 39wz A SR a (e @

fvrs & w0 oMU AW WS @ YU F Y|

THST)

dfie -aw T Ffifd, smwh o, e deeh, fowe o

F Aeg g aren WnEU &1 3 WY §UE 9 A

=ferdi & AeT € 2
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106. A lady is reflecting on the causes of the
environmental crisis, She is considering and
attempting (o link varied variables to make
sense of the issue. This scenario is nn_example of
T wigen Hae & un
feam &t Tt &1 a8 0 @ I & ferg fafr
=i & e dey w1 % ' o e
T yaw T W R OE uftgva__a Sere %
(a) Didactic communication/STEINHE s
(b) [qlc.rpcrsonq! communication

s
(c) Intra crsnnulﬁcommunicaliun
I [T

(d) Mass communication/S T

NTA UGC NET/JRF June 2021(04-01-2022 Shift-1)
Ans. (¢) : T% wfeen ygfawr dFC & FROi & a] o
ﬁm:ra-{lfrila?u*mmmmmrmm:ﬁaﬁa
Wiy i 7@ & a5 fFEn R W= oE
uftgya afa: dofees d@swor & e @) mﬁn am
fi’qﬁlﬁsﬁmmﬁaﬁwwésﬁmﬁmﬂ,
fram, e, o s @i 8@ e )
107, Identify the correet sequence for successful

communication.

WHET FHA0T & FT0 TE IET ager:

(n) Sender — Lncode message — Channel —
Decode  message Audience —
[LLdbLlLl\m TRV FT F2 TEA T —
H7d — Hew F fanide & — da — digds

(b) Sender — Encode message — Decode
message Channel Audience —
Fccdhncl-. [ — W E Heb & —
Ry @ fadEes & —  de — S —

—_—

—_— —_—

(c) Sender — Encode message — Audience —
Channel Decode  message
Feedback/3¥s — Ha@l &1 F2 T &A1 —
oM — | — WeW W fadE & —
g

(d) Sender — Cncode message Channel —
Decode message — Pccdhnck — Audncnc;
o — HEW & E T Had FT — o —
T e F — HiEA® — s

NTA lF{-(, M TIRE June 2021(04-01-2022 Shift-1)

Ans. (a) ¢ T AR, @R W ARG AeEAn A
IVANT F UF WH, Ak A AR W gE @, A @
TE T A @ EAEE 4 Ei a #
THE WET F T FA-

Y (W) > Hebad S — 97— faddTT F
— WG WqfE

10B. A communication scenario in  which (wo

teachers are debating about the curriculum for
the 21" century, is an instance of? P

?m‘m g ol @ s 217 R ¥
ureT=ral & dE H g T % 67

-— —

(a) Diagonal Communication/fa@mf Figur
(b) Group Communication/¥¥g g
(c) Interpersonal Communication

(d) Lateral Communication/9f# o
NTA UGC NET/ARF June 2021(27-12-2021 Shift-11)

Ans. (¢) @89 @ A § § AU A & HeF MU
w9 4 fl fawg o osrerr-aem faR e @ o g
=t 81 T TA @M A faEn AR T @ aTEe-Ee
IR A ¢ w1 sdafms ww A ahi 21 sm:
mmmanmmﬁmﬁagm?mu
TR @ &, rdafns TR0 & 2R 2

109, ‘The advantages of diagonal communication are:
I

. Resistance/Sfim

2. Sidetracking/faeata g

3. Anomie/3T=a

4, Morale boosting/3EEGYA T

5. Co-ordination/59<4

Choose the currl;'ct ans\wr from llll.‘ tions

%I.%ﬂl helow:/=Ter foU U fraeat IW

(a) 1,2 and 3 only/&Faa 1,2 3k 3

(b) 2.3 and 4 only/&@wd 2, 3 3R 4

(¢) 2,4 and 5 only/Fad 2, 4 3T 5

(d) 3,4 and 5 only/F3e 3,4 3 5

NTA UGC NET/IRF June 2021(26-12-2021 Shift-11)
Ans. (¢) : &mﬁwmqmwww?mmﬁu
wirgon dian F wen @ whww @) fawvig
T F @ -
—yag A i
=T adE & i
=Ty
—faggim
=IMRaHT F g4

110. Match List-1 with List-IL/g=n-1 &1 g=-11 €
gufera wifm:
List/gft-1 List/geht -11
communication paradigms Description
i =
(i) Realistic
imagination u[
other's  views/qal
F fEmi &
FerdaTd! FHE
(ii) Participants are
autonomous
information
processors/M T
are w@ng
gafir €
C. Perspective taking (i) Conceiving
% T communication as a
process Lhat uses

A. Engoding-decoding
JFehti-

B. Intentionalist
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language/TH BIEI
& ®9 § guy &
FHoeqdl &A1 W AT

(c) A-lL, B-I, C-1V, D-111
(d) A-TTI, B-1V, C-I, D-1I
NTA UGC NET/JRF June 2021(24-12-2021 Shift-11)

& I S g | [Ans(e):
D. Dialogism/2Eaiesd (iv) Purposeful use of Helt-1 A1
language/MTHT (T Y ) ( TeTET )
wiEyaqel IwEm A) | T 1N ITAA-T
Choose the cnrrect answer from_the options || B) S S RS [§] TATIR-T9 TgA1
given below: /==l fEu 7 IOy [=emmmm v) TR T
: D) | e ) [¥mw=d F w@ ¥
AR CD e #
@l 2 3 4 _ il i
b)2 3 4 | 112. Given below are two statements, one is lubelled
©3 4 | 2 as Assertion A _and the other is labelled as
@4 1 2 3 Reason R/ i<t &1 &u" fqu "w & w&
NTA UGC NET/IRF June 2021(26-12-2021 Shift-11) HFTHTT (Assertion A) & T # 3 0T I0&H
Ans. (c) : 5¢l GHIAT gHI- U (Reason R) & &7 H:
g-1 -1 Assertion A: Effective communication creates
. identity for individuals and gr
(et "E_'"“') Salial) atfiReT (A) - ywwﬁnﬁwmw%ﬁqﬁm%‘g
(A) S~ farticha (iii) Th SfFa & 9 A e = ToET ST
w3 e FEAl Reason R: Identity is situational and
1 F I A communicators should understand this.
(B) Ffgmmdart (iv) W @& weyEq IO (R) : witera, feafy @ argom 3. § aiv
I WOYE w1 T AT aE|
(C) vy o= (i) 3§ & feami =i In lights of the above statements, choose the
AT HoaEr correct answer from the t.rénion iven below
D) Egaifored i) 9 @A 9t =
© gf}m wafd 21 ¥ TE I T TG HfAu:
111, Match List 1 with List-11 (a) Both A and R are true and R is the correcl
: ﬁ_‘"ﬁfl - “1" Eﬁrﬁﬁmq explanation of A/(A) 3 (R) 21§ & 3
List-1 List-11 (R},(A)GBFHEFYE‘JT@’IIE'I
1§ 15 (b) Both A and R arc truc but R is NOT the
Types of Example correcl explanation of A/(A) afit (R) =Ml 99

communication

A. Synchronous I. Newspaper reading

B. Asynchronous | Il. Face-to-face

C. Participatory | I11. Head of the
organization to
employees

D. Authoritarian | IV. Boardroom meeting

Choose the correct answer from the options
given below:

T=it-1 Tq=-11
( FHEUT & U ) (3ErET )
A. TG/ I. TEER-UF TE47
L ECAGED
B. 3TqcAw®IcTeh II. 3Ta=-gma-
| ITTEwICTR
C. TgaTiEr [Il. @B & ]
woaTat
D. FaTETSr V. uftag-amet ¥aT

(a) A-1, B-III, C-11, D-IV

(b) A-1V, B-1, C-11, D11l

¥ T (R), (A) & W e W E
(¢} Ais true but R is false
(A) ¥ ? W (R) F8A Bl
(d) Ais false but R is true
(A) 30 T (R) T &1
NTA UGC NET/JRF June 2021(24-12-2021 Shift-IT)
Ans. (a) : T TV A TH TR T WEE @
mémwﬁwmmmmmmm
T F U WF A R M T 519 &
wftefar feam s @) %Mwﬁﬁmqﬁaﬂwﬁ
T F mEraE AW 2 A uited oy F e
& 2 i WeE & 5¥ wue AR ah: SFEI A
T W1 G @ Al ah EYe &) T ST & 2

113. Which of the following are true of the
communication process? fAETUT
W freifea @ & &9 7 &7
A, Itis purposcful/ag W@Tﬂ'%l
B. Every communication is punctuated
it e e -fau 9k B €

C. [t involves choices

wftataa g §
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). Sent messages can he uncommunicated

aramifee g @ wehd £
E. Communication dges not have the power
dimension/@sraor # vifes-amamm T8 aa €
Choosc the correct answer from the options
given below/Hter fu 7g ] I

& TG W
() A, Band C anly@ﬁﬁ A, B 3 C
(b) B, C and D only/&a@ B, C 3R D

D. Message from one|lV. Interpersonal
source o many| communication/3T
anonymous T trafsme
receivers. U 5|

G
WG @
=

(.Imm(- the correct answer from the options
piven below:

(c) C.Dnndl’innlya’EﬁHC,DSﬁIE e faw me fraei # & w39 g
(d) A, Cand E only/Faa A, C 31K E (1) A-1V,B-1,C-11,D-11I
NTA UGC NET/RF June 2021(24-12-2021 Shifi-11) ((b; ﬁ:l}ia |:-VC&“:- B l[ﬁ
5. (n) :WOI0T WY o wed o T @Y g ¢) A-1LB-IV,C-1,D-
r:\ma[;’a%wguﬁsﬁm%l ¢ (d) A-11L,B-1V,C-11,D-1
(A) ] i NTA UGC NET/AIRF June 2021(24-12-2021 Shift-1)
(B) gt womur fromfa-faum 4w & 8 -
(C) T ey wffom 3 41 Ans.(c): |l q\aﬁu
114, The correct sequence of communication : , —
contexts is: A. gEU & ued & A dEe H|11 A s
Teul = wEl 2T & Tt _
A. Temporal/areamdt B. o7 & 1= fer |V, 3 9t
B. Physical/vtferan C.5 @ 10 =i & 21 A = & ||, TE T
C. Social/@TaTTe: D. U #id § - 1 Srashais| 1] 31 §69R
D. Cultural/@reafas AR
E. I'sychulngimlfﬂqﬁﬁm 116. Diagonal communication is/ Teramutt woaur
Choose the correct answer from the options (a) Latent /3T ©
ven below .
%Iﬁ (b) Aggresive {3TTERINE 3
laﬁiﬁdl o @l =4 .
ﬁ'{ ™ # Fﬂ I (c} C‘rnss-f’unclinnnlfaﬁ: Wf?ﬂﬂ%é
(@) H I) CELA (b) C.E D, A, B (d}_Non—luncnunulfj’R werTatTT #
© DA BEC ) A.CB.D.E NTA UGC NETAIRF June 2021(24-12-2021 Shift-1)
NTA UGC NET/RF June 2021(24-12-2021 Shift-1) | [Ans. (¢) : Ffl &y, #om a7 & fafm w0 ™
Ans. (a) : S0 qIE13T, famﬂgﬁ'{wana; mﬁmﬁm%mm—mﬂfﬂmmaﬁmmﬂl
maﬁqmn&mglmmmﬁnﬁwmﬁm feff eR Fahn o &fi d9R & 79 0 ER
@ w0 frra 8- firen-sen @wT &1 9@ -2 W F aEnE & A
+ifr TR T Hil Harg @ 91 UF FWE F fEen 1 vl 2
EEICEIEE e 117. Match List I with List 11:
115, Match List 1 with List Il et 13 gt 11 e i
T 1@ gl 1 # ghfe s List 17G=H | List 1IAT 11
List I/AT= | List 117=t 11 Types of Example/
Example/TZE00T | Communication/SWaar communication/ ELIESU
sty & WahT
A.  Rchearsing the[l. Group (A) Phatic/Te | (1) Touch/&!
messages to send to communication B) Grapevine/ (II) Decoder becomes
others. [EYE T Ema:s:r encoder
a1 & fag w3 T T E
& qatET C) Tactile/ (1) Informal, sometimes
B. Wriling a letter to alll. Intrapersonal rumour mongering/
friend LE} communication/37= -
NECEL : dafwe AR - e - TR
C. Talking to a team|l11. Mass (D) Feedback/ (IV) Small talk/aTgt &
of 5 t% 10{  communication / hiELE]
persons/S 10| SHHEER Choose the corrcct answer t'rom the option
wafal @t W | given helow/=r fao g o T wE I
AT = T I R
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(a) (A)(1), (B)- (11), (C)-(1V), (D)-(111)
(b) (A)-(11), (B)- (TV), (C)-(111), (D)-(1)
() (A)-(IV), (B)- (111), (C)-(I), (D)-(11)
(d) (A)-(IT), (B)- (IV), (C)-(11), (D)-(1)
NTA UGC NETAJRF June 2021(04-12-2021 Shift-1)

Ans, (c) : Tl F1 § gHe F 8-
e

gig! =
ELEAE wsf
Figds ferticheies ehaeh & AT @
118. The sequence of the stages of communication
process is:/ CagECa) %
(A) Level of acceptance
) AT T
B T ramml“mn of r{lgmtnc data
FETFFI?CI?E & Heru
(C) Message receplion
g

(D) Understanding/ @r (3vete2fEm
(E) Reaction/ Wfeferar
Choose the correct answer from_the o
given below:/ =t fau o
T <A i
(a) (A), (B), (C), (D), (E)
(b) (B), (C), (D), (E), (A)
(€)(C), (E), (D). (A), (B)
(d) (B}, (C), (D), (A), ()
NTA UGC NET/JRF June 2021(03-11-2021 Shift-11)
Ans, (d) : TI907 SG597 & SO0 1 G R ¢
(B) HAMTE SHSl & Ta|
(C) 52w Tem (D)t
(A) W 1 =R (E) sfafaar

119. Given helow are two statements

Statement I : A two-way communication takes
place when the encoding and decoding are in
operation with equal frequency by two or more
individuals.

YA - 1 : gfannil @0 a9 @ & v o g A A
¥ =fwal g7 AW sEft & 9 §2 Haha @
fereiehom weferd 21

Statement Il : The communicator and the
communicatee are related by the communication
circutls and the success of communication
depends upon the level of reciprocity between

lhem

+ TIUEA (a.rr!lﬁﬁs'a) Ll ﬂmﬁﬁ
(aqﬁ%-re‘”r} ﬂﬁw ool # 52 @ 7 am Wi
F THAT I 4" ARH - WG W (i
wae) W i &l #)
In light of the above statements, choose the

most appropriate answer [rom the options
given below

FAT & e #, e Ry g Rt | (g
W wd I A Fa:

tions
Il

(a) Both Statement I and Statement 11 are correct/
FgT | SR T E

(b) Both Statement [ and Statement I are
incorrect/®dA | (1 & Ted § |

(c) Statement | is correct but Statement 11 is
incorrect/F9A | T 8, foheg F9= 11 Teim g

(d) Statement [ is incorrect but Statement I is
correct/F% | e &, g 79 11 T 2

NTA UGC NET/JRF June 2021(01-12-2021 Shift-11)

Ans. (a) : T (1) TF &1 i gEAm G5wo T g
R d WA § e =fwdl g0 aem amef & w
e T A s wafem €1 o w1 of v e
Fifeh TRl (FART) a9 WS (FEE)
O aftgdt |§ g @ ¢ aar Wevn F TEA I A
M - SER T (e ) W i

120. Mateh List I with List 11
List 1 List 11
Communication Description
Components

A. Medium 1. Facts

B. Channel [I. Verbal and non-
verbal signs

C. Codes I1L. Route by which the
message travels

D. Content informatien [V, Physical means 1o
transmit the
message

Choose the correct answer from the options
given below:

et - 1 = gl - 1 gafew S
et =
( Huww & aEaa ) (@)
A. wre l. g
B. = TRE =l ol e
T
C. 3 1. a8 anf foss 210 damE
T @
Dﬁ'ﬂﬂﬁ'{ﬁﬂﬁ IV.4Wae & "el g
CIGER: T
:ﬁ%ﬁqwﬁmﬁﬁ&nﬁmgﬁq
(@) A-1L,B-%,C-U,D-1V
(b) A-TILB-TV,C-1,D-1I
(c) A-1V,B-111,C-11,D-1
(d) A-1L,B-ULC-1IV,D-1
NTA UGC NET/JRF June 2021(01-12-2021 Shift-11)
Ans, () : TI 1 T AT I TIR &-
-1 -1
( WYuT & araad ) (aufT)
eE Ha@ & HO T s e
ELE| g i Rres 7/ e T @
VIfaae 4T AR Hohal
Fawaﬁﬂaﬂ:m& e
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(a) A, Band C only/&da A, B 31 C
(b) A, D and E only/@a@ A, D 3R E
(c) B, C and ID only/&&d B, C 3D
(d) C, D and E only/&a@ C, D 3R E
NTA UGC NET/JRF June 2021(01-12-2021 Shift-11)

127. Match List I with List 1T

List-1/g=t - 1 List-TI/g=it - 11
Categories of Features/( TargTaaa )

Ans, (b) : THa w0 §f fAefafEn e mive §-
(A) ¥ioefoa amifse st

(D) wfees @t v S

(E) werdaiae frareiem

34: e (h) T &1

124. The Latin words '‘Communis" or
"Communicare" from which the term
"Communication" is derived, mmm?':.-'
FIE: llmﬁ“” m llm m

"' FiereRy " (HEIT ) U B It g8 &, 3T
(a) Provide specific information
fafeme s sEm FE
(b) Make something uncommon/3HMHRT S-HI
(¢) Make common, the inlormation available
IV A F WA T
(d) Produce information/ a1 SIfAd T

communication/

( wgreor siforat )

A. Lateral/midg=s | L ‘I'_quch communication
wugo T

B. Haptics/ 11. Between equals_

oyt fame TR & A e

C. Semantics 11 Interpretation of signs

[ Heldl &1 AT

D. Semiotics IV. Concerned with
meanings/37dl | T

Choose the correct answer from the options
given below:

T faw T e # 3w T R

(@A -ILB-1,C-1V,D -1

(b) A-11L,B-1,C-1LD-1V

() A - IV,B - IL,C - II,D - |

A -1,B-1V,C-1,D-1

NTA UGC NETARF June 2021(28-11-2021 Shift-11)

NTA UGC NETARF June 2021(30-11-2021 ShiftI) [ | Ans. (@)
Ans. (¢) : A2 Vi &0 HgE HEAGE foed T -1 T -1
FEfETE (FER) T8 & I g & o 37 § - Iger (T giorat) ( favraamd)
I E G SN 3 e (o) 57 A, Ulda I WO & drg wHwe
125. The communication between two or more || B, @79 fGF9 [1. T Togl

persons who are subordinates working under | [T AT 1L a1 § gty

the same person is an example of : - -

B A1 A it b % de aHE ST D. EfaE V. Tehat &1 =mean

=i & i & &7 T B TohaaT I & 128. Identify the CORRECT sequence of the

(n) Diagonal communication/fau gomgoy

(b) Downward communication faw“Tg'L@ T

(¢) Laleral communication ol T

(d) Upward communicnlion/@lﬁ’g@ ey

NTA UGC NET/IRF June 2021(29-11-2021 Shift-11)
Ans. (¢) : & 71 & § Hfuw Al & 49 goEo ot '
&t =fe & i w14 ax w @, 9 wfds TumEm @
FaT 21
126. The communication which happens outside the

realm of interpersonal communication is called

W ST HET WIaT § W 3=
Hufre TOmT & AT T AR AT E -
(2) Interpersonal communication
o, JIE]
(b) lnlmpgrsnnul communication
3= HEHET

(c) Mass communication/SHaN

(d) Upward communication/3&@ T

NTAUGC NET/IRF June 2021(29-11-2021 Shift-11)
Ans. (¢) : TH TINGW H T A TA0E TG & AL
[ gL G @ K TR Tl S ¢ S/ AAsae d
ed @) H@E °H @ni & WY UF WE T &
1 70 wwR & weee A wfagfe @ A e deh @ ud
T ST G B FaAlhE AT g

following communication forms:
TONU-TEw & OUE W @t

QgET ShIfag:

A. Mass/=-TWg

B. Public/a=m

C. Group/Bqg

D. Inler-persnnulfﬁm-m

E. Intra-personal/ar=:-&afwme

Choose the correct answer from_the options
given helow/ Ei5] ﬁT{ m I
THT S TITU:

(a) A,D,E,B,C {b) D,E,B,C, A

(c) E,D,C,B, A (d) B,C,A,D,E

NTA UGC NETAIRF June 2021(28-11-2021 Shift-1)

Ans. (c) : FOHY] @& & TE SFA ¢-
(E) 3raafers (D) 3R dafws

(C) ’H‘Iﬂ (B) 51 (A4 'HT-ET
129, Peer-to-peer communication s
HHh A HHhET <h1

{a) Horizontal 8=

(b) Convoluted/dafer

(¢) Non-transactional/f-T=gagmi®

(d) Authoritarian/3TfemraEmd

NTA UGC NETARF June 2021(28-11-2021 Shift-1)
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Ans. (n) : UFE © TAEE @ WHOU Efow TEE0
FEe 21 9 UYd WAR H w9 A ff I oo 21 9
gt HE W W TEEL G S w5 U NS g A
Fae W W’ W Tel T TR UEW Ud wedr &
& @ aRTEl & R | 37 fAEeT (a) €9 2
130. A general code of conduct circulated among the
employees of an institution is an example of :
fereft v o f ﬁn'g @ W
ATEAT [T 3T WiEAT o1 Wk IETEw §
(a) Downward cnmmuniculinnlmﬂgﬁ g
(b) Lateral communication/Ti= T
(¢) Horizontal communication/TA&E{g 3oy
(d) Upward mmnmnicnlinnmﬂ'ﬂ'ﬁ o
NTA UGC NET/JRF June 2021(26-11-2021 Shift-11)
GC SET 2013 Paper-1
MPPSC SET 2018 Shift-1
Ans. (a) : Ff Tem 0 wiafet & ool & sm
arelt W SR e TE W 3 T e
e dew § e g 93yl aEe @ e
S A1 TR WA o AT & yarfed & @ |
131. The communication among persons working at

different levels who have no direct reporting
relationship is called:

firer =l WY wrdTe UH eafveat o dier d@ier

W &G HET T § T e U e &

wau T gi?

(n) Diagonal communication/feruf TS

(b) Haorizontal communication/Fma{E HiwoT

(¢) Harizontal communication/8fisT AHETT

(d) Upward communicalion/3t THTO

NTA UGC NET/IRF June 2021(26-11-2021 Shift-I)

ns. (n) : - faFolt TOR-fafes @ O FEw

st sl Fifd & ma wew TedE i @ W
Ffa @ &) T AR 9@ st & 4 wew
day & g, WA @ 39 avgEn & A off A g
ata: dufhe HAW-78 WA A @ S WS &
=57 3t @-Han W i @ A
e oo UF e § ogee @ o s
fumr aiit god & 4 3 gomm & waEiE wee gEd
Fed HUGUI-Tg HOR AW WX @ 3w WR F OAK
Tmifea g
132.

Information provided before the

primary messape is known as/

T W el € W e GuET s wed g

() Feed forward/2m EFE (dirE wag)

(b) Indicator/HHa®

(c) Intro/uftaa

(d) Pre-rncs::agemﬁ'ﬁ%‘ﬂ

NTAUGC NET/AIRF June 2021(25-11-2021 Shift-11)
Any, (a) : YAME H491 999 ¥ o & S arel gaA
&t gl FE 81

sending

133. A competent communicator is
HaH T
A. Culturally neutral/ Sitgiva &7 o W

B. Culturally sensitive
wOH

C. Totally ethical/quiear fers
D. Situationally ethical/ffe F AR EIGED
E. An effective listener/Ta WWTE sirar
Choosc the correct answer from the o
given below ﬁz'q m
ohl <+ H
(a) A, Band C only/@@a A, B 3t C
(b) B, C and D only/@ad B, C 3 D
(c) B, C and E only/#a@ B, C 3R E
(d) C, D and E only/sad C, D 3R E
NTA UGC NET/JIRF June 2021(25-11-2021 Shift-11)

tions
I

Ans, (c) : HRH ‘HTNGEHTHI ﬁl
(13) qufear e

(A) WiEHlTF &0 4 waavia
Which of the following are determinants in

(C) U YOIt &1 |

134.
transactional  communication?/
i o forefafey § @ wa 9 o §7
A. Social Context/amaTtas =
B. Cultural context/AgIaw =
C. Relational context/Ham=ie daw
D. Legal context/fafirn 'Fﬁ:.'ﬁ
E. Delayed context/fasifaa dad
Choose the currcd answer from_the o
given below of et fé'l{ mr
T TG FIfA;
(a) A, Band E only/#ad A, B 3 E
(b) A, B and C only/@ad A, B 3T C
(c) B,Cand D only;’fhrﬂ B, C3M D
(d) C, D and E only /& C, D 3T E
NTA UGC NET/IRF June 2021(25-11-2021 Shift-1)

tions
I

Ans, (b) : HeagiiE gueu & Ryt awfefed g -
(A) Tmifsa da (B) Aitgfas w2

(C) T Ha

135. Which of the following is considered unethical

communication?
Prefafige # & forly ariferes wiraor o= @ §7
(a) Non-commercial publ it.ity/ﬁT AT TR
(b) Not revealing the source of mlurmulmn
A & T A AR A

(¢) Propaganda/gan (HNTTU'ET)

(d} Use of alternative source of informaltion

NTA UGC NETAIRF June 2021(25-11-2021 Shift-1)

Ans, (¢) : THUR (NTVET) F1 Srifea FH0 TN )
anmmummaﬁﬁmwﬁﬁﬁﬁam
# a8 39 WER F HER &0 qedl m oo

feradl # uftedr @ s
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136, Communication means_____ of information
A. Suppression/3A=

B. Exchanpe/fafama

C. Understanding/ @A

D. Contextualisation/dgyffastor

E. Almntclinu.’a:r{ﬁ'-fﬁﬂm

Choose the correct nnmr.-r from the
given below :f

I H TA TAC ¢

(a) A, Band I only/ae A, B 3 E

(b) A, Band C anly /&ae A, B 3 C

(¢) B, Cand D only R B, C i D

(d) C,Dand only /Fam C, D 3R E

NTA UGC NET/ZIRF June 2021(25-11-2021 Shift-1)
Ans, (c) : ¥y &1 w34 @ g & fafm, wwg,
dedfaor) dime a A @ G dnfag fr oo e,
i, faam, famedt v faofdi & s vd mdwm
% T AW F AR w2 e o
137. Given below are two statements : One is

Inbelled as Assertion (A) and the other is
lubelled as Reason (R):

fa & wuw Ry m € ww afumew
(Assertion A) & ®T ‘EI fﬁﬁﬂﬂ ¥ T-ﬁ TET IAH
TIUT (Reason R) 0 i

Statements (A) Those who reccive the
message and getl themselves influenced
by them in the process, are
desipnated as audiencee.

o = wen we § i 3w
witrar ¥ @ yarfae g 9 €,
IRt g fafde e s &1
An individual or many, who

listen, watch or read the
messages are ealled audience.

Tw wiw ar gE e @t
St w2y W g, dEw el
v &, s weemd &)

In the light of the above statements, choose the
correct answer from the option given below:

FUT & e ¥, e de g

H W wEd Iugwh I H 9G9I

(a) Both (A) and (R) are correct and (R) is the
correct explanation of (A)(A) (R) =M1
TE & T (R), (A) F T = 2

(b) Both (A) and {R) are correct and (R) is NOT
the correct explanation ol (A) (A) 3K {R)
2T W € 3M(R), (A) T T =T T 2

(c) (A) s correct but (R) is not correct
(A) T & Al (R) 78 T &

(d) (A) is nat cerrect but (R) is correet
(A) T & S (R) 7 &

NTAUGC NET/IRF June 2021(22-11-2021 Shift-11)

Dglllll'ls

AT (A) :

Statement (R) :

NI (R) :

Ans. (a) : TFLT SN WY WER FOd ¢ N 3,
21" W g1 gw i W FEr T o U s O g
3 A I G G, @ S R 2, G Fee
&t 7} a0 T IR T T e T 8

138. IT the action desired in the message s
satisfaciorily performed or the information is
faithfully received, it is said that,

T # @ &
WHTEA g3 & A 39 &Ed €
(1) Communication loop has been closed
Hare-oftey 7= & IH €
(b) Cnmnmmcauon has just begun
Haw andt ¥pE & ganm @
(¢) Communication is successful/FamE WHe 2
(d) (:nmmum::ullon process is smooth

TaE whear iy
NTA U(JC NE'I‘MI:FJum 2021(22-11-2021 Shift-11)
Ans, (a) ¢ IR HEEAR 1 K ECED

mmgmmwmwﬁumﬁﬁﬁﬂﬁﬁw
& I dam g @1 AR @ aen S

139. Why do we cummurllcalt"
He & smEyaEar
(A) For social mll;'rnctmn.

(B) For happiness sake. /ST %ﬁ

(C)y For messages to be understood,
T n!ﬁwﬁ'am 5|

(D) For sharing of experience,
VT WIEAT A

(E) For protection of traditions.

Choose the correct answer from the options

gtlignhcluw:
fou o feredi & @ WE I W WA

(@) (A), (C), (B) onlym (A), (C), ()
(b) (B). (C), (D) only/Fa@ (B), (C), (D)
(c) (A),(C), (D) only/@=d (A), (C), (D)
(d) (A), (B), (E) only/@aa (A), (B), (E)
NTA UGC NET/RF June 2021(22-11-2021 Shift-1)

Ans. (¢) : HOR F 3ETEEAT BT 8-

(A) Trfer s foram g

(C) waw # st &g

(D) 3FVE T FHH 7]

140. Matceh List-I with List-11

elt-1 3 A git- 11 & e @it

List-1/=-1 List-11/g=1-11
Types of Function served/§hd
communication
& g
(A) |Mass (I} |Corridor discussion
communication Tferam ==l
S+ HAOR

NTA UGC First Paper Planner Volume-2

163

YCT

Scanned with CamScanner



(B) |Intrapersonal (I1) |Classroom
communication Teaching
3 dafs Fa =y fawm
(C) |Group (Il} |[For communication
communication with onesell/ T4 &
(D) |Interpersonal (IV) |For mechanical
communication message
gl HOR transmission/ I
Choose the correct answer from the options
given below: /=t feu o foraedt ® | @ I
T TG BT

(@) (A)-(IV), (B)-(TT), {C)-(11), (D)-(T)
(b) (A)-(1), (B)-(I1), (C)-(1T), (D)-(1V)
(©) (A)-(11), (B)-(LID), (C)-(1V), (D)-(1)
(d) (A1), (B)-(IT), (C)-(1), (D)-(1V)
NTA UGC NETHJRF June 2021(22-11-2021 Shift-I)

Ans. (a) T 1 T faem e 8-

oW & Wan Fa v
(A) |57 FarR (V1) |mefft sz dsmor v
(B) |3ta: aafma war (1) |wd & T W &y
(C) |78 Han (W) | famwgor
(D) |s7fafa Han () (nfeam ==
141.  Which of the following statements about blogs

in network communication is True?

“ead wuw °, s & an # fraifea @
WT-WT HaT T §7

(a) The content of a blog can be edited by
anyone. /& F AR @ @R o wafem aX
A R

A blog is a synchronous communication
system that allows people lo chat in real-
time /@A UF YHAG HOR YU & S @i
F T A a7 gfed @ am

(c) A Dblog consists ol posts in reverse
chronological order/@im & W fawdm
FTersR 6 8 E

A blog is a history of web pages that you
have visited, maintained by an ISP./&1M x|
a7 gt a1 3feera g @ R e Fn @ e
o st smfudt & g 2

NTA UGC NET/JRF June 2021(21-11-2021 Shift-11)

(b)

Ans, (¢) ; =17 T°8 AFE 99 W ITCR TIOG AZdiT
TRz 81 o duem G ofe s de 2 fa
W THEA # | TB UF ATHE I oA SO @ &1 3w
AW U G U O 81 = & G ¥ 6l F 8-
(1) =t & re faufa wreren § g €1 3tafy e T
A T Uge fEa & A

142,

Mateh List | with List 11,

gt 13w geh 11 & e @t

List I/g= 1 List 11/g=T 11

Elements of  |Characteristic feature/ JeT3fd
Communication/
&

(A) Source/&Td

(1)

Means used to convey
the message

T ¥ W WA

Sct  of wverbal and
nonverbal cues from a
source/HTd H

i -anfores w@ae

(B) Receiver (1)

(11T) A person who interprets

the message

TITEAT T aTel SR

(C) Message
w3

(IV) A person or an event
which provides verbal/

non verhal cues.

(D) Channel
e

X aTe SR aTgar
broii

Choose the correct answer from_the options

given below:/ et feu o Rreredt & A I
T TG HITA0:

(@) (A)- (), (B)- (1), (C)- (IV), (D)- (111}

(b} (A)- (D), (B)- (11, (C)- (111), (D)-(1V)

(c) (A)- (1), (B)- (1V), (C)- (1), (D)- (1)

(d) (A)-(1V), (B)- (IL1), (C)- (11}, (D)- (1)

NTA UGC NET/JRF June 2021(21-11-2021 Shift-11)

Ans. (d) :

HoIR & o e favraan

(NyEm (IV) s/ T-aias  Heha
2 aren fer aan g2

(B) W= (1) Wew @& o &
aren =l

(C) 77 (I &m_ « afas 3 M-
e Ham

() F7a (1) 5aw Wi a1 &g ¥q
A

143. Which type of Communication is most difficult

in gearing message to an audience?/ eh
PR vart 3 W39 o we waitie faee §7
(a) Interpersonal Communication/3fadafs HaR
(b) Mass Communication/S7 HI

(¢) Intrapersonal Communication/37: Hafrs HOR
(d) Group Communication/ 78 HaR

NTA UGC NET/IRF June 2021(21-11-2021 Shift-11)

Ans. (b) : 7 TOR TV T oW aF U@ @ R
waify fag @ &1 30 o uis FEEsTE O FEd
21 wad dfas o1 fafaa difem & mem 4 smd & =2
et F g wem o 21 3EE- T uRe,
AR 97, T, difgw, Zoifaem anfz)
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T Aedd- 3 @@ & AN W dad [GEE At &
4 @ e @ HAn g 81 o wiHal aw gE @
s fore i 21 4 2w g weifE Al A )
UifehaT Jeadh (Probability Network)— 7@ J2a
wifgeer & fogr @ wd w6 2, el ge W osmmm
far forelt sfam alier & @ &)

- fofen @ar o afan fare g, safF wfes ¥ 9% @

fadia €1
- fofm #=9n & of v ¢ i wfowfmd & aer g

afEw T Hifas # TH w7 v T

154. Communiecating Policy statements,
programmes and objectives and issuing orders
to the subordinates are referred to as:

T wET, ST g IR e
TAEHAL oh 1T JTTST T SHTAT HEeATar §
(a) Upward Communication /W &} 3 =107
(b) Horizontal Communicalion (i T
(¢} Downward Communication/rd & 3l ey
(d) None of the above /3T | @5 ¥ 72
CG SET 2017 Paper-I

Ans. (c) : Ffa fTawon =1 TR FEEET wE IRyg Ao
ol @ fe, st At e A & 3 dEner S
&1 Haw = aningE AR w1 o # fF AR W aw e
W 8w § e oA A 2 3R & fAu e
FHaedl F ST A F A g Sfew 2 @

152. Match the following :
A. |Kingsics/ (i) |Body movements/

B. |Encoding/ (ii) | Formulation of message
HehetaTur { TieeT &t Pt
C.|Verbal (i) [Skype calls/ ThTET

communication T
rerfige d=m
D, | Proxemics/ (iv) |Space around the
speaker/ IThT & A
TTH Rl &
E.[Communico/ | (v) |Participate/ FEWTHTAT
Code/ehe :
A B C D E
(a) (i) (iD) (v) (i) (iv)
(b) (i) (i1) (iii) (iv) (v}
(c) (v) (iv) (iii) (ii) (i)
(d) (1) (i1) (v) (iiiy  (iv)
CG PEB SET 2014 Paper-1
Ans. (b) :
A. | FEAER (i) | YO At
B. | gt (ii) | wgw @ famfor
C. | Aifgs wan (iil) | =R &
D. | sTerteeEs (iv) | & & 379 99 # &7
E. | =g (v) | wewmm

153. Choose the most appropriate answer
Oral communication is better than written
communication for :

Ifera I i)
fafan dom @7 3w gEw @un
fee A g 2
(n) Providing opportunily 1o refer back/dF T9R
A 1 GG A 2
(b) Saving time/954 # Tgq
(c) Conveying feelings and emotions/MTa=T3ii it
Tazsii # S
(d) Conveying facts/@2T &1 ‘Tg’?ﬂ-:ﬂ
CG SET 2017 Paper-1
Ans. (b) : WIfGH HOR @0 T VRl & 3940 % 6y
TIW T AT A FO F WEAT ) F I H
Yiw (aft) o ¢ wefem wa 3 Taw e @) b
frfiam e & ganell @ HEE-vEE g @ fafa =
i @ 21 9w whEar i @R @ e w sfew am )
- W @ TAn e Hies gen § wwa g, A
fefem e #f 76|

...........

155. In communication, the language is :

mﬂmm'gh?-ﬁ :

(a) lconic code /T Fz T

(b) Verbal code /IS T2 Hahm

(c) Non-verbal code/ 3G T Al

(d) Symbolic code/TTHTH FZ T

CG SET 2013 Paper-1

Ans. (h) : W HER F U SOME! & W gEAm &
wHRd 4 & fog w@fes a1 Wodbifas f2 | Ak
@ 21 fEs F2-
1. U Hifla® g2 wew & i § wed & swam & an
i fril 1 O 98 2
2. Y WE BY U el o1 G ¢ 4 e W o 2l
e & Hifgs 3 R-vifes (ffes) o de w2
156, TTASH T U7 cIEIeh ¢ ehl AR war

HA AT AWEE-TE & a1 IEH-WEF A

I THET AT §
(a) IFTAATTHF TG (b) FUEEA GG
(¢) &XfersT wwioT (d) 9 EBET
HPPSC SET 2020

Ans. (1) : FTF TG WENF AN H AAGA TEH
q AEFE-FEE T & S AW (Mass
Communication) T8 F 21§ Fewoy’ AYF 0
F FH wEEd v 8, T gum & o fawe see
& WY TR F F 21T megm @ o FE 2
g T IUFAN H ITAN A §, A FE wew @
UF A AgA @il 7% TEArE  HEW &1 SH- e
W, Zeffasr, fed), faam, feee s sy
‘ST’ W #
simifafme womu— siadafes @mw 8GR 9
el & e faand, gramai i gEened & s @
WYeAE HEF-¥EH U €1 3 & YR Woaiee wiEg
AT AFR #1 - IEWE W awie™, -7 T e
AT TEeH WA, siAdaite W & 3T I g
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Ans. (a) : Gaw4H GEEU F HgE e A Wi
formr an) oo fandf wfm 2 ford faedd &1 amem-
WS B &1 I WA # AR @ A g o |
fedl & A -

1. HOR A9 (Y9 arer)

2. |23 (HIST)

3. W<l af

4. w99 AN fafim arEe

Hoy ——> WEAH

g Esmu N

N

IR, & ITER TR &1 s Wi )
163.

Which of the following acts as filters in the
process of communication?

AU | AF-H HeR wieRar uftasor S gni?
(a) Culture/ TEHfT (b) Emotions/ &
(¢) Experiences/ 3%a (d) All of these/ ¥l e
MPPSC SET-2018 (17-01-2019) Shift-1
Ans. (d) : HOR wiEa iR o d@Epf, WA a9
Fva wi w1 wan sfear o shea @ o
a7 s =aft s § foredt wew W gHE gEg O A
% fou foaml, e, e T W STEE-NEE A
164. Communication is dﬂnc:m T EIT:I‘I"% -
(a) Orally/difas &9 &
(b) Through wriling/ffT@ T
(c) Thmugh gestures and facial expressmnsfﬂm
g Wl & LEE AR
(d) Through all the above means/39 T 3UrT &M
RPSC SET-2013
Ans. (d) : TOE0 TEw, TEAUT & o 98 W6dT g,
Fordl ToIeUT AT g snow F At @y faen & i,
e, Tk, Jet F TRl T EE-TEE FE
| v
Heyl ey

T i st |
e i

165. Communication is necessary for:

WY AMEvaE §

(a) Self expression/TI=AH & [T

(b) Trade and commerce/&UR Ud arfirsy E o

(¢) Routine Activities/2 wfafes &f nfafaferdi & g

(d) All the above purposes/3T4w W4T fadedi & fera

RPSC SET-2013

Ans. (d) : TS FI AFTIHT 2 -
e, U-E U & AYR, @R, 9oy, 99
framor, e wfafam =% nfafafeat & foo

lB.(i) wuTelt TWer - arferes ue iR-
EUCED

(Effective Communication :
Verbal and Non-verbal)

166. In non-verbal cammummtmn. '‘Chroncemics'
refers to/3T-UTfegeh HUOWT | 'ehaiaa' forad
Hafta §7?

(a) Time/ /@ (b) PMace

(c) Space/HTRTT (d) Person/&H

NTA UGC NET/JRF June 2021(04-01-2022 Shift-1T)
Ans. (a) : IT-Tf=5 90 § ‘FREE o9 9 dEE 8
sifeafuay - dafhs e - §y
BT - A7

167. What is the name of the process in which the
listener provides feedback to the speaker about
the message heard and the emotion conveyed
and lets the speaker realize how he or she is
being understood and respected?

IF yieran = Fm am g faad siar aw &

T U GEW A9l 9Eihd w3y o fawaw ®

g W YT § W9 S0 ST § o I

T e anmer fama = @1 87

(a) Active lislcningfﬂ'f:ﬁn"q HTuT Al

(b} Active resgundmu

ofehg ®Y ¥ yaul fafwar &

(c) Adaptive teaching/3 gl w0 T

(d) Centering behaviour/GzfT =rEer

NTA UGC NET/JRF June 2021(26-12-2021 Shift-11)
Ans. (a) TFFT gaw- Hifigs 3R K OfiEs €59 W
3fgd AR W2 ST 81 T§ FY oeR U Sl & A9
ATTH T I S T 2

168. Given below are two statements, one is labelled
as Assertion A and the other is labelled as
Reason R
Asscrtion A: Smiles and laughter should be
avoided when messages are serious.
Reason R: Non-verbal cues are
contexiual like verbal communication
In light of the above statements, choose the
correct answer from the options given helow

wmaT fRw % uw  sifeRuw
( Assertion A ) & ®q o aﬂT'{HTI"S'Ha? T
(Reason R ) & ®O
ITHTT (A): T T TR &, 79 T T
FEX aret AT | "w=n "
T (R) : TH-ynieaen W INTeaeh-Wywur et
e TR yEdE g #
IqATh HeAl F ATEE o, e fou fawmen o
| TE I T FHA:

always
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(a) A is false but R is true/A 3 &, T R
T 2l
(b) A is true but R is false/A ¥™ 2, 9+ R
3 21
(c) Both A and R are true and R is the correct
explanation of A/A 31 R 3H1 &= & 3t R
A T TE T R
(d) Both A and R are true but R is I\OI the
correcl explanation ol' A/A # R EF T
T R, A T Wl e 6 A
NTA UGC NET/JRF June 2021(26-12-2021 Shift-1)
Ans. (¢) : ‘T mﬁmwaﬁ'{Mam
& fe@dm @ #@ew iR & ‘Frer o @ § i
T-ynfae e ot T e @ AR A off e
F) e FHTA & FeA 3 T e & A
Fiife qegun 3i e X Tl Haa g

Ans. (b) : TN & Al % ([GAO1 ¥, UE Afed 94l
UF-GTA Z 1 aiifas dad g FO form
Wl F a0 sffEm & W wEd & 39w Fed 6
o WY 1 GG A e 8

171.

The power which comes through connectedness
of one's words matching onc's feelings, hody
and facial expression in communication process
is known as:

g vifem A dyaur @t wirar o foedt & vt
iR swEr wmERi & faemw, wft efw
wrEHimTal & darem § frerdr 5, 30 Ted §-
(a) Conformity/AHTT&G

(b} Congruence/@H&ET

(¢) Collaboration/AEdifra

(d) Control/fg701

NTA UGC NET/JRF June 2021(03-12-2021 Shifi-1)

169. The means of non-verbal communication are :

r-ymifeass wWiww & T §

A. Spoken langunage/STETETE ST SITaT

B. Time lanpuape/ 0T W4T

C. Sign Ianﬂlmuul‘iﬁﬁ! T

D. Space Innguape/&ar= (ErE) war

E. Written language/feTfae smar

Choose the correct answer from the o

given helow:/ =t fa wo
T WG T
(a) A.BnndCunlyﬁlﬂF{ A B3R C
(b) B, Cand D only/&a@ B, C 3R D
() D, Cand L only/ @@ D, C 31 E
(d) A, Dand E only/@a@ A, D 3R E
NTA UGC NETARF June 202”24 12-2021 Shift- I}
Ans. (b) : T s ToEU, FOE0 & UH SER o
ﬁ'smiﬁawfﬁqmamﬁmmﬂ e & Ao fafas @
el I 9 TR A1 9 & IEm & faer s
sl faan o qEenet @ @ a wes §1
u famedt § @ MR-vifEs gomm F wne 8-
= HHT {1
zﬂ%ﬁﬂTﬂT
= T (E]) 9
170.

tions
I

In describing elements of communication, n
person or an event which provides verbal or
non-verbal use to which someone can respond
is known as,

F Al & faan #, ww wfed srean
Ues-we=n g wiftges on ardiflass daa Sueer
T forw o el & g wfaferar € o wendt
&, & @ e -

() Messngea"ﬁm

(b Source/@id

(¢) Channel/aE= (3e)

(d) Communication context/Gsmeu Faf

NTA UGC NET/RF June 2021(03-12-2021 Shift-1)

Ans. (b) : T8 WfFA W WWGOT ¥ WeRA 0 {HA F wem

AR IEA mae & fram, TR wmesifma &

e @ foadt €, S0 GueuE FEd ) 98 §9 JEK,

T i e & 2

172. Which of the following arc identificd as verbal
communication skills? w7 farmat

UFET e WHHUT W & w0 W @ ATt §
Use of nggressive language
TeRTHTR WTHT Al

B. Assertiveness/ 3TTgaT

)Emml, feedback channels
ThT WAL
D. Taking credit for onesell/ @& w &g T

E. Use of affirmative words
&l

Choose the correct answer from the options
given below:

= fore o Rt W & W I
(a) A, Band Conly /&G A, B 3R C
(b) B, C and D only /&a& B, C 3R D
(c) C. D and E only /#@@ C, D 3R E
(d) B, C and E only /&a B, C 3iR C
NTA UGC NET/JRF June 2021(28-11-2021 Shift-11)
Ans. (d) : FAfEET 720 @) e afas woEe e
siifafaa 81 (B) smafer
(C) SiEds Il & qrEe
(E) Tiwmmwes v & 5
(F) Tgff & gn
(G) TodE & o e .
(H) 3imfe y@ 7 & fou w2 ¥ g
(1) T 3 dfa =9 7 T
173.  Given below are two statements
o 2 wae fau mo €
Statement 1: Body language is the basiy of
deceptive communication/ e |

WTGT, WTHeR {THT &7 ST T &
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Statement 11: Non - verbal cues have their own
shared meanings./@a= 1l i - fehet
T 37U WrEAT 27ef B #

In light of the above statements, choose the

correct ans“er from the options given belu“
w5 i #, 2
W A W I Had aﬁﬁrq
(a) Both Statement | and Statement II are true
/e | SISl e R
(b) Both Statement [ and Statement [[ are false
/EFET | 3 [ EH AT
(c) Statement [ 15 true but Statement [l 15 false
/9 1 T 8, g e 11 s &
(d) Statement I is_false but Statement II is true
(@ | 39 &, &g ®99 11 59 21
NTA UGC NET/IRF June 2021{28-11-2021 Shift-11)
Ans. (d) : SiEH0F W GE A9 B SER Aol ol @l
Hichfeh T VNS TWET F SER & FE U |
AT ¢ a4 ag TR e W (ehAl) F1 39T |
3¢ BT & FU9 09 € Fn: fahed (d) W 2
M= TEET F A qmi # fae R T 2
Aieehy i Ud el ATES
T/ eSS TOEM F TG @ F SR
aree, fira snfe s €)1 9 sranfu e, sronfem
TE & A 9 6T, &8 H T, g, IS
nferefiemn s g1

174. Non-verbal communication makes use of-
A. Behaviour to generate meanings
B. Emotional meanings
C. A non-clear system of rules
D. Verbal fincssé
E. Clarity in abstraction
Choose the correct answer from the options
given below:
HorauT firTaT g e &2
A 31d 3T = F T SEER
B. Hra-TE: 379
C. froit & TR-Tow womeh
D. wfes Fvd
E. K T30 § TqEs
frer fou o faemedt @ W S5 & v Sl
(a) A, B and C anly/&=@ A, B 3t C
(b) A, Band T only/dad A, B 3R E
(¢) B, Cand D only/@ B, C 3 D
(d) C,Dand E only/&a@ C, D 3K E
NTA UGC NET/JRF June 2021(25-11-2021 Shift-IT)

Ans. () : 39Tl GEHS [ o1 54T & 8-

(i) 3 37w T F fau =Er

(i) “ma 37

(iii) Frewi @ T Eme s

STonfeEe WHET F S um i e e g-

() afgs svfeEs wWew- $H% oimin e &
i, A &1 W, e, WY o wue sl
3T 'fe'l

(ii) mmamw mmﬂamaﬁm
siftm, offa T3, @i O SV HT A A E

175. Given below are two statements

Statement 1: People use non-verbal cues more
than verbal cues.

Statement [I: Non-verbal cues have better
believability than spoken words.

In light of the above statements, choose the
correct answer from the options given below

ot S waT R T E:
HYA-[: AT yfee Hahdl o fra stonfe=s
Wkl T WA @ Bl
wAA-11: e Wehe W wifad veal at
ardran Azt faga-foar @t £
IUITR AT & ATere o, S faw T faweat
WA T IT H A Hifaw:
(a) Both Statemenl I and Stalement I are false
Fa | 3 11 EFT I €
(b) Both Statement T and Statement IT are true/
FIT | 11 2Ff Te
{c) Statement I 1 15 false but Statement Il is true/
Fo 137 2, oy 29 110 &)
(d) Statement [ is true but Statement 11 is false/
o | 5 €, o &9 11 3 2
NTA UGC NET/RF June 2021(25-11-2021 Shift-11)
Ans. (b) : B Wifeaeh Heball § 3o WeMieash Wehdl &)
S i 6
Hufees Heahad § Sitad v @ I7IET See EEEAEn
B 21 31 ST FA | 7 A [ Wl 2

176. Given below are two statements : One is
labeled as Assertion A and other is labeled as

Reason R.

g wud feuw ww o uwm srfusus
(Assertion A) + w7 W fafaa 'E' Gl L2kl IS
T (Reason R) @ &7 71
Assertion (A) : More effective communication
occurs when source and receiver are
homophilous.

AR (A) : T |G e Hien Uk & a1 W
B & A woet wirger ufed g §

Reason (R) : Source and receiver use same
Ianguage and words to stimulate similar
meaning.

WU (R) ; WG UF SET U wa e qie
T ¥ U & 7IE i W4T UF TS T STuErT
A B
In the light of the above statements, Choose the
most appropriate answer from the options
given below :
WAt & e o, e fag o et
o ¥ Tad I0gH I FH TG A
(a) Both (A) and (R) are correct and (R) is the
correct explanation of (A)/(A) AT (R) =i
T & 3t (R), (A) F T = @
(b) Both (A) and (R) arc correct and (R) 15 NOT
the correct explanation of (A)(A) 3R (R)
A T8 & S (R), (A) 1 G e A6 o
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(¢) (A)is correct but {R) is not correct
(A) WEl 2, AfFT (R) W T &
(d) (A) is not correct but (R) is correct
(A) W 78 &, afF (R) W &

NTA UGC NET/AIRF June 2021(21-11-2021 Shift-1)
Ans. (n) ; AYFRTT “SH G T 0T TH ol a0 W Ed
¢ ot wEm ufed g 21 A @ awr 3w |
UF & a @ a Ud e & S e 21 ol ue
# 7 o sfw & 98 een ot w2
177. Given below are two statements :

Frat St wua few o

Statement 1 : Appropriate word choice is an

essential of effective oral communication.

TR (1) : YTt At W gy wdiE yret

T AT ATEAVTF ¢

Statement II : Facial expression and postures

fall under visual communication.

g ara ud Wit gya-ase & e &)

In the light of the above statements, Choose the

correct answer from the options piven below:

wAAT & , =t fog g Tt
ﬁﬂnﬁmmwaﬁhq
(a) Both ‘%lale:.nl | dnd c:l.:lt.rm:nl II are true
FaT (1) 3R (1) 21 T &
(b) Both Statement | and Statement 1 are false
& (1) 3 (11) ST 37699 8
(c) Statement [ is true but Statement I is false
T4 (1) T 2, A F9 (1) 3709 8
(d) Statement | is false but Statement Il is true
F97 (1) F6A &, wlidd H4 (11) 89 ¢
NTA UGC NETARF June 2021(20-11-2021 Shift-11)
Ans. (n) : 79 T WY A G A JeROT ZR0 KA
# S & @ 30 A WO Fed ¢ @ A A ™
8 YEE SN HEw el w@Ew & A dEwm o
IuhY Fed §) WifEs dEn & T @ ol 3 g
wadl d wmge @ A @) 3w seR § wfgen, s,
e, aterd, e qEA, qyE w6, v g
‘WIﬂT-I?n (Grapvine) 3R Her 31 ¢1 Fudr e
H B WE TRl w99 EvEE o ¢ adl ArEs
i gyE e & siFld sl 41 s @ (1)
3T (1) 51 77 €1 gafene faFew (a) O 21
178. Efficacy of written communication depends
IIIJEII'I

ferftae ™o &Y WeTiaT 39 OF S -
A. Lengthy prtsentntmn!ﬂgﬁ'ﬁmuﬁ?ﬂm

B. Complex sentence structurcfﬁ%ﬁzl' e
for=mar

C. Editing after writing/fr@= & amg d@urg

D. Brevity in sentences/aTaat § geAar

E. Use of strong words/@fsT Flﬁ‘f T Jar

F. Effective use uI'wurdsf-‘JTﬁf & T 'EITPFT

Choose the correct answer form the options
given below:

AET faee &1 wa= i

(a) A, Band C only/@@@ A, B 3 C

(b) B, C and D only/#= B, C R D

(c) C,Dand F only/@ad C, D 3T F

(d) D, E and F only/&a D, E 31 F

UGC NTA NET JRF June 2020 (25 Sept.) Shift-1
Ans. (c) : faltEd ¥omm g1 § H#9R & & UF TEn
21 fafge gomm & afw sef 9m, fGEr 91 g
fagax affn @wm &1 om: fafan aome & sl
faga & g wurgw, Tl O QRO a9 v & e
T W A £

179. Which of the following is considered as an
effective form of verbal communication?

Frefafes # 4 fed diftgs e &yt

Y AT Tl 87

(a) Story- telling/FeM1 T

(b) Slnganccringﬁlﬁ T

(c) Use of high pitch of voice/ &l & 39 @& &1

wqm
(d) Monologues/TIeTd
UGC NTA NET JRF June 2020 (11 Nov.) Shift-I1

Ans. (n) : FEHI G AIfGH THE0 H OFHET 9 AT
Eici]
180.

Which of the following arc sources of verbal data?

Trifehd § & ShiF aTfeieh g o @id 87

(A) Traffic signals/gfFa-ftmae

(B) Semistructured interviews/3T@TT TRIFRRT
(C) Narrative interviews/faatonmis aweR

(D) Focus gmupsf#ﬁﬂﬂ "v"mj

(E) Body language/¥r{R Wi

Choose the correct answer from the options

iven below :
&1& fordr o ferameit

T3 & T I T i

(@) (A), (B), (C) only/F= (A), (B), (C)

(b) (B), (C), (D) only/&ae (B), (C), (D)

(c) (C), (D), (E} only/&ad (C), (ID), (E)

(d) (A), (D), (E) only/ @& (A), (D), (E)

NTA UGC_NET/AIRF June 2021(05-01-2022 Shift-1)
Ans. (b) : mﬁmmmmmwﬁaﬂmmm
TR @ i i @ i = W A @ e
Fear & afvd &9 & @@ = § -
e wfeq wwieR, fasones wmeR, S wE,
kiG]
181,

Given below are two statements : One iy
labelled as Assertion (A) and the other is
labelled as Reason (R) :

& wmuw fay T f A @ wwm @
TR (A) T FAT Y ek (R) FgT Tar
Assertion/3TTT@RTT (A) : Repeating more and
more the same message will make it importany/@®
& TR F FH-TR AT IH AETEU T |
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201.¥273T UT W9 AT §
(a) TifEs TR (b) T vif@® TaR
(c) FUH=R HaR (d) FTarEa HER

UGC NET/JRF June 2009
Ans: (a) $=0i¢ W Al (Chatting) #ifas &4l
(Verbal Communication) %I A WA éﬁ'ﬂ W
W HHT TR &l andid affe difas den 8l
gzﬁ'c (Internet) - FeE A ‘{[ﬁlﬂﬁ 1986 ¥ §§ ot
e sl & wfoen faom 3 a9 siegi @ fafi
femredl, ST gu-gx, & wedi A fea &, Ve T Ww FRA
& A SR 31K e a9 fFar an = |
%Wﬁﬂ@ﬁﬁrwaﬁm@mlﬁ

(Bel Labs) 7 326G & o &1 e § S
TETE F T IH I R S g
Sall, 1995 & IR A Fy farlE simer-agee i
TR F A YR W N F S 160 T9
¥ gy Tead weEe #) 9w @ B es aw faw
W & @El Rl GO deal § T YEs 9 gl
F 3T e 7 e & wa f v f 5w
fafy @1 cEfvm ®=@ WEmE o e
WIEraRlel #e Wl 81 3201, SevAd Head &
wfye am 8
202. I WO T HIATIRT BT ¢ ¢

(a) HFa, Wi, g, T (b) i#, F, Wha,

(c) T, ¥3a, g2, ¥i= (d) T, O, WiF, T

UGC NET/JRF Dec 2009

Ans: (1) ammgmmrmﬂmana@’ﬂsﬂmma-
Tha, wiid, F2 ud 1 gE weE § snifes w69
S 7 T G w9 @ % w9 A 3 S
mgmmaﬂaﬁqwﬁ%ﬁmﬁﬁﬁw:ﬁﬂ
Eaoldl

203, HEIX H WMAT § :
(a) 3iifE® T2
(c) WeETHHR F2

(b) Wif@® g
(d) Fms g2
UGC NET/AIRF June 2010

Ans: (h) §TR § WIS Hif@s &2 8 &1 §a) @A dm
F Ve @ T EA 98 9% Wied HeR @ @
aryfens wOR| rnfEs wor | o foe s & sEm
foran = & -

(1) F¥9 T&a o (2) 95T WHA W

(3) ITHT (4) AT W
(5) el W
204, T-Wiiige WOIUUT 7 JITHET 81 § ¢
(a) -9 (b) Todt
(c) ¥R (d) =TT
IPPSC SET 2020
Ans. (c) : = W-Aifgs wuwor § wine A ¢, wfen

7g fofa womw &) n-ifes Fun, fafas o e 96
Tl W % ITEm & fae ol wHfa o 9 s #)
T YA, WEL & T, i W w, YA & e,
ol 3 Em-aE & MW W A W A o A
49 o T fel o TER @ fe-ifas deR T 9 2

205. Breakdown in verbal communication is described

as:/ R H & WU H Fioia
(a) Short circuit/Tie Hﬁw‘i[h] Contradiction/fERmmmg

{c)} Unevenness/2T880T  (d) Enlrnpya’fﬁﬂﬁ
IPPSC SET-2018
Ans. (¢) : 31 (Unevenness) HIfEH GaR § #HeE
& &Y § aftfa &1 vifgs wER § a9 T e & 3uE
faan S €1 SEH SUEH-TIA @, Ao, e W
aram, diftedl, WEd, Selifaem iR Tt W o
i 21

I=T: WiEphed TE WS
@ugur  (Inter-Cultural and
Group Communications)

206. Given below are two statements, one is labelled
ns Assertion A and the other is labelled as
Reason R
et 2 e fou U §: U@ sy (A) & B
T 3 gET IS FwAUT (R) & W
Assertion A @ Active participation of all

students in a classroom is an indicator of the
teachers' communication skills.

atfirres (A); @ # woft frenfdat &t wieo
WEWITAT NI & TP T W GIw §
Reason R : Teachers should focus more on
classroom management (as discipline matters)
than instruction,

TR (R): TEATYeR| i AT & T UT gl
yeus (99 arnes wadt faew) @ wew
Eacifeniay

In light of the above statements, choose the
correct answer from the uptmrm given below.

_ e fqu My farnt
o | ot I @ maﬁﬁm
{a) Ais lalse but R is true/A 38T g T R a4 ]
(b} A istrue but R is false/A 9 g, T R 3 2l
{c} Both A and R are true and R is the correct
explanation of A/A 3t R g1 ¥ & 3 R,
A FE =T g
(d) Both A and R are true but R is NOT the
correct explanation ol A/A 3T R @ T §
T R, A T T S T g
NTA UGC NET/JRF June 2021(27-12-2021 Shift-11)
Ans. (b) : T § RN F uwhEa A s 7o
farenfeddi & wriiert &+t =ifeq 3ik us faw ame d@3mm
e A frfdd @ ofpm aniER T T € S
waE-vaE SR g e uw owniayfe @ @
Evericio B Beo Bei ool neic o § A o d
Femfea A 21 femrs fowwn st wfiwan @ Sfzm @
& forit @ wavm ot aftefem g ) FEe @A wEvS
W & Hwd @ Al EvgE T 8
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207. In communication, connotative words have

Ty ¥ U ==l F1cE A

(a) Clear meaning/=78 314

(b) Common meaning/ A= 3714

(c) Cultural meaning/Fihfas 314

(d) Literal meaning/¥miaas 374

NTA UGC NET/JRF June 2021(27-12-2021 Shift-T)

Ans, (¢) : HYSUT H TNA WAl & WEHOEH A1 AEA

wd T E T S WS e g & an A

TEAHE A TFEE F F0 § afela fra s

208. Which of the following are important_in
intercultural communication?/ 3TH:-

wuaur ¥ frafafad § § S-S TEagu ¢
1. Valuelessness/Geagi-ar
2. Absence of respect/TmTT T
3. Power distance/aTtramii & W ghat
4. Individualism/&ftrarg
§. Gender roles/eifire sfireTd
Choose the correct answer from_the o
given helow: fem o
T TG it
(a) 1,2 and 5 only/de 1, 2 3T 5
(b) 1,2 and 3 only/Fae 1, 2 30 3
(c) 2, 3and40n1y;’3l-s_cr‘-1'2 3 3 4
(d) 3,dand5 nnlyﬁﬁﬂ:i, 4 3T s
NTA UGC NET/IRF June 2021(26-12-2021 Shift-T)
Ans. (d) 37 nﬁ:fﬁraammfafﬂﬂmqfﬁaaﬂfaﬁﬂw
T 2 @M oA dn H we F W 21 A W
fafawmr & oy & W FA & oo @nil & 9 &
I 9 T W E ATl SN ShEar 1 3t a8
AR 7wt ffawm 7 owEm A oa awd @ o
Afiwdl & weg ofidl, Sfram, e gftend, Stes
I+ fFarg g
209. A class conducted on Google Meet in which

students and teachers are engaged in discussion
is an instance of :/ T w THET,

e faomdi afim forers ==t ® &0 €,

Foretefga o & et saEw 87

(a) lqlmpcrsonul‘communicalion

v HHR

(b) Group Communication/¥5g HaR

(c) Mass Communication/SHEGR

(d) Downward communication/3THTTR HER

NTA UGC NETARF June 2021(30-11-2021 Shift-I)
Ans. (b) : T HiZ W glem & faod faamdf e
quw%ﬁwwmwém
faeq (b) T 21
210. Given below are two statements :

= g1 we= fou T §:

Statements I : Society plays a key part in the
shaping of communication process.

tions
=54

Statement IT: Communieation is concerned
with the production,
distribution and formation of
public knowledge in society,
Hag WA H  AMH&-AH-
fmter & 3ame wE faar &
e wEteE

In the light of the above statements choose the
most appropriate answer from the options
given below:

Iqvh HUA & e #, e faw o faeedt

S (1) :

H W Tad IUYTH IV T AAT I

(a) Both statement [ and Statement [T are
correct/FY [ 11 2t T £

(b) Both Statement [ and_ Statement Il are
incorrect/®4 | 31 [1 1 e 81

(c) Statement | is corrgct but statement [l 1s
incorrect/&aT | W8T 8, wiE &eA [ 7o 21

(d) Statement | is |ncorrcct but statement [l is
EDHEEI"H‘TW[W% T Wll'ﬂﬁél

NTA UGC NET/JRF June 2021(22-11-2021 Shift-11
Ans. (a) : T, Haw® WAl & TR & 7 [ i
mﬁmm%ammmﬁmmﬁm%
IR ud famer ¥ e mefag 210 9 FAT 1A
Fo 11 2T 77 81
211.

Which of the following contribute to effective
cross cultural communication?
mﬁw ¥ AT 'nm?r g2

Quick flow of words/9T&! &1 =T Wa®

B. Use of foreign words/faeelt vl @
ELp o

C. Selection of simple words/HTETUT wrEEt @
ELpin|

D. Taking turns to speak/@er= & fora
wr

E. Maintenance of etiquette/RTETaT &f &g

RECELE

Choose the correct answer from the options

iven below.
%ﬁﬁﬁnﬁﬁw«ﬁﬁﬁnﬁmqﬁm
(a) A, Band C only/Fad A, B 3T C
(b) B, C, and D only/#ae B, C 3K D
(c) A, D and E only/&da A, D 3l E
(d) C, D and E only/&da@ C, D #t E
UGC NTA NET JRF June 2020 (1 Oct.) Shift-I1
Ans. (d) : F961 C,D 3R E
3a: mmﬁmﬂ@ﬁﬁaﬂtﬂmﬁﬁwﬁn
U] T G FHIA 21 F€ S9N & 39 uftfafaai
W snegaa € R 3w fafie wiegfis g &
T 3T W AT A @) g ofm: wiesfos i
IH 7 AEH = 8

I: Y _h, i 212. Given below are two statements, one is lahelled
q& II TehT e as Assertion A and the other is labelled as
AT # Reason R
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= @ wmuw fag o €, e A T @
atfirRe (A) 3T Z&T &Y 7k (R) T Tar g
Assertion/3ffW&RAT (A) : A socicty garners

commonality through its language, customs,
history and geography/UTeh AR 39 ATLTU
Fwent umaT, s, JiEme T i g
AT &

Reason/@® (R) : A society's unity through

commonalily is facilitated by its
communication system and culture/ST=THETHTOT

ERT WATH T Uehal I WOIGOT WOTAT woT
TRl I G & ¢

In the light of the nbove statements, choose the
most apprepriate answer from the options
given below:

0GR wUAT & I § Freifee fawedt o

¥ waifre Jegw I A -

(n) Both A and R are correct and R is the correct
explanation of A/(A) 3R (R) a4 wd E-‘ AR
(R), (A) & 7 =mEm 2

(b) Both A and R are correct and R is not the
correel explanation ol A/(A) 3 (R) = =

& T (R), (A) 1 T e T A

(¢) A is correct bul R is not correct/(A) &l g
T (R) W 7 )

(d) A is not correct bul R is correct/(A) aé T 2
T (R) T 21

UGC NTA NET JRF June 2020 (9 Oct.) Shift-11

Ans, (1) : TR 3T Teh a1 Ta € S a0 TR

it Tt = €

T & 3 I SMH § wE % owmesn § 92 @

1 fafm wEm s oww, faw sfem o e g

T TEEA § i 9 U 3 AR que

i et g gfauses &8 2

213, Communicated message is considered ns a/an

i i [T T &

(a) Social product/Smers I

(b) Unnatural prﬂdm::lfﬁ'{ - WIS IE

(¢) Spin-off product/zTafim (M - 37%) @R

(d) Techno productZFT I

UGC NTA NET JIRF Junc 2020 (13 Naov.) Shift-1

Ans. (a) : GOfT 9291 & aElas I A9 o @)
T FT HANA T & AV UF SIVLT ST 2

=1 | |Ans. (1) : FER 7 wiEgioE G & &6 P E-

et fag y farsmedt # # Wt 3w g

(@) 1,2,3,4 (b) 2,3,4,1

(c) 3,4,1,2 (d) 4,1,2,3

UGC NTA NET JRF June 2020 (1 Oct.) Shift-I

A-TfEr
B-forame
C-ud
D- SEYR WAy
215, FT=t T &aA U Y §, UEen AWHTA (A) §
aﬁwqmraﬁ-:(‘:f;{t:
azfﬂa;ﬁ:; (A): W afw  wmfees
A= l!ﬂ&!ﬂi‘ ﬂﬂﬂ"ﬁlﬂ!ﬂl’
wrdeemy §1 b
A (R): 39 21 wrdesemal § duwor w it
syfirant &1
3 wmoAl @ o W TEe gu e R
0 frereat § @ @ fienew & A wi-
(a) (A) 341% (R) 81 7@ & 3l (R), (A) T T&

ST ]
(b) (A) 2R (R) 241 =@ 2 3l (R), (A) & &
A
(c) (A) i (R) Teld
(d) (A) e & e (R) e 2
UGC NTA NET 2019 Shift-11 (6.12.2019) Set-10

m“i%glfn;mm“ d_ sk, fwﬂm m;ﬁwmg e

T AT & gl ’-'i'i'I‘UHTH:ﬂI?ﬁ T ,

¢ FHifs wmias ;ﬁg@m T fmITE W 3R

famroro @ st sia:fean @ favm wwE @ 8 96

21 & @ o & fowor & oftorm @9 21 @S (R

~ 57 T FrEwam § awee A @t qfte @, Tem

iR AWl FEweTd @ faum e g 21 o

(A) Tl # fareg (R) Tem @)

216. 91F TRHET HYT ¥ Tad~ YeIi—-=1 ard B
adt wewm # @, @ i W fremers
arforamedl g fFm yam & wiOm AT

?

(a) I=a-fim s T (b) AT TeEa

(c) @A sHf=m (d) -

UGC NTA NET 2019 Shift-1 (6.12.2019) Set-9
Ans. (b) : 79 &0 @0 O fefim wevie-w4 9 o@
2t wem | @, @ ferw A1 fmes s frei 8
ZEIETSl el FEY WEAN & g4 afew) 39S
fafer & gma & e ool fimmers s foramnadt &
He A @ GG B Feball ¢ | e At

&1 WA @ 9 Y faugas @ s 9y 9 9 59 &

214. :;';m:ﬁ?::lﬁ: iﬁol’ cultural institution in = § o7 B o1 T 3. RS 48 o 5 SR
= ¥ i i Eaden HFA & I 2
1. Family/aRamw 217, & wan # Rrare i et & e ww weiE
2. School/fererera (ufrieE ) w=t g &, 9 39 A fwmar o
3. Religion/trd T - . N .
4. Mass media/Sr=TeranT TTEaT (a) Sftsfta geimo (b Hefrener s
Choose the correct answer from the options (c) TG T (d) ¥ R0l
given belaw UGC NTA NET 2019 Shift-1 (4.12.2019) Set-5
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233, Tefafias o | Fon againfiear & o T8 8?2
(a) ¥q@ SR GYE &1 HGar= 6l Fadq
(b) Tafawe %1 v
(c) TATIE, THNH Bigdl 3 TR | FA
(d) T A H WEEE
HPPSC SET 2020
: W@ SE “GHE N AMTE H WA
F Ifmia T o 2, afes g sl A
agaiiEm <@ @ e :r HA-3TT H @
wegheE WE B @ @ W §) 5 aEn
qEFS @6 @ THE N ARU A9 SRghed ST
o) ot FgEEpiET & o an @ ffem @
e &1, [EE, Ao Tedl SR Yeds d &4 T
§ T T S W WAV & S 9

Arls_. (a)

(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)(A) HR (R) =T
T € 3 (R), (A) oI G981 == €1
(b) Both (A) and (R) are true and (R) is NOT the
correct explanation of (A)/{A) R (R) &M
T £ @ (R), (A) T T8 = T
(c) (A)is true, but (R) is not false/
(A) T4 &, fE (R) 389 £
(d) (A)is false, but (R) is true/
(A) 37 8, AR (R) T 21
NTA UGC NET/JRF June 2021(05-01-2022 Shift-11)
Ans. (a) : AT mnwwmaﬁmﬁﬁn
weEfem Bt 217 @ @ o Rar o wRT gm
TR TR F T A TR wEMT # F fawes wee
T 8 o o § 3 e i o =en s g

B.(iii) EZmRr L

(Classroom Communication)

234. The utilization of smart classroom Tfacility

depends upun
HET e = IuanT it s

(a) Computer literacy/FFgZ{ HEIH W

(b) Litcracy/HmRIGT 9T

(¢) Computer/SHFget T

(d) Student's age/faganfial it 39 W

MPPSC SET-2018 (17-01-2019) Shift-11

Ans. (a) : FEL & HOAH I GLAH & THH
S Sl FEAEl I9EM R A g 9 @
‘FIET TR Fedwl €1 UF T F F fon ag
HY SEA 2| 3T FAE 3T W 98 & 3|
0 W SE F THEET S T 2
235. Given below are two statements : One is

Iabelled as Assertion (A) and the other is

labelled as Reason (R) :

e 9 Fad fTd TH— Us AAHUT (Assertion

A) & w7 ¥ faflge ®, @ g s@e @wnw

{Reason R) & 'WT'H‘—

Assertion (A) :

Communication competence is

related to  the power of

knowledge in classroom.

Communication competence

permits choices of

communicating as require in the

classroom conlext.

afirme (A) : 0§ wSiww "ewer 3@ & wlE
T T w2

S TEEW F & oued § smfm

U A & e WTH A |

In the light of the above statements, choose the

most appropriate answer from the options

given below :f HAT & ITEE H,

fe&r i fermmedt ® @ W I 1 WIS Hfau—

Reason (R) :

Teh (R) :

236. The sequence of elements in a c!assmom speech is:

HETTT OO0 & Frifera ot & Wer wu o
-

(A) Introduction/S&ETG-T

(B) Description/auf=

(C) Feedback/gRfaase

(D) Clarification/aredteRyur

(E) Conclusion/3UHgR

Choose the correct_answer from_the o
given below: T farmeat

T A wifTd—
(@) (A), (B), (C), (D), (E) only/
FAd (A), (B), (C), (D), (E)
(b) (B). (A), (C). (E), (D) only/
=ad (B), (A), (C). (E), (D)
(¢) (C). (D), (A), (B), (E) only/
@had (C), (D), (A), (B), (E)
(d) (A), (B), (E), (C), (D) only/
had (A), (B), (E), (C), (D)
NTA UGC NET/JRF June 2021(05-01-2022 Shift-11)
Ans. (d) : T WO 5 el Bl Hl FRA €
WEAET — FUH —» ITHER — TAHSGYH —> U0
31 f4ed (D) 59 21
237. The dimensions of classroom communication are:
HuT T HAW & A §—
(A) Level of ohscurit_w‘qﬁum &R &
(B) Level of Observation/3TaeTeRT T FT
(C) Level of intrusion/3T=AayTT &1 T
(D) Intentionality/STHgmaar
(E) Normative judgement/AT-TeRTe forofr

Choose the correct answer from the options

iven below :
5t et o feramedt 4 % ) were gP—
(a) (A), (B), (C) only/sad (A}, (B), (C)
(b} (B), (C), (D) D"')’f’fﬁaﬁ (B), (C), (D)
(c) (C), (D), (E) onlyrimﬁ {C). (I, (E)
(d) (B). (D), (E) enly/=maet (B), (D), (E)
NTA UGC NET/JRF June 2021{05-01-2022 Shifi-1)

tions
311
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Ans, (d) : TIT0 & I T % favaaeg ok sRw
¥ fvift &5 &)

-3 T T

gy

-y fAufg

Ans. (¢) : TF @1 & "o W wierdl Hepal @t T AW
ten ¥ swie sefam WY vEe @ §, T e
E Tl o O i o e D
oyt s § wAfaw & qan o e e & w9
T TG FH IrEA @ YE W vl @

238. Given helow are two statements, one is labelled
ns Assertion A and the other is labelled as
Reason R
e 31 wuw faw v € uw arfuwmes (A) &
w0 ¥ 3T gET IWE Fr (R) F T H ¢
Assertion A: Teachers should strive to avoid
discussing complex issues.

it (A) : & wfew fawal ut ==t
T W Fo YA HIEAT =
Reason R: Classroom communication should
facilitate a movement from exploring simple
issucs to complex issucs.
T (R) : HET & WY W e
e fauat @ we FI g A o wifee ot
W T H N ;S H AT FAET A=
=T
In light of the above statements, choose the
correct answer from the options given below
IS HYUAT & e |, e fau fammeat o
A FE I F A WA
(a) Ais false bul R is true
(A) 379 &, T (R) &7 21
(b) A istrue but R is false
(A) &7 2, T (R) 36 2
(c) Both A and R are true and R is the correct
explanation of A
(A) 3 (R) T T & 3 (R), (A) F T
T 2|
(d) Both A and R are true but R is NOT the
correct explanation of A
(A) 3R (R) T 700 & T (R), (A) Fr T
T T 2
NTA UGC NET/JRF June 2021(27-12-2021 Shift-1)
Ans. (1) : '3NTHRAT TEW ¢ FEE (IR & Sed
W TEl A T N w5 e R oEt F wEm e
@ wE & A@iee) fem w@ g § oafa gg @
qRonfeR @ TR # SN AR A & s ohl &
fTT §8 T HTEE B0 A FRO ET

239,

In a classroom context, when innumerable
menningful messages emanate from a finite
number of linguistic signals, it is called

e

HWET # e ardary WRW wewe B €, 3@
HET T &

(a) Cognition/H3

(b) Information processing/&EAT SfEFETERT

(¢) Productivily/Strgshal

(d) Semanticism/3TdfeT T

NTAUGC NET/IRF June 2021(26-12-2021 Shift-11)

240. In constructive contexts of effective listening
behavior classroom communication s
characterized by Hgaul STAgR, hynTd
Hae & A aed s g favidiga
T o €72

(A) ldentification of the common ground

TTHTA LT Tht U=t

(B) Finding out the areas of mutual agreement
T LC1E]

(C) Seeing the real issuey

T T @

(D) Permitting different interpretations
qﬂﬁam‘lgrﬁv AR

(E) Varicd perspectives of the common
message/ATH=T & faftr afiser

Choose the correct answer from the options
given below:
Hrer fyu e Rt # & W I E www Fif-
(a) (A), (B) and (C) only/Fad (A), (B) 3 (C)
(b) (B), (C) and (D) anly/&aw (B), (C) 3 (D)
(c) (C), (D) nnd{l'i)nnlyfc?ﬁ?l [C]‘{D}Sﬁ‘{ (L)
(d) (A). (C)and (E) only/Hae (A), (C) 31T (E)
NTA UGC NET/ARF June 2021(04-12-2021 Shift-11)
Ans. (a) : Tl a0 SFGER &1 374 (Gl & @l D g
qu A am H e TRw S owwe &)y eEw
STaER, FHTTH YaE % WA ded B gro faede -
= AW YR F! YEEE|
= GTER AN & & & @
— T THET F EEAT

241, Given below are two statements:
frer & wu= feu T §:
Statement 1 : Diflerences in orientation, habits
and interests  will  affect  the classroom
communication process
waA (1) : Iffamm, amEd et sfaEl f swR

TR Hars wfeRar @1 wifaa wi |

Statement 11 : Ape differences do not matter
when we consider semantic noise.

AT (1) : 5@ g0 3 @ @ aw w A ey
&1 I e g 21

In the light of the above statements, choose the
correct answer from the options given below:

wYT & anEra o, e fog g freeat
T 7 Tt T & wa Wi
{a) Both Slu}umeqll and S’l.'nemem I1 are true
FHIT | #R (1 T §F 31
(b) Both Statement 1 and Statement 11 are false

T | 3T 11 7 3AeT #)

—=
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(c) Statement 1 is true but Statement Il is false
T | U 7, Wihd &9 [[ 30F 21
(d) Statement 1 is false but Statement 11 is true
M 1 36 &, i H9 1177 21
NTA UGC NET/JRF June 2021{04-12- 2021 Shift-11)
Ans. (c) : WHWWH angam&mu = A
# ¥ frad wwor I il emed ik i
3T S Bl & S RN HaTE ShAT F1 Wi &t &1
AT T TN A H A T €, @ e I
ardl & WEgH § FAWE 2 21 A 99 gq 7l @
T FA T oy W afm WmdE &

242, The sequence of barriers
classroom communication 11

W HWag W
’1'@?“%

(A) Attitudes/3TTgirar
(B) Anxieties/fa=md

(C) Expectatinnsa’aﬁaﬂﬁf
(D) Needs/3Tmaydehant

Choose the correct answer from the options

iven below:
5= fau T fameat W @ Wl I @ wEA
it

to reception

& fou ammed @t

() (A),(D),(C),(B) (b) (A),(B),(C).(D)
(c) (B), (C). (D), (A) (d) (D), (B).(C),(A)
NTA UGC NET/AJRF June 2021(04-12-2021 Shift-I)

Ans. (d) : TR THaG | WEHEW & foIC aTanst &1 Hel
siEell 8:-
(i) 3mEryaEaTd
(i) ﬁtﬁTQ-
{iii) aﬁam
(iv) figfirat
243. In a classroom, transforming verbal and non-
verbal signs back into messages is known as
wHET o T -
gaeT) Hehdl T WY1 H BWUTEI0T el &
(a) Feedback/ Hﬁﬂﬁi‘ {Tﬁ—arfﬁﬁ)
(b) Encoding/ W (FTaHITEM)
(c) Decoding/ [EETERECIIEL)
(d) Reverse communication
feratar = (Rad swgfaeser)

NTA UGC NET/JRF June 2021(03-11-2021 Shift-IT)
Ans. (c) : WieQfe- o ®ieas o avid (e &
HETqE & A% A & W Al sREE @ A 81
mnﬂm(m)ﬁmmmﬁ%mﬁn
i w5 &4 2
forft T fade T W S GO T A
s = T F99 & U O 2
Wehn: HOl W @@ YE @ @ oW Hie a1 36
=i, st fet oit s aR & e & 9w fRd e
gra T e @ Tl e gro s & s e o €
frddha- oo & W §29 A erfyef swenm e
ferdeha Fgene ¢ @ § Wifte o a1 e debal
T fatisee w29 § Fqimer 2 #

244, Given below are two statements : One is

labelled as Assertion (A) and the other is

labelled as Reason (R

= g wus few T % Tw i aT (A) & &9
o ferfae & A TEU IWeh &Il (R) & &9 H:
Assertion (A) : The linkage between language
and non-verbal signs is an important part of
classroom communication,

AFFTT (A) : W R TR-HifEs dada &
TET AT BT Warg & Wgeagul 9 &1

Reasons (R) : If the classroom setting is cross-

cultural then mastery over language is
adequate.
WU (R): AT HaT & IPTEAT T3

Wi (e B A1 HTHT U WO s & Sl §)

In the light of the above statements, choose the
correct answer from the options given below:

IUAITH e h 3Teiter o, et fou v femmedt
Eﬁnﬁmaﬂmaﬁﬁq
(a) Both {(A) and (R) are true and (R) 18 lhc
correct explanation of (A)(A) it (R) =
G § HIT(R), (A) F WE AT B
Both (A) and (R) are true but (R) 1s NOT the
correct explanation of (A){A) R (R) ST
T & @ (R), (A) T T e 76 2
(A)is true but (R) 15 false
(A) T &, A (R) 3799 &1
{A) is false but (R) is true
(A) 5 &, e (R) 579 21

NTA UGC NET/IRF June 2021(04-12-2021 Shift-1)
Ans. (¢) : T "IN A TR-AIES Hehdl & A
mmmmmngaqﬁm%n”m%aﬁﬂaﬁ
M%mm(cmss)mm%‘ﬁﬁﬁ
WiEREs WA F TUFE T UeEW W ©) 30 o
ey &1 faftmem aferd =4 2

245. Given below are two statements: One s
labelled as Assertion (A) and the other is
labelled as Reason (R):/ =frer 21 o= fau 7w §

: Weh 3fTRTT (Assertion A) & =0 o forfaa &
Ll g IAH (Reasons R) <hiur ERUR
Assertion (A) : The positive feedback from the
teacher is necessary to_ motivate students./

(A): gt & warTHE
mifsied Wigee ) fommidal & faifite &
& fomr rfETt B B
Reasons (R): Continuous criticism of students
is the best method to make them realize
positive outcomes in  their  pursuit of
knowledge. /&R (R): faenfefzi = wmaw
I AR H T W TEHRH
TRUITH T RedH &l &l Haldw fafr g
In the light of the above statements, choose the
answer from the uptmns§wen below:

ITATH ®HAT & e ¥, Ja v Tu fameat
o |/ Wt IAC FH AT WA

(b)

(c)
(d)
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255. g weaw forads grr gt fonedt avg & e femedt
oo =t favraer gro T g afew @l

arefefir arrmat % s | 2 ¥, e §
(a) Fraa sram (b) fEa weaey
(c) @I W (dy Frfeerd

UGC NTA NET/JRF Shift- 1, Set-07 June 2019
Aqs:[h]ﬂﬁ\mmmﬂmaﬂﬁmﬁﬂﬂ
feer =i fawmer g @ g, afs Fow amEtE
srawal & A & e 3, S e aran 8
256. Given below are two statements, one is labelled

as Assertion A and the other is labelled as

Reason R

Assertion A: In classroom communication,

teachers should acknowledge and take into

account students' views,

Reason R: In a classroom, the probability of

message reception can  be enhanced by

establishing a viewpoint.

In light of the above statements, choose the

corrccl answer from 1hc options given below

3t @A fau T §: v AfhwE (A) S
T 3T T 3T w (R) & Y
aifirhgs  (A): Hem e ¥ ﬁmaﬁ &l
ferenitait % SfrETT F T T IR A
@A ATl
T GR): HET W IR &l T & H9T
TEW ST EWTEAAT &1 AT AT Wl &1
IQH HUAT & AT #, Hrer fu et #
A T I @ wAA St
(a) Ais false but R is true
(A) 319 8, W (R) 6 21
(b) A is true but R is lalse
(A) T 2, T (R) 30 21
(c) Both A and R are truc and R is the correct
explanation of A/(A) 3T (R) &Ml 79 &
(R), (A) F1 Tt =mEn 2|
(d) Both A and R are true but R is I\O'I the
correct explanation of A/{(A) 3t (R) IH T
g 9 (R), (A) T W e T 2
NTA UGC NET/JRF June 2021{26-11-2021 Shift-1)
Ans. (c) : (A) 3 (R) F1 T 8 3 (R), (A) T TE
mmmémﬁwnmmwﬁﬁmm
TRV A & HEAT I TR A G 2
257. The dynamics of classroom interaction can be
effectively managed through/ g
feram =it niforet =1 foRwes omemm @ waTEEEt
2 waid fman o gaan 7
(a) lntqmrcti;%rcrccivcd meanings
BEERIY 1 A T
(b) Language complexity/HmdT &l e
(¢) Repetitive symbolism/QRTa Feiteiur
(d) Verbosity/Semgat
NTA UGC NETARF June 2021(24-11-2021 Shift-1)
Ans. (a) : T2 o UEfis G & S @ @ ™
wl # AT aWe WAlA e W € 36wl
Ft famm wifts UF gommens amm # o+ fawm & 2

wa

258. When in a classroom eommunication, a teacher
shows ability of creativity, correlation and
analysis, it belongs to which eategory of skills?
wan wew H \%ﬁeﬁ T GIATHEAT, WE-
Hagar oft fagemur &t gmar @1 yevia fae
Sroft &1 YT EeTT &7
(a) Thinking skills/Fa=m @

(b) Cxpression skills/#Fe=afs Fgmem

(¢) Media utilization skills/fifear W@ St
(d) Human skills/S=era Siem

NTA UGC NET/IRF Junc 2021(22-11-2021 Shifi-1)

Ans. (a) : F&T HAR T (95 g GoAmEHaT, §8 SaS

i favemor & amm # owEee e Sl @ S

FEAN | e & 6 Rod U Sl S 8 #i

TATS E8R & LA Y 81 A8 TImwn, T, wee

e WA e @ S[E1 w 2

259,

Which of the characteristics in classroom
teaching behaviour as given below will be
classified as a part of formative assessment?_

e | EAER & fow o o &
aram foRm &t TerTaTE geaie & W % WY
o anfigra fergm smgm

(A) The teacher will ask question to elicit
classification from the students
{&;uﬂr;?m W @A & AU anamue e

|

(B) The teacher will specify the_ level of
mastery attained by students/BT GHT WG
o g g & W @ enaus ffifde wem

(C) The teacher pauses for a few seconds, looks
at students and asks questions/ STEATTR
FO dhew & U wwar € fRr ol @
TEEHT IV ToAT E

(D) During the time of presentation the teacher
makes the students understand and
investigates/ & HWHT TS
AT ST T THaTal § T Jie i &

(E) The teacher indicates performance criteria
and given judgmental values/3LATTH
Py fred @t gm owmem §oedn
forufarers oo @ €
Hrat fidt i et B W WA I gt

(a) Only A, B and C/Faa A, B 3T C

(b) Only A, B and D/&8& A, C 3R D

(c) Only B, C and D/&=w B, C 3t D

(d) Only C, D and E/Fg C, D 31 E

UGC NTA NET JRF June 2020 (9 Oct.) Shift-1
Ans. (b) : TS qedid-] o FHand,
. mﬁgmﬁmmmaimf&mmmm
AT
o TR F A FATE TE A SEY FET
AR T =i T &
o IEATE FO GV F foU wE € R on @ dEw

¥ G ¢
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(¢) (C) and (D) only/&ad (C) 3 (D)

(d) (A) and (D) only/&Fae (A) 3R (D)

UGC NTA NET JRF June 2020 (5 Nov.) Shift-1
Ans. (a) : T 7 TEG0T AT 3 &2 7 UROTH I -
I. fafere srEviee sraerl & =g fReau)

11, ferenfelat & &fm aeva 3w fear & ammeE
264.

Which of the following is cssential in classroom
communication?

ey WHEw W Praferiad ¥ W ST Ay §?
(n) Frequent repetition of the message in
different ways/fafim ali=f @ d93w & an-an
T 3 "
(b) Avoiding repetition of the message/Ha9 &
ERCEL
(c) Interrupting the speaker frequently/dH &l
FR-ER A9 A TEH
(d) ﬂvmdmg eye cantact with students/feranfef4f 4
i@ faem 9 =
UGC NTA NET JRF June 2020 (4 Nov.) Shift-1
Ans, (a) : F= TOHEU] A SEAGE fHAl UF YR W
S 330 A7 GUFE HUR F 81 98 39 N &
3TV S WEGH 6 Al Sl A% YA S FIEY S )
i g8 aem-aem A= § an-ar 39 HEW &
G & i feandl weyr & 31 & gue w@edh)
265. Classroom communication involves
e dyaw ¥ frefafes ¥ @ o it 2 2
(i) Listening by learning/31f&m 2171 Al
(i1) Formal If:cturing,!-?aﬂ'fﬁﬂﬁiﬁ ATHA 31
(i11) Informal discussions/F=Tg=nH T=id
(iv) Less imporiance o feedback/¥Iga® & &H
Lk
(v) Explaining/eHIE1 1A
Choose the correct answer from the options
given below :
e fodr o feraedt & wH I T
(a) (i), (i 3-fl((|n) unly;’ﬂ-_cl?ﬂ'{l) (ii) FHI (|||]
(b) (i1), {|||)3T|T(|v) unlyﬂﬁﬁ(n] (iii) 3T (iv)
(e) (), {lll,'l:‘]ﬁ'((v] nnly;ﬁa(u} (1) 3t (V)
(d) (iii), (iv) 3R (v) only/Faa (iii), (iv) AT (v)
UGC NTA NET JRF June 2020 (4 Nov,) Shifi-1
Ans, (c) : T T R § IS AR e @ o
U Gur Whhar €1 98 o9 &l § gefae 2 Hiftgs,
stfEs ot fofam simafs amem, semeafs aefd
T ANATA Hifigeh 49N gRT fhafad fhar < 2|
266. Cognitive dissonance in
communication is the result of/3R&IT

HT=TeTeh TaataT s@aT aiomm g
(a) Filtering of message

wewr & e (fheeftm) swer
(b) Student interest/fammdf i s

(c) Student-based interaction

(d) Chaotie conditions/=af giifefogt
UGC NTA NET JRF June 2020 (17 Oct.) Shift-1

classroom

Ans. (d) : 3TEERER TRREARE] FET GRG0 § SIS
formm w1 uftom @1 Sy o e faan
forgarat o1 gfowmn Fi frafa, favm &9 7 =R T
fofdi sii gfemn oitada @ defm 2

267.

Given below are two statement.

a1 wae foar €
Statement/RIT 1 : Cross communication
promotes teamwork in the class/3m: 'Fﬂiﬂ'ﬂT
HYT T W F AEAT H WeHZT < g
Statement /YT I: Exactness of

communication in a cross cultural settin is
flexible and responsive/3: tﬁ’i'aw

WO W aftyggar e ST sy EE

In light of the above statement, choose the most
appropriate answer from the options given below,

W TE I T
(a) Both statement | and Statement 11 are correct
Fo | SR 11 & WA 7
(b) Both stalement | and slalement 11
incorrect/ &4 [ 3T 11 T e 8
(c) Statement 1 is correct but statement [l is
incorrect/F | R ¥, fFey He 11 e &
(d) Statement 1 is incorrect but statement II 1s
correct/F4A | 0™ 2, T FaF 11 7 71
UGC NTA NET JRF June 2020 (1 Oct.) Shift-11
Ans. (d) : B9 1 3T 8| B T TECEIE:R
Wamﬂnﬁnmﬂmmﬂm‘ﬂqﬁraﬂl%lmﬁ
whm F 7 T F uREs gwg_fn e LECl
e @ A &1 HA: Hikhiaw 9dw § OGHYU o

aRtersar 7= 3 e Bl 8

268. Given below are two slatements:
et & wa fed o -
Statement/SRTA-1: Free and unlimited use of
non verbal c¢lues enhance the communicative
aspects of classroom teaching/3TaTiareh
W Geh Ud i war wem § e &
WHRIUTTATE: UEesT Rl &g
Statement/SH&A-11: The attractive persona of

the teacher enlivens the classroom
environment/ 3TEITUeh <RT

e & ATATETT Y STt g1 AT E

In the light of the above statements, choose the
correct answer from the c?tions.gi\'cn below

dare

oh'
¥ WE I A
(a) Both Statement | and _Statement II are true/
&e [ 3 11 &4 @9 ¢

(b) Both Statements | and Statement II are false/
Fe [ 3R 11 2 T 2

(c) Statement I is Cnrrect but Statement 11 is
false/ F2 | 970 € Tohe 9 11 7o &

(d) Statement [ 1s incorrect but Statement II is
true/F4T | 379 & fig %49 1 78 2

UGC NTA NET JRF June 2020 (9 Oct.) Shift-1
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Ans, (d) : T4 | 3707 2 fog Fa7 (1 7 2

yafes dadl @ qam vd sEfE sdm @ § fw &
TN T & G &) FE T AERr &
TEAAE B9 H Wafad o 81 3§ 3902 HdgR &
=i feran s &)

269. The  consequences of cffective classroom
communication are
HaT | wHgur & Tg giteme §:
(A) Enhanced expectations of teacher, from
students/BTT ¥ INTE Sl T §E

(B) Learning as satisfying pursuili&lﬂm‘ﬂ wafe
A0 & B H

(C) increased promaotional
teachers/3TEATUS & fog

a%rmpcers

¥ Uyt
IaaT

(D) Enabling students to achieve gonls!‘ﬁﬁiﬁ @
wifta & forw o = W ==

(E) Positive  learning  outcomes/Hh{TtHeh
arftnme gferteer

Choose the correct answer from the options

%\gnheluw . )
o2 & fammeat A ¥ wlt 3w g

(a) A, Band Cunly!ﬁﬁﬁ A, B 3k C

(b) B, Cand D only/@aa B, C 3R D

(¢) C, Dand  only/&aa C, D 31 E

(d) B, Dand E only/&a B, D 31 E

UGC NTA NET JRF June 2020 (9 Oct.) Shift-1
Ans, (d) : T e T fewr-afem wome & faw
AFA AT 27 8 A W9 F ag 81 48 -
ey 1w FF § werA A @ @gl o word
[ 3 o g-
- e wafe s & w9
- ol ) wifts & v el &1 w g
- TR AT e

270.

for

®

Which of the following are contributive to
positive influence on teacher-student
communication?

ateaTe- Rredf worur & dew o freafeiea

¥ H -] HHNHE T9E o gne 29 &7

(A) Making assumptions/aT=aman Ffiifer

(B) Limited interaction/diie aiw:fran

(C) Foslering a sense ol belongingncssfﬂ?ﬂ'ﬂﬁ
@ AT FEAT

(D) Acknowledging participation/gfervfirar =1
e AT

(E) Persuasive attitude/3WTareta arfugla

Choose the most appropriate answer form the

options piven below:

At fed o Preredt & i el I P

(2) (A), (B), (C) only/&d (A), (B), (C)

(b) (B), (C), (D) enly/®as (B), (C), (D)

() (C),{D), (E) only/&®az (C), (D), (E)

(d) (A), (D), (E) only/&ae (A), (D), (E)

UGC NTA NET JRF June 2020 (5 Nov.) Shift-11

Ans. () : femid @ g I A
NATgE o € W faafdd # anem & g qem
WEavTT & Faad Zr e famd wom & g b
frs AamEE wwE § aneE B e e-

RO (FEra) &1 =T 331
yfemfmm &1 =ER FEm

WA () afrgfa

271. Dynamics of efficient communication in a

classroom includes

g T FoTer gy 3 frvrgaredi # nfrer §-

1. Teacher centric listening/fnar-af=a
sgaur

2. Promotion of one way action/Tchd{dhl
wHTiaTs @ waran

3. Ignoring students inhibitions/farenfdai =t
straty & FeRiEs wEn

4. Balancing interactive and static elements/

i far awi # dqgea
&
5. Brainstorming proccdureﬁl‘ulﬂ'am withar

6. Understanding  learners  sociometry/
sftrmraratait & aarafifos var @t wugEr

Choose the correct answer from the options
%gn below : - -

faw my faaedt | | vt famew @ ==
HITAT :

(@) I,3and 4/1, 3 3 4
(b) 2,4and 672, 4 3T 6
(¢) I,3and 6/1, 3 3 6
(d) 4, 5and 6/4, 5 3T 6
UGC NTA NET JRF June 2020 (13 Nov.) Shift-11

Ans. (d) : F&T | FIA FOE ORI AR 2 & A
Fan 0 weR fr & afmfem #3571 389 =
T F ARV F TEOETE 7 86 8 T 2 o
s & sfy it weem @R wE &) A ° gea
o & o favrmand fre §-

o fpafafa amnfa)

o i &1 e |

o frEmay shEam

* =g fFams i fom awi | Hge

o finmEata F Twrsnfas o =1 TEEm

® I drEl

o W fFa w1 =i

272, Given below are two statements one is labelled

as Assertion (A) and the other is labelled as
Reason (R).

Ha & wuw fer o F o A @ um @t
stfirama= (A) 3fT gt =i @ (R) =g @ 1
Assertion/3TTaaaT  (A) For impact of
communication, the individual students must be
considered as a product of common cause/H¥EYT
it wmaTiem & fou vwas fmdf & mavas =g
@ T 359 w1 qftum aEn S e
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Reason/@dh (R) : Effective teachers normally

attempt to identify the general characteristics of

learners to communicate with lhl.m."m e

surel feoreren st & @A g gy I

T FAveAsi &1 vEeE S &1 YA a0 6

In the light of the above statements choose the

corrcct answer from the aptions given helow,

HUAT F AR £ ; i

¥ waiftre Iugws I A

(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)/{(A) 3 (R) &1
e & 3R (R), (A) F) T == 7

(b) Both (A) and (R) are truc and (R) is not the
correct explanation of (A)/(A) (R) =41
T 2 W (R), (A) W o a9 8

(¢) (A)is true, but (R) is false/{A) wat % 93] (R)
= T ¢

(d) (A) is false, but (R) is true/(A) T T & W
(R) wEl &

UGC NTA NET JRF Junc 2020 (13 Nov.) Shift-11
Ans, (a) : Hrﬂwmzﬁnmmmaiﬁqwﬁmﬁfem
FavaS &9 U TR0 LYY H GO A e @
wiifes R o fiwe stfumeatsil & @ weim
2 I w favemet # vedm & @ oww a6
¢ 31 sl 3 SR 261 5 ¢ qur Fnor afusas
Fi T = €
273, It is preferable

communication with
t & fFmes W@ ST AT

T HTAT ST AT 62

() Lislening commands/#<07 EICa ALY

(b) Anccdotes/SINAM TR

(c) Unrelated queminnsﬂﬁ'\' - T ¥ 4B ax

(d) Casual comments/3FtgaTie frofirt gm

UGC NTA NET JRF June 2020 (13 Nov.) Shift-11
Ans. (b) : IR W TR GOHEY TP AT A8
ﬁrmhaq@mqwﬁfaéwmmaanaﬁ
UREETT F WA ﬁ?m T & S R awte® A @
T W I d g

to start the classroom

275. Semantic noise in classroom communication
can be limited by avoiding the use of

HETTA ar wiftr femar o
WEAT &, Torees Iqgm W a=rant:

(a) Dialogues/Hda

(b) Cliched jargon/frfi-f5t yesmaelt

(c) Non verhal clues/iTt - & Heha

(d) Multi-media/medl - wifear
UGC NTA NET JRF June 2020 (13 Nov.) Shift-I

Ans. (b) : TE-frdl vEamEe & IUEM ® dEd FETH

wE A s W a i e S aE d

276. Which of the following are useful in
overcoming the communication barriers in a
classroom?
Han # W & stada orail @ W A &
ﬁm Preife o & @ suad §2

. Identilying the level of redundancy
YEEIEe & T &l YR &G
. Use of unfamiliar words
uftfaa Tl & IwEm
3. Ignoring the students vocabulary
ferenfdal & weg-3m1 @t FHEAT
4. Fragmented sentences/@fvee amg
5. Voice inflexion/amft § IaR-97@
6. Conlextualizing the speech
Choose the correct answer from the options
given below
Fr far e fraedi & T T 9RO
(a) 1,2and 3/1, 2 3fT 3
(b) 2,3 and 472, 3 31 4
(c) 3,4and 6/3, 4 31 6
(d) 1,5and6/1, 5 3 6
UGC NTA NET JRF June 2020 (13 Nov.) Shift-I
Ans. (d) : FRI M7 RO FE F wF el
mnwmmﬁrm&ﬁﬂgwmﬁqﬁm
g 3w 21
|, YT & TR T R &
2. awft # IAR-9gE
3, IO FT FWATE T

2]

274. A pood classroom talk should help develop
Ue IW HT Al few Reefta o °
R BT =R ?

(n) Jargonised language/fafeme wr=mEes gm v

(b) Macro criticism/Jed - HTATIAT

(¢) Summary sentences/FR9 Teh

(d) Technology orientation/STaifaT Fp@am
UGC NTA NET JRF June 2020 (13 Nov.) Shift-11

Ans. (c) : T @l 374 HGYEE 2| 98 [Qandar &

I fauri & g #9 #, fEd & smEe-vem

# 3 31 arfinm W faER S0 A weg @ @ e ae

femrt &1 om & faur @1 wugm R TEe i e

FAAT &1 3 FRA, A AR g a9 o ww o

g g TR

277,

The key of active listening by students in g
classroom is BT ShEdm :

T I E

(a) Sympathy towards the teacher

femrs & s werpfa
(b} Interest in informal education
femn o wfa

(¢) Empathetic learning/@&3faa 3t

(d) Desire to memorize/SI000 T T Tw
UGC NTA NET JRF June 2020 (13 Nov.) Shift-1

CG SET 2018 Paper-1

Ans. (c) : Sl W F [0 G T e sada
%nmmuwamﬁmmmmm
T §1 ey st faafddi g wn f wowd wn
# T 1 oM §)

NTA UGC First Paper Planner Volume-2

191

YCT

Scanned with CamScanner



Hrar @ wua T T § faad uw sifusmeas A
afrr gt @t @eh R T T
Assertion/31fWeRyT A Civing orders 1o students

in the classroom _is a  specific. form of
communication/®& # BrET & & HER

fafyre s 21
Reason/@& R : The manner of orders depends
upon the cultural background of the students

involved/3MEw &1 i wfmferm o &
geyfy W frdt w5 2

In light of the above statements, choose the

correct answer from the (E'lions given below
wHA & forifea
T wEl I A

(n) Both A and R arc truc and R is the correct
explanation of A/A 3 R 3 T 2 SRR,
A T\ e 7

(b) Both A and R are true but R is NOT the

correcl explanation of A/A 3T R I W R
T R, A Fi W e @ A

(c) A is true but R is false/A TE & T R W@
T 2

(d) A is (alse bul R is true/A Tdt 7 ¢ 9+ R
e g

UGC NTA NET JRF June 2020 (1 Oct.) Shift-1
Ans. (a) : fIerE 3 o6 & 77 F20 § Ton e i
g oHEl & @Eer W it e ?)1 @ fafas, wfEs g
il & T ¢ T SR, YA A e & w9 A
21 TWET 21 3T T S, EIEMAaﬁ'{EF?ﬁ-RW'31

289. Given below are two statements
gt T fau T §:
Statement/HAT-1: In a classroom, every

teacher has 1o perform the gatekeepin
function/<h8T o anmusE & gRUT

Prearize =T B
Statement/FTT-11: Every any

higher educational institution should act as the
moral custodian of students, hoth mmdc and

outside it/ Toret +ff I=amt Jrarfnes deomer o
yilE nATE & i ud Al 9F o |
T & Afaw afiwers & w0 i w5 @ =

In light of the above statements, choose the
correct answer from the ?tionsgiven below

T T 39 A
(a) Both Statement [ and Statement II
true/FHEF [ 3 112 T8 &)
(b) Both Statement [ and Statement 11
false/®4= 1 3R 11 2% o 21
(c) Statement [ is correct but Statement Il is
false/FHuA-1 979 2, faeg w11 Tam 21
(d) Statement [ is 1nwm:n.l but Statement II is
true/Fe-1 3HE B, e Fa-11 TE B
UGC NTA NET JRF Junc 2020 (30 Sept.) Shift-1

teacher in

arc

are

u .mtlﬂﬁsﬁﬂ@;

Ans. (c) : F-1 W & fofe] Fe-11 T €|
gt Rl o s Ve den § R st @)
oo T T e 7 9 oF & Afas AFREE F w5
¥ & w0 9RT)
290. When communication meets the aims and
objectives of classroom teaching, it becomes.
G HATT frarr & | Sl T T
& @ =E-
(a) Extra-ordinary/3Tammor g S 21
(b) Personal/Aafts &1 9w 21
(c) Functional/&Taia7 1 SIAT €1
(d) Obligatory/aTeae & S & |
UGC NTA NET JRF June 2020 (29 Sept.) Shift-1
Ans. (¢) : ToemT i w1 3R S 39 IR
smfesfier = & e wamm R & 25vEt @ Puife
fof s ) 9 SR HEEY & WIER @ @ a1 96
FaE & o 81 R 3RvE @ wE § e e
3 WAV F IR wa fafdd @ e aw f
s aomu S &9 O Sagiid & gl
291,

Which of the following will make a student a
good listener in the clasernom 2
T ¥ @F-|r oy

T

Teramdf =1 w= 3reoT sitan s=mo

(A) Ability to deflect attention/ta= faesfie
B @ grwar .

(B) Concentration/eT=ehzor

(C) Desire to understand/3TaaTeT @i T0T

(D) Emotional outbursts/HaTTene faese

(E) Humility to know/aT73 weieft frorar

(F) lgnoring the other side@!ﬁ' L G Eﬁaﬂ
oHTAT

Choose the correct answer from the options
given below:

fararea &1 @@= Ffa

(a) A, Band C only/ & @ A, B 3R C

(b) B, Cand D only/<ad B, C 3t D

(c) D, E and F only/dd D, E 3R F

(d) B, C and E only/&ae B, C 3R E

UGC NTA NET JRF June 2020 (25 Sept.) Shift-11

Ans. (d) : F&E IREAW H I faandl & st s
& fon s & -

o SHHRET @

o T & fem famom ER?I,-

o fomrs & wfa werp; aft

o fymmy & W e 59 W, st

292, Given below are two statements
e fou T £

Statement/S9A-1: Personality confliets in a

classroom situation are a_barrier of effective
interaction/SeTTd
aie: feman & fow amres &1
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Statement/SAF-11: Impersonal communication
is invariably considercd the best solution in a
classroom environment/ a:uun

ufterer § gra: waten W W w@we )

In light of the above statements, choose the

e faft v (e Ffen gomm fafy @ e o
farers fafum aiF:framers aFeal &1 wam onl F1 g9m
& fau wwh Az, fogmt @ fed s &1 gwem 2
s zh fomr o ofira vl @60 @ o fammdf @
u fafsea st & faan = 8

correct answer from the options given helow: 393 The concent T T
2 £ % raest . pt "fraction of sclection’ in classroom
ﬂ! i 5 & m u communication is  determined by  the
waifieh ERE expectation of reward related to

(a) Both Statement lu'%r;d Statement I are true/ T 'S & WO SR STEETuT 6T

@ 1 31 & Frattor faer @ defum gfteer &t ardgm gro
(b) Both Statement | and Statement Il are false/ Fran AT

Faa | 3R 113 T A

(c) Statement [ is correct but Statement II is
false/ T2 | Tt @, P T 11 Tt 141 €

(d) Statement | is incorrect bul Statement [1 is
true/FA | T8 T 8, Fi Fa 11w

UGC NTA NET JRF June 2020 (25 Sept.) Shift-1

Any, (¢) ¢ FI-I[ TeW mamﬂnmawwsuﬁuﬂ

g & ﬁtnﬂa‘mmm—wmﬁmﬂ?lm

Fay H TR WOMUI ¥9; Wafq S S 8| R wee

¥ wii & wried g ¢ Rres oftom @sy @ o

aftarm femror-sform sfwan & foo aem @ &)

(a} Efforts needed/3Ma7dsh ¥49H

(b) Reviews needed/3Tayas goiemd

(¢} Pre pressure needed/A99IF: THFRft T

(d) Time-lag needed/3TaTqH TAFM

UGC NTA NET JRF Junc 2020 (25 Sept.) Shift-1

Ans. (a) : T 1954 § fa=r 999 3 ‘994 & W0 @)
sy fawfam & 4 i e § 9w sTavee
Wy I sfafer s 8
295. When communication for educational purpose

tnkes place, the sequence of elements is
wa % - at uewt

293.  Given below are two statements, one is lnbelled
as Assertion A and the other is labelled as W F
Reason R 1. Source/STd
Hr E:;W?‘{Trqf e st (A) e 2. Iincndcra’ﬁﬁ'@?
SR (R) &: ) e 3. Message/avr
A::nl:rntnnmhfﬁﬁii B (k.r\].tlldls llhe rie'spnlljs:huhly 4. Decoder/faETes
of the teacher to make students active listeners )
with the help of different interactive 5. I"t‘edlml:'.kﬂ'ﬁﬁﬁ .
techniques/a% 3TEATUSR R -a‘g (,_hlms; Ithc correct answer from the options
fafirg afm.foroTenres aaflel &Y wETEEn Riven beiow:
Reason/@h  (R) In  teacher-centric S
. (a) 1,2,3, r5 (h) 2,3,4,5, 1
communication, students tend to hecome () 3.4.5 1.2 ) 45213
pRAs ¥o ﬁ"ﬁ““ﬂ“"“’ﬁmﬂm'ﬂ'ai'a_m # UGC NTA NI T JRF June 2020 (24 Sept.) Shift-1
. Ans, (n) : PO ST Sfean o s SEeEqel
In light of the above statements, choose the BT §1 S T WA Sl e R
correct answer. from the options given below; i ! tq e
Euﬁ%muﬁrﬁ%ﬁmﬁﬁ WO T, TS A S A A o guh
¥ wafirs 3o = et wzal & s el sdeE &g R g S
(a) Both A and R are correct and R is the correel A HEIHO AT e E
explanation of A/(A) 3 (R) 241 et € afrz||- WM
(R), (A) I Be = ¢ - g2 W
(b) Both A and R are correct but R is NOT the | |- ¥=31
correct explanation of A/(A) 3R (R) gl 9el | |- fagres
# 3R (R), (A) 3 T o 78 ¢ R
(c) ‘;ﬁ“(‘;’}':&; ;‘_E;l;? is not correct/(A) Tl & 296. A teacher who  encourages  students
participation in communication will ensure
(d) A is not correet but R is correcl/(A) T8 741 & u Rrnfdat
T (R) T 8 T aren s frefatee § @ 5 gfm
UGC NTA NET JRF June 2020 (25 Sept.) Shift-1 T
Ans. (a) : FTA AR Th T WG € AU W HAwHAA 1. Opposite views/ Tt faem

# wh =we ¢ fmm A wde wefam fafy s
fafir 21

2. Self-esteem/ATH-THTT
3. Class performance/SRgT u mh
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4. Professional development/gfoe faamma
5. Binary distractions/fg=rt frgmdur

Choose the correct answer from the options
given below:
Wit frmhew = = S
(a) 1,2and 3 nnly,’ﬂﬁlﬁ [, 233
(b 1, 3.md5cm]yﬁlﬁﬂ [,33Rs
(c) 2,3 and 4 only/@ae 2, 3 3 4
(d) l,-iﬂnLISonIy!erTE-‘l I, 4 35
UGC NTA NET JRF June 2020 (24 Sept.) Shift-1
Ans. (c) : o0 ¥ foafdat @ agitar @ e
F ae fowe ano-mmE, Fa § vty s gfes
e gfem w2
297. Classroom communication is :
T — He TG Frav T
A. Goal-oriented/@ed-37{@
B. Style-centric/Sten-Hizm
C. Collaborative/FgaTHS
D. Vertical/&tafy
E. Non-rhetorical/f-aeiga
Choose the correct answer from the options
given below :

—_—

(a) Aand B only/&ad A 3T B
(b) B and D only/&=@ B 3 D
() Aand C only!'ulﬁ_'l A3t C
(d) D and E only/&= D 3R E
UGC NTA NET JRF June 2020 (24 Sept.) Shift-11
Ans. (c) : FAT TG MTIE (UM WUTE! ST
;mmmmémmaﬂaamm
WY-Mg FA, A9H, AT, [Ferm R g
sl a1 e @ #)

298. Given below are two statements, one is labelled
as Assertion (A) and the other is labelled as
Reason (R)

<t @ae fen T ¥ ;U arfirsmee (A) 3l
T T (R) € :
Assertion/3TTEReT (A)

fester will coniribute to elfective

communication WO H "I
warelt g § Tgraer et §
Reason/d& (R) : A good communicator will

address an issne in Lhe classroom before it
becomes precarious/Teh e

T
T wuEn & IRt B 9§ URel ST
TOTHTT ST

In light of the above statements, choose the

correct answer from the options given below :
IqLTH HAAT H INEAH 5 ﬁﬁl% feraeat o

W Wit I A

: Allowing an issue to

(b) Both (A) and (R) are true and (R] is Eh{_.;_
correct explanation of (A)/(A) 3 (R) @l
od € 3t (R), (A) B T e w9 P
(¢) (A) is true but (R) is false/(A) |&l 4 r?h_-\;[
(R) e 81
(d) (A) is false but (R) is true/(A) 7a7 @ feg
(R) T 21
UGC NTA NET JRF June 2020 (24 Sept.) Shift-11
Ans. (d) : FFFTT T 21 A2 o T faRrE g
2 S o S s A 81 %%y wemer § ann
% &9 4 &4 6@ 2
299. fretenEd 0§ hY (Hald &1 Sem Suuu ut
T fema s wae 7
(a) wfee toAmar & fag
(b) =i Heidim fagin
(¢) IElF fagi
(d) s & fagt
UGC NTA NET 2019 Shift-11 (6.12.2019) Set-10
Ans. (a) : TG T9AEE & fEEE @1 Gume ©@
an fFn o mww @ wmfE weR e e
dia @ s fasi @, mﬂawmé%aﬂaﬁ
arafawa @ Afoet it dadi ok feievm Em
wfrg &9 § 79 ™ 2
Al e & FEiE f AgER g AW @
wforan # wroer wmfterd % wmem o Wt fEar s d, @
& @@ @ TRl & s 9 A akfiafrdi §
Terg AT I T AW A B e 8
300, HAT TUHT §—
(a) T FFE WA & T
(b) mmm

Frafafes # @ vl R -
(a) (a) 31 (c) (b) (b) 3T (c)
() (b) # () (d) (c) 3 (d)
UGC NTA NET 2019 Shift-1 (6.12.2019) Set-9
Ans. (d) : mwm(mmﬂmw
FERE w &1 4 FnE § R gee @
S ST A v A T a e ¢ an fremf 5
FTEA B B F wmmol A freiated sEfoa
frgramnd &-
i, TR WU U M 96 2
i, @ awE SR § g ar R qur s
T IMETEE T 2
iii, TR WY GEATE g 2
iv. FBm A fewor e aEve g |
v. T Fevayel afear 21
vi. MU UF HAETIAE aar gt SoTel 21

(a) Both (A) and (R) are truc and R is the correct [ 301, TA=feriad o & UH aTth ol (T [THaET HET
explanation of A/(A) 3l (R) & &@l & &R ¥ e, Wi faf of arfrents vee W

(R), (A) T Tt = T 21 itk ot Prisw g &
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Ans :(d) T TOHA FOA T TIEE G N0 @A TeT
T &9 o Rwrdt 7% W s & v S o8 Wmm S
R 3 -y, R am At ww o e S
# I fG wF e A E 20§ anma
\ﬁmﬁiaﬁﬁmaﬁmmmu
(a) Fremearaw wEfaal, (b) TeRfos 2aer
(c) ufters

338, Internal cues of non-verbal behaviour in the

classroom help dingnose:

T H agR & it dWehda

foraes e o wgTaaT o d §7

(2) Inter-personal dynamics /

3t

Spatial proximation /TS T

Mass beliefs /SF1-3TRI+4 AHEATG,

Student movement /21 Tfafaly

UGC NET/IRF Shift - 2, set-10 22 Dec 2018

Ans i(n) T TN TRl F AAEA (G0, @RI aTgen

et e gfem fo & gro A @ A e st

TR Fed ¢1 Fon § AfEE HaER & Al wehd

Si-dafarE nfreer & frem § e & )

339, Assertion (A) Classroom  communication
behaviours imply making the contents relevant.
Reason (R): It is none of the functions of
teachers to make students organise information

for effective interaction,
afiusmaa (A) : M W g w=n
TR AT TagT | g §1
weh (R): U forgret @ wanrd i & TR &
farenfifat g wareft afa: frar &t gfe @ Q=T
i SartE A
(a) Both (A) and (R) arc true.
(A) & (R) EHT Wl 7
(b) Both (A) and (R) are true, but (R) is not the
correct explanation of (A). /(A) R (R) =11
el & ad1 (R), (A) & &8 sven T8 8
{c) (A)istrue, but (R} is [alse.
(A) @l 2, 9% (R) e 4
(d)y (A)is false, but (R} is true.
(A) e &, T (R) W2
UGC NET/IRF Shift - 2, set-10 22 Dec 2018
Ans (c)ﬁwaﬂﬂﬂmﬁiﬁmmw
wamﬂﬁfaaélnaaxﬁiraaa:(m{ﬂfm é
Hife T F T weEyy o f §
Frafddi 3 fo s S, B T w8 20
mﬁ(klmémﬁmzﬁlﬁruﬁﬁmr&aﬁé
& @ wh go @1 oaftan 3 o8 90 @ Ivem F0d,
fererdf s & Wik o Ry o swifae &5 @)
340. Non-verbal communication is considered :
TR |IAT AT §—
(a) Precise / T2
(b) Informal / STETE
(¢) Formal / =it
(d) Culture-free / ﬁﬁﬁ-ﬂfﬁ
UGC NETAIRT Shift - 1, set-9 22 Dec- 2018

(b)
(c)
(d)

é

Ans, (b) : & 9 Wi mem sonfed W A
NILES 'n'l?l i" St oA A fefga o 7 & difegs = i
o ¢ Wn, gE-umE, yE-dfmm s srnfEs
gulgu & IeRT §) rwnfEE wOee g aEITaRE
T S 2
341. Nepative criticism as an clement of classroom
communication will lead to :
wa F UE USH & WY W TRAS
arreirer Prfafae # & e o 3=pa grit?
External sympathy / =Tal T@Hf
Justification /
Delensiveness / ==
De-motivation / ST
Supportive listening / TS S
6. Confrontational empathy / Z&aqe] THREYF
Code :
(a) (2),(3)and (4) (b) (3), (4) and (5)
(c) (4),(5)and (6) (d)y (1), (2yand (3)
UGC NET/IRF Shift - 1, set-9 22 Dece- 2018
Ans. (n) : TE TNV F UF U2F & &9 U ARG
e A # 3R =g anf-
(2) 3ifem,  (3) 79, (4) THAW
342, In the digital era, there is a fear that classroom
communication may result in :
T, 9% Wg & §I0 & O waw
TG T TRUTH § WehaT §?
(a) Stimulation / ST
(b) Over-stimulation / 37fsreT
(¢) Quick adaptation 7 ¥ 3T FeA
(d) Passive adaptation / fAfssa I
UGC NETAIRF Shift - 1, set-9 22 Dec- 2018
Ans. (b) : fefsma qn & @g wa T ¢ f& @ wwmwo
1 R s @ gEa @) W aes i
TR & T I @ Al 3R A g W g
I 4 e R Emt W oo wEe 8 et
s ViR, TeeET ofidy wite §) seaeie dane
T I AT AR & FRE § A UF g
343. Which of following s a powerl’ul

determinant for cffective assertive
cnmmumcatmn whether written or spoken?

T g |, S fafea o afas '

o R, & fem !nmﬁ faufes frefefas o &

w-11 &7

(a) 'You' messages / Tl e arer

(b) "We' messages / ‘8 EENEC Il

(c) 'They' messages / ‘g' dew aren

(d) 'I' messages / ‘F wER Aen

UGC NET/JRF Shift - 2, set-2 18 Dec- 2018

Ans. (d) : "I €< Tl N9 SBE G, o At
T qifeas B9 ¥ @, & fow waE fuie @) fafae
oMy § gy fogd aren S weel @ &1 9% 3T
o, wesimor 9 v 6 WA & ¢

e

the
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344, Which of the following constitute the

paralanguage in communication? Select from
the code to indicate your answer.
o F= aw

W YT e
£? faw o e # A s I @
(1) Pitch of the voice / afA &1 ITR-a7@
(2) Internal noise / 3T TR
(3) External noise / =g R
(4) Use of pauses / fereit 1 ITEm

(5) Rate and volume of speech
anft = 3R F=Em
Code: 7/ T2 :
() (1), (2)and (3) (b) {2), (3) and (4)
(¢) (1), (3)and (5) (dy (1), (4) and (5)
UGC NET/AIRF Shift - 2, set-2 18 Dec- 2018
Ans, (d) : WYE o Of aTReRE WO @ US A9
ey 81 W A Oies TER a1 St S g
T €1 Wi ¥ i YR o € SAfE ured oy srenfeE
o &1 Fritrg e i s en 8-
(1) @f = IFr-a5E
(4) faust =1 Iw@m
(5) @i = IR FEemr
345,

In communicating in a classroom situation
which one of the following approaches will be

considered most appropriate?
wHane  ufiftafy o W AN
frefafaa © ¥ @aF-8 I @ waifte
IqgE WA AT &7
(a) Assertive and conformist/5s Ud HTHYHS
(b) Teehnical and domineering
LEEicARC R DR e A [
(c) Personal and emulative/fsft T 31':]"&'("13#!
(d) Empathetic and pragmatic
L1 b H,_a Hﬁﬁﬂ'ﬂﬁﬁ
UGC NETAIRE Shift - 2, set-2 18 Dec- 2018
Ans, (d) : T GRAfq 7 WS @A TR AEi
pebCisccicilic Lelic e Rr e I e i ]
I ¥ sl gER A Zhl % fa=d § 5w
@maqum?fﬁm ATl A AR o ST
Bl 1 WASHAE IUMW & ST N S el @ me
aa%'mmqmnﬁmwm vamrmaﬁr
YT T R T dEiE IR & Sl 'EH

340.

Feedback makes the classroom communication
process :

wﬁg&mmnﬁmmaﬁmt
(a) Lincar/ &
(b) Circular / FHg
(¢) Complete / qof
(d) Tnteractive / 37 FFaTeT®
(¢) Disorganised / 3r8Tfa
e .
(n) (b), (c) 3 (d) (b) (c), (d) 3T (e)
() (d),(e}3M (a)  (d) (e), (a) 3 (b)
UGC NET/AIRF Shift - 8, set-1 21 Dee- 2018

Ans. (1) : 39 gie ¥ FE-97a #1 S| @ A A
7 frdh 7 fml w9 4 wEn & @ @ o & wm
HiE T8 TES UF NoRar e afew Sfgw F aAframw
& womur & s i Frafafan oig T ey § s
T wE § T i

(1) |PIF (Sender)

(2) @ @M FEA (Message)

(3) = @1 mregw 41 fafd (Medium)

(4) =1 WA (Receiver)

(5) ¥ @1 Y9 (Feedback)
vigfe @ @i sfEm @ gdm, pioek
ar: e T 2
347.

[conic production of classroom communication
includes :

YT WOITUT & FTEy! Wl ¥ it g &

(a) 'l'ul::plunlcfé.?ﬂm‘l'-l (b) E-mail / E-7re

(¢} Graphies / AR (d) Scripting / fGRET

UGC NETAIRF Shift - 8, set-1 21 Dec- 2018

Ans. (c) : FRI-TOAV & STEY WA 0 WA e
&M 8wy # = #f ferg @ ¥ mieas o0
399 WY @l wd § o e dER, FUg, @, e,
FGEL BEA A A W@ W AW, TARSH, T,
witeyfa, wewm @1 o foft g § &= T A
348.

The primary bases of inter-personal power in
relation to classroom communication are :

HAT AW & WA W At
& yrafires ama §-

(a) Cocrcive power / 3/@de®
(b) Reward power / JGR 91T
(c) Referent power / NIEYF W
(d) Legitimate power / 94 wif
(e) Recreational power/ AT e
e

(a) (a) 3R (c)

(b) (n), (o) 3T (c)

(c) (b), (d) 3R (e)

(d) (n), (b), (c) 3R (d)

UGC NET/ARFE Shift - 8, set-1 21 Dec- 2018
Ans. (d) : T2 TG F AT IATIH-OF TG
IE-BT WHEY G N E, AR WHEY IS
& &1 Fem WM & W ¥ e dafis vie &

i anuR 7 8-
(a) rdres wifEm (b) GUERR wifE
(c) YA i (d) 9y wifF
349. Assertion (A) : Making good predictions in

elassroom communication may
become difficult,

: e Whwwr ¥ aremy gaigAe
AT ahfe= gt S

It happens when interactions
with students takes place at

AfweT (A)

Reason (R):

superficial level,
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H (R) : qF IW WWG T O W=
Rrenfiat & wo AT A
T T e B

Code : T2 :

(a) Both (A) and (R] are true,
(A) 31T (R) &1 =t €1
(b) Both {A) and (R) are true, but (R) is not the
cnrrt.ct C\cplalmtmn of [A)
(A) 3R (R) S =2 €, 9w (R), (A) & &R
e T8 ¢
(¢) (A)is true, but (R) s false,
(A) T &, W (R) e 21
(d) (A) is lalse, but (R) is true,
(A) T 8, T (R) T R
UGC NET/IRF Shift - 8, set-1 21 Dec- 2018
Ans. (a) : ﬁmma:ﬁﬁm [A}hﬁ?&nmn areat
yaigea e EfE @ s, w8, der suf i
T WU & I & fau 5% o & I
IAA AT FEA & 2
o € & (R) % 9% 3w wwg g & o faaidE &
Y TG W TR W a2, ot 7 & e
JO Wi SRS W)W AR 8 Al A aeem &
ar # qafm we wfEA dm @) we @ Fa (A)
3T 7 (R) &1 H/el 81
350.

It is estimated that the meaning derived by the
students from non-verbal communication in
relation to verbal communication is ... more.

g I AT T § fE L
foerren war s1d ynfiges WO & @RI °
arfireh grav §

(a) 1/3 (b)y 2/3

(c) /6 (dy 2/7

UGC NET/JRF Shift - 8, set-1 21 Dec- 2018

Ans, (b) : 9@ M wEl T @ (6 fEandd W
o mar e o gemer & oweew st
qem § 2/3 i g 21 i wem & ey |
W EATE T SAE W Al @ (o w8 et &
A WHF 3 T 8 S g9 ey off g g
8, gefifere 38 srenfeees Woiwor § ITEA WHF S #
351, Signs are considered as secondary products of ;

n'srcr mmm}tp—

(a) Message / HeEw F

(b) Channelisation / wreaw famfoy

(¢) Semantic accuracy ¥d FI WA &

(a) Intra-personal communication
3T qrEa
(b) Inter-personal communication
I T
(¢) Organisational communication
HZATHS: THgI
(d) Mass communication / FTHER
UGC NET/AIRF Shift - 2, set-6 20 Dec- 2018
Ans, (b) : R-dAfaF TOMU & A FEN 0 UH
oM T oA § W fand a9 on & v war wifim
e st &1 sfm-afrrrm @1 e % watfo fmm
a1 YR fa wg swEfus wed €1 s A
B AR A T A § ) R wee
TR U SR-AETEE WA A S A g
353. Classroom speech is considered s a ¢
THHTTA WEATAUT Thi ST /AT AT &7
(a) Technical medium / THARR ATEH
(b) Non-technical medium / TR-Ta=0 Amem
(c) Mass medium / 9 ATEAH
(d) Unorganised medium / 3mfaa A
UGC NET/JIRF Shift - 2, set-6 20 Dec- 2018
Ans. (b) : TG AU & T-AdAT AT W=7 Sl
¢ 50 Tl § w3 BT 4 WA Wewer T gl
& i il 8 Ue-gE & WITEA S € ) I e
o dfsA g Wey) oF Hwa fafEl s eni @
HATEHTH, T, A uE s & e
T & W E
354.

In a classroom, communication becomes

effective when participants are :

T g 1 ¢ afy whramfi-

(1) Aclive / TfFg

(2) Empathetic / TR &

(3) Heterophilous / famfe &

(4) Homophilous / Fwft &

(5) Silent/ & G

(6) Uncritical / 989 &7 U AT 1 8

Code: 7 5T :

(@) (1),(2),(3)and (4) (b) (2),(3) (4} and (5)

(c) (1), (2) and (4) {d) (3),(5) and (6)

UGC NET/JRF Shift - 2, set-6 20 Dec- 2018

Ans. () : WHE & G2 F9El @A el AT & 06
YHE oA WA W Tl & I WER e &
FUE HH S WA @ Sl g ufE efd @ e
W96 Big ®eh, HUA IE99 &1 Wiftd & §eh | T Fan

(d) Infotainment / FET 3R TR & OIS el € @ Aty whrd-
UGC NET/IRF Shift - 2, set-6 20 Dee- 2018 | | (15T & (2) FATfaTE @ (4) Tferh &)
Ans, (b) e &1 qrege fEiv &1 [di9 392 21 S| [ 355, The information seeking strategies of students
3 g v A s § R e we & are : / BT @ GIAT TR HA W
Y WUl IrAE W 1 WA W 8 Bt §—
352, The relational approach in classroom (1) Entropy-oriented / Feilaa-37@
communication comes from : (2) Overt/ T8
HEATTA o wrETeEre ST ey (3) Non-functional / STl
BT 82 (4) Indirect / 31T
NTA UGC First Paper Planner Yolume-2 205 YCT
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(5) Third party / TT9

(6) Testing / Fdwgor

Code: /e :

(a) (1),(2),(4)and (5) (b} (2), (3),(5) and (6)

(c) (2),(4),(5)and (6) (d) (1), (2),(3)and (6)
UGC NETARE Shilt - 2, set-6 20 Dee- 2018

(a) Information power /U AT Wk F TE
(b) Non- Pervasive  communicalion/U%  37=dT
T & e
(c) Limited Judgemenv/Ts wifim fofa i me
(d) Cultural capital/U& \iEgfis Y Fi TE
CG SET 2013 Paper-l

Ans.(c):iﬁf'ﬂﬁﬁﬂ'mmmiﬂﬁfdﬂﬁﬁﬂi—
(2) e
(4) SHHER]
(5) Tia
(6) glteror

356, In classroom communication
considered : / THATTT FEHGUT h‘

T T &2
(n) Supporting evidence / e A
(b) Unwanted information / 3%aifea ==
(¢) Control devices / fAEaoT IqEHT
(d) Attention-breakers / ¥ ¥ FT1 A
UGC NETHIRF Shift - 2, set-4 19 Dec 2018
Ans, (a) : TR TSV 9 QGYY & AU4E TR FO
S 2 Wmmaxmhﬁﬁ%qm"rﬂ?miﬁmn
T TG AT & | FAT T 5 awfﬁ HIFYaH
& WA U T YT WAl § g UM & ST
AT T R
357. Effective classroom communication ought to be:
eI AT BT AMRT
() sympathetic /HRTfASTS

(b) empathetic/ TEgfisH=
(¢) apathetic/ freramEsTTS

(d) pathetic/ FHEUTSHS

Hml]ﬂ[.,ll;‘s are

WEYa &t &

CG SET 2018 Paper-1

Ans, (b) : TN FEIFR FAR E AN ARl
AT =Ry

T - g TR I WA E S A I
FEH A aEgf @ g Fed
Teryfd - wery 'c}‘l It F ‘sympathy’
TA AAES aE @) e mieEs o
& Wy sva Fe
358, Classroom Communication is not related to :

HATFHY TR T frad ety 7t § ?

(a) Interpersonal Communication /3Tdgfe TR

(b) Interpersonal Communication / 7 HTOR

(¢) Public Communication /Ada# Hem

(d) None of the above/ 39w & @ +ff =&

CG SET 2018 Paper-1

Ans. (a) : TR TAE 1 T gt daR 7@ 21
T AR - 4% 98 HAR & o on o e & 9 dm g
» T FHIM Wl WA ETT 8§, 3IWegE Wan A
o T3 St 3 s & da g
o O A 99 %0 @ W § U g geR ey 8
359,

?Eﬂﬁ’b'l

The ecommunicated knowledge in a classroom is

T A GHAT TN & WA A 8, UF
@ﬂaﬁm*lwq&mm&wmaawn
i dufea am T wHod TeEE & e we e )
n@fﬁzﬁfﬁmﬁqmnmﬂyﬁmwmé—

ofafem, awqwa it Hremm)
360. ﬁﬁf’@aﬂﬁwwmmaﬁ
Targraar £

Ans, (d) :

(a) ¥R (b) Frdrs=
(c) 9z ¥ (d) TSI 39
HPPSC SET 2020
Ans. (b) : A Sl Fan FER I qEF favmea d)

ﬁammmmuﬂﬂﬁmqmmammm
fuffa far s o 3 Fx o @nd @t @& fn S,
e wmg =, w5 1 S R S, R e
wam g s senfs)
qmwmamﬂmaﬁmfaﬁwr{mmif—
. Femnfelt & sfa der @)
2 fra-ar & Wi w0 3wl TEdER & OO
FE F T ST F
3T F WEY [EAEA s v faad sfk
IEUTNET F1 TECA O 3 36 T W A ol Jens |

QHTEt HUUUT i AT
(Barriers to Effective
Communication)

361.

Given below are two statements, one is labelled
as Assertion. A_and the other is labelled as
Reason a1 HUF fem @ £ T

AT B9 W T gET IFE S R & wW H:
Assertion A : Being judgemental on the part of a
teacher 1s a barrier to Lummumwllun

TR A ; WS & T | T = e g
F UF AR |

Reason R : For effective learning outcomes, the
teacher should expose the ignorance of students.

HAU R : Y e ofomy & Ao fimes @
ferenfdi & wem F1 wFe &0 iR

In light of the above statements, choose the
correct answer from the tgninm: given helow:
wHUAr T feu fareeat

W W& I =G B
(a) Both A and R are 3#;.

explanation of Am
(b) Both A and R are true but R is not the correct

and R is lh
R T W

cc-rrl.l.l

A wet = 8

considered as ; explanation of A/A 3R R 3 ¥ @ 9 R,
T W WU 71 T WA A AT T =T T 2
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(c) Ais truc but R is false/A T § T R 370 &
(d) Ais false but R is lrueMaT-HETi! R‘F[EI%
NTA UGC NET/IRF June 2021(04- 1]]-2[!22 Shift-11)

(¢} Curiosity/Ic
(d) Eye-contact/@#- -dus
NTA UGC NET/JRF June 11]2]{27 12-2021 Shift-11)

Ans. (c) : [V & % ¥ T &7 o HWGU @ UH

mméluaaf#amméﬁﬁ?ﬁmwwwﬁ

it st arfm ufom & fav fews & foenfdar &

&M F: FEe T R O afew IE wEm F

foraReor #f WA N Oifeu AT sVEEE wE @ A

TR 37 8| Fule e (o) 7 2

362. In communication, semantic barrier refers to:
T, VIeTe A e Wit &7

(a) Denotative meaning/T&Td

(b) Varied connotations/fafay g

{c) Truth/&d

(d) Singular meaning/Ta 314 aren

NTAUGC NET/IRF June 2021{(04-01-2022 Shift-11)

Ans. () : TEE0 0 EUYE W G FIGH & o HYE0 @)
yrEeierd | e 3ea g & an el i w@Ew ww
mm:rummfmwﬁ:ﬁuagmm
mﬁmmwaammﬂamm@mw

TR S e T a3 0 R

366. In  communication, a  major
rcccptmn of a message is

FEIT TR Y e g
(1) Adtitude of listeners/STATS @t mﬁwqt%r
(b) Education of listeners/sitasit @ fmn
{c} Education of listeners/4TAait & amg
(d) Knowledge of listeners/siidiaf & FH
NTA UGC NETAIRF June 2021(27-12-2021 Shift-1)

barrier to

Ans. (b) : vr=Ed A vEEl & fafie el e d@ER o
MM U & a5 WAiE & SR 309 el arel
Yo 3R WOH F U Tomwed & waff & 8
dimur #, v an fafgy wgend @ wEfve 21 o
foreq (b) 74 B

363. Which of the following is a physical/

environmental barrier to communication?

P& we wd & fog

wferer Aararatia amr §7?

(a) Culture/G&Hfa

(b) Personality/=fwe=

(¢) Power/authority/ael/ SifeR

(d) Time/Aaw g

NTA UGC NET/ARF June 2021(04-01-2022 Shift-1)
Ans(d}lmm:r ﬁwmmﬁwﬁ
W1 R T W a2 1w § us ofifas

T A7 WE R T T UF a A w5 e 0 2
feifeifaa o ifew ad 2-

364, makes

Which one of the following
communication ineffective? /

o AT @t Freraredt = 2 §?

(a) Ambiguily/3TEEET (b) Brevity/HE

(c) Clarity/&edl (d) Sincerity/frveam

NTA UGC NET/IRF June 2021(27-12-2021 Shift-11)
Ans, (a) : TG0 T AGRAT | SAFEH 3R e wem
# frewr &t Zd €1 fRE w fawedt o @ wiferan,
o 3R frveem wHem F1 N T § W #RE
gid &1 gl dien fawen “aredE” wimm @ P
T 2 ¢ FifE WEm F Tt SeE g 9 T HEw
H e @1 U @ W AT, S & &9 ue
TE TR F WY wY A T A wEmi

365, Which one of the following is not a barrier

Ans, (a) : GY9U1 , U NG @y 98 ¢ o W97 SiRAT @l
Mﬁmnmilwﬁﬁmmﬁmwﬁéﬁn
A P e O o e e 1)

367. Identify the sequence of cultural barriers in
communication as listed by experts;
BT i wigfos
iRl & WET T i TgATAT;
1. I\‘Iethuds of conflict resolution
2. l!ilferonﬂ- in tolerance of conflicts
3. Semantic/3d-fagm
4. Tone difference/m@a3-Tirsar
5. Word connotation/JTeg atfimem
Chaoose the correct answer from the options
given below/=T=r fgu U i I
©hl U+
(a) 1,3,5,4,2 (b) 3,5,4,2,1
(c) 4,2,3. 1,5 (d) 5,1,2,3,4
NTA UGC NET/JRF June 2021(26-12-2021 Shift-11)
Ans. (b) : TUT TOOEF 9 FRF ¢ o1 TUEO &
mﬁmnmmmmammﬁwmm
o e § g d favmd g gdes @ A
TiEg® TR w7 T w g
=Y fagm
== Hique
= fozm
it 3 Wt i fir
—THy Tjﬁ?ﬂﬁ i vl
368. Muatch List-I with List-11.
List-1 List-I1

Communication barriers Examples

variable In communication® A. Psychologicall. Use of technical
fProfafes ST ) language
iy ¥R B AT B. Organisational 2. Poor retention
(a) qll"1dtem C. Personal 3. Functional
(b) Culture/H&Hf specialisation
207 YCT
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D. Semantic 4, Fear of challenge
to authority

Choose the correct answer from the options

(¢) (A)-(1D), (B)-(1V), (C)-(I), (D)-(11)
(d) (A)-(D), (B)-(11), (C)-(1V}), (D)-(11T)
NTA UGC_NET/IRF June 2021(04-12-2021 Shift-11)

given below: Ans. (h) :
qﬁ-gﬁaﬁ-llﬁgﬁm% . T ==
: i : ~ worgur i amemd feraor
( ) (F=T&T) A. T . |mmaw § g
A. TAtdFTE |. AeTal  WTET | — L : 5, Toi
wanT B. |3mdf () =@ X, [smardt aremaar
B.Wﬁﬁ? 2. ﬁqm(w C. Hdldqﬂﬁ—nﬁﬁ I11. qu
i) D. |Frefa= IV, | 3= ) fefd
C. fafwms 3. WeRTate® 370. Power and status are said to cause
farfmdfe barricrs ingn%municatm. e
D. yrered 4. Wit @ e ET wiw afir dftwm wom # a5
A G IeTT & §7
i ﬁﬁifﬁﬁmmqﬁq (a) 'I'calmnlng_icaliﬂ’lﬂﬁﬁﬁ'ﬁ
:aq::q c D (b) Cutturalfa[@ﬁaa
(@1 2 3 4 (¢) Physical/ =
2 3 4 | (d) Semantic/Ir=Td-Haift
()3 4 1 2 NTA UGC I‘\JE'I'I.IRF.Iunc 2021(30-11-2021 Shift-1)
4 1 2 3 Ans. (d) : I 3 1997 ¥Ev TR 0 y=rd wa)
NTA UGC NET/JRF June 2021(26-12-2021 Shift-I) Y I T !E."Pl 3T e (d) T él
Ans. (b) &l AT o | L& 371. In communication, cross-cultural barrier refers to:
i1 -1 ot i .
( FHUT e ) (SETET) (a) General human values/STT=T ﬂ'l?{l’& T
(b) Perceptions of people/eilTl & 2@y
(A) TR 4. |F= s (R (c) Physical entities/lfeis &
(d) Sincerity of speaker
fZwm) d) Sincerity of speaker /@ @ TS
(B) TS 3. | wEEes AR NTA UGC NET/JRF June 2021(29-11-2021 Shift-11)
(C) 9afta 2. | wifeER @ g a1 g || |Ans. (b) @ TG H O WEGHTE FE Ao SEwy
(D) vr=rd I | oo o e || [ SRR @1 wSmM &1 qRwieps sEdy @ §
369, Match List T with List 11 urgfids gy wd wfgard & foa dm 21 A
geft-13 W geft-11 w1 e gw i qEme e w0 v g e @
List-17aeh-1 List-17g=h-11 FR U AW A H S IO A e
Barriers in Description/f@uT  |372. Match List I with List 11
Communication/ wEft-1 =l weft-11 w gﬁfﬁﬁ ity
List-1/g<it-1 List-11/g=i-11
A. |Channel noise/| L. |State ol disorder/ o gy
B Raf Types ol noise in Characteristic Feature/
b kil communication/
B. |Semantic noise/| 1L |Dillerence in i & W
s @ perceptio A A. |Physical/STiR& | 1. |barriers within the
F sender or receiver/
C. [Psychological  [I11. [Language disorder/ U9 A1 WUl &
noise. S e Y
pS B. Physiologicalﬂ'{ﬂ{ II. |Wandering
D. |Entropy/fSifam [1V. [Interference  with PR thoughts/STUTEie
the medium/HregH | =
Sk C. |Psychological/ I1l. {Use of jargon/
Choose the correct answer from the options LEUCRIEED m' &l
given below feu Mo I LRIl
@ TG i D. |Semantic/¥=4 | 1V.|Mechanical
() (A)-(IL), (B)-(LL1), (C)-(1), (D)-(1V) ferm distortion/aiF
(b) (A)-(IV), (B)-(IIT), (C)-(11), (D)~(I) e
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Choose the correct answer from the options
given below:
fo T fremedt # | W I GO

(a) A-IV,B-1,C-II, DI

(b) A-ILLB-ILC-NLD-IV

(e) A-IILB-IV,C-1,D -

(d) A-ILB-1W, C-IV,D -

NTA UGC NETURE June 2021(28-11-2021 Shift-1)

(c) I|u.'u|1livcf5|TU1TFl§Fn"

(d) Individual/&fEma

NTA UGC NET/JRF June 2021(26-11-2021 Shift-11)
Ans. (d) : Foeoy i ¢ E$WHE§W"WEﬁF’Iﬁ
3Ty él wifrma sy § SfieR & L IECi]
qﬁﬁw.mm?iﬁﬁmﬁmﬁﬁaﬁmaﬁaﬁ
BT ) il A 2

Ans. (n) : G&I & T oA feem g- 376. Which one of the following is an example of a
-1 -1 lerhnnlng&cnl barrier in communication?
it aifae fawaur WA W TH
iR forams S AT AFUTEAN o M ST wireifiTtar v o Jere &7
ECC I e yarsier faremt (a) Conmplexity of ideas/ @i Ft wfewm
yr=1d fasm fafre-w=mEet = A (b) Low bandwidth ol internet
373, The  main  challenges  of  prapevine ; % et -
communication are: (¢) Personal attitude towards technology
TewaTg o @ ged et §7 sitaifiE & sf sifigfa
A. Its formal nature/Z@an sfrrefte v (d) Physical locations of communicators
B. Distortion/férsaur il & fees s

C. Misunderstanding/ATHA®EHT
D. Source anunynﬁty!‘ﬁ“\ﬁ AT
E. Conformity/3Tg&adar

Choose the correct answer from_the

given below:/ 5ier fEg 7o

W TG R

(a) A, Band C only/&ae A, B 3t C
(b) B, C and D only/@ae B, C 3T D
(¢) C, Dand E only/&ad C, D 3 E
(d) A, Cand D only/@a& A, C D
NTA UGC NET/MJRF June 2021(28-11-2021 Shift-1)

options
I

NTA UGC NET/IRF June 2021(26-11-2021 Shift-1)
Ans. (b) : THM0 ¥ RN a1E0Y & T e e
(1) @A am & ogwE, wEiE @R 39S
gréam A wivedm 7% Wi v & w9 § aff
g an 21
(2) frmefin
(3) T YR (YatrE)
(4) a1 AHUR
(5) AT fEwEae
(6) & ofifem a1 faaadam o &
(7) fewie & fa el

Ans, (b) : SF¥ATE TV &) @ FAGE 8-
(B) fosmm (€) T
(D) @ ST (E)  HeHmed
(F) Termer: uftomit & ferg Srwam ammor & yaf &
374,

In communication, entropy refers to
) w1 fermr vy §7

(a) Predictable mwaaqc

T W (g )
(b) Unpredictable message

HYGHT 9 (FAUZHad TH)
(¢) Oratory/STEvTE agh (3TEE)
(d) Defensive specch/(Tmms o (BHRa i)
NTA UGC NET/JRF June 2021(26-11-2021 Shift-11)
Ans, (b) : T ¥ Agfeoadl & a9 [0 #i Hahfa
Far 21 78 foree i @ uiga gl o @ i
@i 78 ve= aese YA ' 1948 W faE Wy w 'y
tonfzra el oifw Fgfakem” § mEwem aw IwEm
e Ty e
37s.

Keeping quiet because of fear of punishment in
communication is an barrier.

HdE & wa @ 97 T UH
arEi
(a) Institutional HEIFTH
(b) Interactional/37=a1=4 s

377. Given bhelow are two statements : a"f e ﬁ'{l{
g #:

Statement 1 ¢ In communication, language
ambiguity takes place because of the incorrect
use of words. !

HUF-1 : WHGUT W ey Wi yreEi & e
AT & HIUT g £

Statement 11 : Informal time terms lead Lo

different interpretations.
waA-11 : aﬁpua'rﬂaa T ugi & wrer R
SATET BT £1

In light of the above statements, choose the
most appropriate answer from the options
given below

AT o AT o, e fag o et
W ¥ Tt I9T & 99T WA
(a) Both Statement [ and Statement I are
correcl/®a | 31 11 21 e 21
(b) Both statement [ and Statement [ are
incorrect/&4 1 11 41 e |

(c) Statement 1 is Enrl‘ccl but statement II is
incorrect/SH9q l'ﬂ?l' ﬁﬂ A 11 et ?

(d) Statement 1 is |ncorrcct but statement II is
correct/&% | e @, A F29 11 51 7|

NTA UGC NET/AIRF June 2021(25-11-2021 Shift-I)
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Ans, () : TUU 7 W GG VR & AW N4 &
FAUT @ €1 T F45 §F &

AT TG YA % SR fir S € 8 a8 e
f w7 21

378. According to Robbins et al, the sequence of
barriers to effective communication in an
organisation is

fa=w wet ava & oTER Rt wwew # weht
WUGOT H TaTer TEAt w1 wmE &

. Language/™HT

Emotions/wTaaTd

Selective perceplion/94HTo = HrAg0T
Information load ATAATER

Filtering/forezfiar

Choose the correct answer from the options
given below/ == faw T 'Fl'g' Xl
T AT WA

(a) A,B,D,EC (by B,C,D A E

(¢) D,AEC,B (dy E,C,D, B, A

NTA UGC NET/RF June 2021(24-11-2021 Shift-1)

mOO0s >

Ans. (d) : T U3 o & IFER f&d §m2 |y
FEG & ayerard STEdt @ wme e )

fFeefin - TgTEE - SR - IR — MEE
- W

379. Which of the following are myths about

communication?
& fawa #f Prefafta #f & 29 & foos €2
A. Good communications are born, nol made
3% TGS ST e €, 9 7 o 2
B. Stage fright is nol a communication
npprchcnsmn
i ofifd e & i 7€ 2
C. Communication skills have nothing to do
with relationships
T e o wEd @ A€ d-a A 2
0. Communication has its own barriers
wwur & e AT g §
C. Practice leads 1o the right
communication
Ty | @ & ad aned and g
Choose the correct answer from_the o

given below:/ ==t fgu 7g

W TG R

(a) A,Band C unly!éh_dﬁ A, BaftC
(b) A, Dand E only/@a@ A, D 3R €
(¢) B,Cand D onlyﬁfﬁﬁ B,C3 D
(d) C, D and T only/&ae C, D 3 L
NTA UGC NET/JRF June 2021{24-11-2021 Shift-I)

habits of

tions
I

Ans. (n) : T & 499 TG Ay sifarad g1
(A) 3 OIS FE @1 &, T A A
(B) " “fifa gumw a7 syl 1 2

(C) wovT Ftyrel &1 Hadl & &1 e 3 8 8

380. Which of the following is an example of

hysical barrier to communication?
Prifean & & i e @ i

g &7

(a) Cultural disparity/aTegfi® fom

(b) Inattention/daETH

(c) Verbalism/I=Tga

(< 1 heallh/3mgwam

NTA UGC NET/IRF June 2021(22-11-2021 Shift-1)
Ans, (d) : 3T OR, fawgo, gEa1 @ AfavEmw of
TaR & ifdw w T E)
381.

ETET Rl

Physical barriers to communication are rapidly
disnppwring but psychological obstacles
remain owing to which of the I'ulluwmg

wam wadt difire amnd st o e w W

?gﬁﬁn’r&v # | dug wdwie s
?

(A) By formal Inngungc!&-ﬁ'ﬂ'ﬁl’ﬁ'&: e ¥

(B) By visual presentation/J7a Wegfer °

(C) By use nftcclmulng}'@'@ﬁmﬂ'ﬂ' Iqam o

(D) By emational appeal/TTa@ATHER arfre o

(E) By cultural attitude/@igteen g 4

Choose the carrect answer from the options
given below :

ﬁﬁquﬂm&n‘fﬁﬁnﬁmmm

(a) (A). (D) nnd{r)nnlyfaraa (A), (D]a-ﬁt (F)
(b) (A), (B) and{C)unlyma (A), (B) 3R (C)
(c) (B). (C) and (D) only/&ad (B), (C) 37T (D)
(d) (C), (D) and (E) only/Had (C), (D) 37T ()
NTA UGC NET/ARF June 2021(21-11-2021 Shift-11)
Ans. (n) : Wtﬂﬁﬂmﬁ?ﬁmﬁﬂﬁﬁﬁﬁtﬁﬁ
Hrqafia umn, vEHmeh 3gd, Ffugha |
%Mmﬁlmﬁ T A TS
wfafa 3R s faf @ st @ e
h2w W B dem Ay & w9 § & & §1 Adm
wifa 7 30 GoE & qE S 0 6Eg @ 8
382.

Given below are two siatements @
& Ty fau o §:

Statement | : Audience noise is potent when the

messapge is E(ll‘lfl‘ﬂ\ ersial.
HUT | faarereag g1 W eitarall @

TIATEA Faet g AT )

Statement 11 : It is impossible for any
communication to convert an audience from
one viewpoint to another, )

wHYA |1 : e @1 farem-3fe o uftad= fanedt oft
Heom # ardva gaT §

In the light of the above statements, Choose the
correct answer from the options given below :

IUR T & e §, e fa Ty freedt
H ® Wad IUGTH I 1 TG WA
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{(n) Both Statement | and Statement 11 are true.
&4 (1) 3 (1) 2T e €
(b) Both Statement T and Statement 1T are false.
A (1) 3R (11) FH1 367 §
(c) Statement | is true but Statement 1l is false.
T (1) T #, AT T (1) 370979 8
(d) Statement 1 is false but Statement [T is true,
F (1) 30 &, TAFE T (1) 7§
NTA UGC NET/RF June 2021(21-11-2021 Shift-11)
Ans. (¢) : T3 faamEms @ @ sransi & fHewd s@w
T & T A D R i R fed o T
i g B ) A Fe | TR A4l Fe (1 9 R

383. Match List I with List I1

Eit-1 & wra geht-11 @@ e @it

List 17g=it-1 List 17g=ft-11

Styles that Characteristic feature

impede
communications
Yreft it Wi
u = R

{A) Placating () Doing or saying what is
irrelevant
3T AT HON 91 FeT

(D) Blaming (Il) Being overcorrect

IR0 e & s afa I

Lol
{C) Computing [(III} Fault linding and acting as
I superior

T AR i e

{D) Distracting
-9

(1V) Talking in an ingratialing
way
& WA o A e

Choose the correct answer from the options
given below:
e fau ny fameut W O Wl I @ wa i
(n) (A)=(L}, (B)=(L1), (C)=(1I1), ([I)-(1V)
(b) (A)-(I1), (B)-(1), (C)-(1V), (D)-(111)
() (A)(ITT), (B)-(IV), (C)-(1), (D)-(11)
(d) (A)-(IV), (B)-(11T), {C)-(11), (D)-(T)
NTA UGC NET/RF June 2021(21-11-2021 Shift-I)
Ans. (d) : T T T goEeR fremn 8-
Leig -1
Aftrao IEYEE F W Y FA & T

T AR FTAT
XL Tl dEm s s @ dE
TR Tald &
LRI T & S 3 I e
-1 T AR FA AT Tl

384, The least contributor to  noise in
communication system by the audience is_
A g S 11311
wHA WEAn §-

(a) Selective attention/TqATHE &=

(b) Selective perceplion/SaTaT STFATE

(c) Selective retention/9g9ATHTE U

(d) Selective intention/ =TT oS T

NTA UGC NET/IRF June 2021(21-11-2021 Shift-1)
Ans. (d) : TOE0T SO § SI6T g0 i e § gad a5
TEAnT TEAE WA ) A e (d) 9 #
385.

Identify the barricrs to communication from
the list given below:

# ¥ womm @t anmai @
T —

(A) Time and distance/Twa 37 T{ﬁ
(B) By-passed instructions/SUfam 33w
(C) Encoding of thoughts and ideas

e [ e it g wE
)] l}ccndm;_ nl’lllun;_ht'i and ideas

e T il farge-wg &
(E) Logical '.Lquulufmﬁ:—cﬁ 0
Choose the turrut answer from_the o

given below:/=r fau v foeeat 0 &
T T HIFAT
(a) (A) and (B) only/&ad (A) 3 (B)
(b) (B) and (C) only®ad (B) 31k (C)
(¢} (C) and (D) only/&ad (C) 31T (D)
(d) (D) and (E) only/&aa@ (D) 31 (I)
NTA UGC NET/JRF June 2021(20-11-2021 Shift-11)

Ans. (a) : TRTEUT 7 ATTO—

(1) T 3R gl (2) IufeFT IR

(3) TEEE GO ([EAR) (4) WA fEae

(5) 2tz M fam Asfagy

386.

tions
I

Given below are two statements: One is labeled
as Assertion A and the other is I:lbclul a's
Renson R, o wmuy faw mo

UHETT (Assertion A) & T ﬂ ﬁ'-‘rﬂﬂﬂ t a
mmﬁsm (Reason R)ﬁim'ﬂ"

Asscertion (A) the context of
communication, the perceptual  creates,
semantic-noise also called word-noise.

AR (A) : TUEW & A W raunuTeTES
wfkar nfes w@fy swfgm oo ¢ R
ynigeR-viiT (a2 -=aras) weEd gl

Renason (R) : The various meanings either
connotalive or denotative are sources of
semanlic noise. )

TAW (R) : WrETdE ar awgads = & i
a1t & B ynieEs-vi & §

In the light of the above stntements, Choose the
most appropriate answer from the options
given below:
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Ans. (c) : T (1) T & &g F99 (1) 7o &)
wrdt sftemy fafy erl & @@ & ourew @ 1geE-amg
QUi ST FR T SR T § e e

aret en dAwgi w Hdt o &df off, fE of we
# W & TE & a9 o § el w9 § S5Ed &
ferw weras g &)

Choose the correct answer from the options
given below,

aét fareew & = &

(a) A, B and C only/&aa A, B 3 C

(b) B, Cand D only/Fa® B, C 3T D

(¢) C, Eand E only/&ad C, D 3R E

395. Match List-I with List-11 (d) D, Eand F only/&a@ D, E 3R F
- - : GO A NET JRF June 2020 (29 Scpt.) Shift-
-1 -1 @ gl @i UGC NTA NET JRF June 2020 (2 hift-1
List/geit-1 List/g=r-11 Ans. (b) : 3@y i 3 @ a8 S ad
A.|Poor _listeners/| 1. [Scold others/ I W (327w wfa @ Tt € @ 3§ wfada & =@ &) T
&t sirew ESICR wiifes, TETEE dEAE SR AR F) & wEdl 8
B. [Aggressive 1. [Easily agree with the| |78l T @iy frmeq &-
listeners/ spi:akcrf - 3T T
HTEhTHSR " .
ﬁﬁa““g & @ fafEa Wi W st s
C. |Positi L1 d < st
) ||:':J:;:s; ) u‘::t:g:jﬁt;?m:n;‘m nor 397. Given below are two statements, one is labelled
emotions/ WTE=TaI as Assertion A and the other is labelled as
T T SE i ;;ﬂ Renson R. \
T # e @ wuw fan o € ween afiwme (A) o
D. [Pseudo- IV. [Fidget _compulsively/ T 7 (R) § .
intellectual AT Assertion/3TTT&RTT  (A): lluman touch in
listeners/ BgR AT Wi & £ communication emlhlcs students to hecome
' participatory/dUwu ¥ WEE T8
Choose the correct answer from the options wEart @=r §)
given below— Reason/@k  (R): In a technology driven
“rer fig Rt o & wdt 3w g classroom cnvironment, the communicative
[[l[*:: 2:] BB!:IIL(,I‘E:VIJI;FII role of a leacht"r is secondary A
(¢) A-IlI, B-1V, C-1, D-II el arAvT # AT W g
(d) A-1V, B-1, C-I1, D-III Tt el &

UGC NTA NET JRF June 2020 (29 Sept.) Shift-11

Ans, (d) :
q=hi-1 w=A-11
A. 3T ST IV. gt @S Saen
wereia & €
B. WS S I 37 & & &
C. fmme Il &t & a@ & J9 T
o §
D. oy difg® s L wiEmsii ® a@ 7 291 fammt
71 7 &)
396. Which of the following can be considered as
psychological barriers o cffective

communication?
¥ yurell Wewr & fu R
TG 3TEI gl AT Fahel £
(A) Descriptive mrsmgf.'lﬂ'ﬂ"'m Hewr
(B) Inattentiveness/2T=a0"RAT

(C) Too much reliance on the written word/
T

(D) Limited retention/dtfie wiermor
(E) Logical nrgnnizalinnlﬂlﬁ?ﬁ Tama-
(F) Flow of thought/fr=mi = warg

In Light of the above statements, choose the
correct answer from the ?tlons given below,
Tre=riteRa
W waifis Iugw I g
(a) Both A and R are true and R is the correcl
cxplanation of A/A 3R R I 7 € 3R
A T e g
(b) Both A and R are true but R is NOT the
correcl explanation of A/A AR = A E
AR R, A T T AT T )
(c) Ais true but R is false/A W & W R 7o €1
(d) A is false but R is true/A 7o ¢ W R W 21
UGC NTA NET JRF Junc 2020 (29 Sept.) Shift-1
Ans. (¢) : H9R @ 70 @ @4 el wiEar 21 s fod
Tal (FHIW W ard) T o (HEW W & ara) &)
SETgEA B @ 3 g w5 e e F g e
2| A g § adae R ar NI e e &
s fardf @ o F & fav i e e e
TEE T FGEU & 3wV d ¢ R fawee g
fradf 2T @ wriErd g &) o wuA | wd § el
FA 1] TET &1
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